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>(1+2-3*4)/5*6

[1] -0.000576
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> sqrt(2)

[1] 1.414213
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> sqrt(100) + round(100) / 1ogl0(100)
[1] 60
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00 sin cos tan sinh cosh tanh

oo asin(x) acos(x) atan(x) asinh(x) acosh(x) atanh(x)

OO0 ||sin0000 |cosO0000 | tanOO000O |sinhO0000 | coshOOOO tanh 0000
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> x
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> (x <- 1:4)

[1] 1234
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break else for function if in next repeat return while TRUE FALSE
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> setwd("c:/usr") # 000000000000 a
>getwd() # J000000000000000
[1] "c:/usxr"
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00000000000000000 solve() 000000000000000000000 2000000 solve
00000000 DOOooOoooo*so

> help(solve)

> 7solve

ooo0o00 ROODODDOOODOOOOOOOOOOOOOOOOODOOOO0DOOODOOO0O0O0O0DOODOO0O0O0O
goooooooocoooooooooo

> ?Syntax

for 00000000 [0D0O0O0OOOOOODOOOOODO ™ 0ODODODOOOOOOODOOO (>?7fr” 000)

> help("for")

0000000000000000solvel 0000000000000000000000 help.search(?0000
000”) 0000000000000 *40

> help.search("solve")
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> 1 + 2
(11 3

>1+ 2

(1] 3
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*14 QpUO00O0000000000000000 RSiteSearch(’00000”) O R-help mailing list 00 000OOOR OOOOOORDO
gooooOo0ooOoOoooooooooa
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(¢ 000ODOO0D ;0000000DO0OOO0ODOOOOODOUOOOODOOODODO

(d)

> 1+2; 3-4
[11 3
[11 -1

gooooo0oooOo0ooOoOoO0OoooO0U0bOOoOoU00ooOoOUOUOoOoO0UDOO00DODOOoOODOOUOOOoRO
goboogoooo >gbobobobooooobboboob0 +0obooooobooobooboboobobobOoDbo
goobooooog

> 1 +
+ 2
(11 3

200000 +0000C000000000O0O0 4O00CC0OD1++200000000000>000M000000
goobob0obO0obO0 40b0bO0obO0o00U0oO0O0oO00oO0D@m@™1+2000b00DbDOobOObOOOODOOOOODO
goobooooooboobobooooooogo DDDDDDDDDDD

S-PLUS O SOO0OOOOOOOOO ”0’00000000000000O00O0000OODOOO0OOOOD
OO0 +00000" Continue string: +" 0000000000000 O00O0O0O0OOOOOOOOOODOOO
0000000000000 0U0U0U0UUU ROUODUDODUDOUOUODUOoUOOOoOOOg
ROODODOOOCOUOODOOUODOOCOOUOOOOOODOUODOUODOOUODO0ODOODOOODOOUODOOD xOO
gboboboooboobobobooooooobgobo

> x <= c(1,2)

000 x0O0O0O0OO (1,2)00000000000O0ODOOO

> X

(11 1 2

000 (00000000000 DO00000O00000O00000O00DO00D00O0O0O0ODODOOO

> x <-c(1, 2) # 0000000000000

> (x <= c(1, 2)) # J000O0000O0O00oOoOooooao
[1] 1 2

> f <- function(x) y <- 2xx

> £( c(1, 2) ) # 00000000

> f <- function(x) (y <- 2%x)

> f( c(1, 2) ) # 0000000000O0O00O00000
(11 2 4

ROODOODOOODOOO0OOOOOODOO0OOOOO0ODOO0ODOODOO0ODOO0DODODODOUODOOOOOOO
solve() 0000000 0O0OOOOO0OOOOODODOOOOODOOOOOO

> example(solve)

000000000000 00000000000000000D00 example() 0000000 DOOOOOODO
goobobobobobobooooooooboooobobob0obUobOobobOobbOobooooooono
goboobooboboob

> par(ask = TRUE)
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(h) Windows 0 ROOO0OO0O0D0OO0OO0O0D0O0OO0O0OO0DOO0O0ODOO0OO0DO0O0O0ODO0O0O0ODO0OO0ODOOO0OOD OO
00]00 [00]0000000O00OD0 2170000000000 DOO0O00DOODOO0OOOODD 00O
0]00 [00000000)0000000 2.18

Jelll BE v o{uE7 a7 H??:J]L :]: :ﬂm [ P S T
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D o T
RIFATIFE- i3 EREEE TR
EnRL FERER A=A THETE
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AT bEEE REqA2E
BT Foi LRI
| R
3 -4 VIR
hx B @7
T/8
0217 DO0DOODOOO 0218 ODO0OOO0OOO

gobooooboooooooooooocoooooooooooobbo0gboobooooooooooooon
goboooooooooooon

[open coriot 2l
FrL OB | i el pat HorcE

|ybin
_

B et
0 e bk
=1
=1
|y kil
|y share

| yae

I T

R e | =l W |

FriIESTE [P ik R = el

o fikeg 18,
A e Db W)

0219 0O0OO0OO0OOOOOGCOOO

Mac OS X0 RODOOOODOO0OODOO0O0O0O000D0O000O0000D000000000000000
00000 [0000)00 [00]0000000000 220000000000000000000000000
0000 [0000]00 [00000]0000000 2.210
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"& rREEREN s® o1-vor 7-224-3

"& rREEREN s® o1-vor 7-224-3
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0220 0o0O0O0OO 0221 000O0OO

goboooooboooobooooooooobooooooooooboooooooooonn

Wa¥ala me
(<% (W @] (e ]

(5 terwors # Los-11

® Bos-11
ﬁwm T dataframe £
K a | |7 dataframent
ez £ Dt el e Ent
I 7oz | [ mmas
L EE-mEmuin]
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Cavreun) my

0222 000000000000

000000000 "source.txt” 0000000000 DODOOOOOO0OOOOOOOOOOODOODOOOOO
oooooogo

> source("C:/source.txt")

000000000000000000000000000000000000000000000000000
00000000000000000000000000 datatxt000000000000000000000
0000000 2200000000M000000 ROODOODOOO0O0O000000000000O0O0Windows
000 C:¥Program Files¥R¥rw2010pat 0 Mac OS X 000 /Users/0 000000 00000050

*15 000000000000 "source.txt” 000 source("source.txt”) 0000000000 00000RO0O0OOOOOD .Rprofile
0 source("source.txt”) 0000000000000 0O0O0ODDO0OO0ODOOOOD RODDODDODDDDOODDOOD save() 000 Rdata 00O
0000000000000000D00000 attach() 000000000000O0DO0ODOOO

> myfunc <- function(x) x"2

> save(myfunc, file="source.Rdata")
. oooo ...

> attach("source.Rdata")
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22 00DDOO0ODDOOODOOO

ROODOODOODOO0O0OOOOO0ODOOOOOODOO0OOO0O0DODOO0OOO000ODoOo0oooOoooDooo
000000000000 library() DO0D0O0OD0OO00OO0OOOOOOOOO

> library()

goboobooboobboooboon

googoo ad

base ROODOOODOO

boot d000O0O0O0O0OoOoO0Oo ROS-PusOOOOOOOOO

class Classification 00000000000

cluster gobooboobooooboo

foreign ROOODODOO (SASO0)000O000O0DO0O0OOOOOOOOOODODOOODOO
grid ooboobooboobobooobgoo

KernSmooth | 000000000000 O0OOOOOOOOO

lattice oobooboobooobobooboon

MASS 0 Modern Applied Statistics with SO0 000000000000 O0O0OOOOO
methods ROODOOODOOO0ODOOOOODOOOODOOO,000000D0000D0O0000O0O00O0
mgcv 00000o0oOoooooo (GCV,GAM)oDOoooo

nlme gobooboobtboooboobuoobbuobobuooboo

nnet gobooboobtboobobooboobbooboboobUoobbooboboobooo
rpart 0000000000000 D00O0D0OOregression trees0 000000000
spatial odoboobooboobobooboo

splines oooooooooooo

stats ROOOOODOOO

stats4 Sa0o0ooooon

survival ooboobooboobobooobooboo

teltk Tcl/TkOODODODOODOODODOODOOO

tools dobooboobooooboobooon

utils ROOODOODODOOOOOOO

221 0ODOODODOODOO

00000000000 s00000000000000000000200,06000M0O00O000O00O0O0O00O
goboooooboboobobooooooboooobooooooooooooooooooon

> library(help="<000000O>")

000000000000000000000 (000 base) 0000000000000 0O0DOOOOOOOO
0000000000000 00000000 lbrary(DODOOD)000O0O0ODOOCODO

0100000000000 000000o0oog

> search()
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02000000 rglODOOOO

> library(rgl)

03l000000oUUU0 rgloDooOO

example (rgl.surface)

n <- 100

rgl.bg(color=c("white", "black"))

rgl.spheres(rnorm(n), rnorm(n), rnorm(n), radius=0.2, color=rainbow(10))

>
>
>
> rgl.clear()
>
>
>

rgl.bbox(color="#333377")

0223 000000 volcano

00000000000 wglO0OO0OO00O0ODO0OO00O

0224 000000

ERN ERN ERN ug
rgl.open() ooooooo rgl.set() 0ooooooo
rgl.cur() ooooooooo | rglclose() 0ooooooo
rgl.clear() oooo rgl.pop() 0oooooooo
rgl.quit() ooooooo rgl.viewpoint() | 000D O0O
rgl.light() oooooo rgl.bg() oooooo
rgl.points() oooooo rgl.sprites() 0oooooooon
rgl.lines() oooooo rgltriangles() | 0000000
rgl.quads() 0o0o0ooooon rgl.texts() ooooooo
rgl.surface() ooooooo rgl.spheres() oooooo
rgl.snapshot() | 0000 rgl.bbox() oooooo

0400000000000 rglODDOOODOOO

> library(help="rgl")
> help(package="rgl")
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05000000 rglO unload DOOO

> detach("package:rgl")

CRANDODUOOODODOODODO0ODOD0OODO0D0ODO0D0D0ODO0O00O0D0O0000O00 update.packages() OO
oooood

D000 WindowsO ROOOOOOOOOODOOOOOOOOOOOOROOOOOODODODODO rgl0000O0O
0000000000000 00000rgl 0 OO0OOOOO0DODOOOO0OROOOOOOOODOODOOOO
000 rgl0D OOOOOODOOOOODOOOO

ooono oooboboooooooooboooooooooooobooooooooobooooonod

> help.search("solve") # solve 00D OODOOODODODOODODOO

> help(package="MASS") # 00000 °MASS’ OOOOOOOOO

> base::log # base JOOO0O0O000O log OOOOOO

> base::"+" # base JOOOOOOOOO "+ OO0OOODO

> grid::grid.newpage() # grid 00000000000 000O00O0O00O0O00
> data() # J0Ooooboobooboooobdg

> data(package = "base") # 00000 vase DOOO0OOOOOOOOOOOO

> data(USArrests, "VADeaths") # OO OO OO °USArrests’ [ ’VADeaths’ OO OO
> help(USArrests) # D00O0O0O0 °USArrests’ ODOOOOO0O

222 0000DOODOODOODOOO

OO00R-Project 0 CRANODOODOOOODOOOOODOOOOODOOOOOODOOOOODOOOOODOOOOO
0000 RjpWiki0O CRANODODOOODODOODODO0DO00D0O000000D0CRANODODODODOODODOODODOOoooood
0000000 CRANO URLOOO CRAN.packages() 00000 O0DODO install.packages() 00000000
0000000000000 DOODD xtableDOODODODOOOOOOO

> options(CRAN="http://cran.r-project.org")
> install.packages("xtable")

0000000000000 00000D0O00D00000D install.packages() 00000000000 O0OODO
O000C0O0O0O0O0O0O0O0O0D0O0OO0OD0ODODO xtable.1.2-3zip00000O0O0OOOOOO

> install.packages("c:/xtable_1.2-3.zip", CRAN = NULL)

Windows 0 RO OO

Windows 0 ROOODOGUIODODODOOODOO0OO0OO00O0D00DO0OOO0O0OO000000D0DOO00O0000000O000
00000000000 [00000]00 [D00000000000]00000*0000CRANDOOOODOO
oooooo*ooo0o00000o0000o0ooooooooo

*16 00 installed.packages() 000000
*17 00 CRAN.packages() 000000
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030

Juoobdoootdood

31 ODO0O0OO

ROODODOODODOOOOODOO0OO0DOOOOOODOO0OOOOO0O0O0OO0O00OD00oooooooooooon

3.1.1 O — NULL

000000000000 00000ROO0 NULLOOOOOODOODOOODOOOOONULLO OO0O0OOO0O
0000000000000 000O000000000000 names 0000000000000 O0OODOOOOfor
gobooooobooboooooocoboooooooboooooooooboooon

> x <- cQ)
NULL

312 0D0O0D0O0O0O0ODOD0 - NAODOO — NaNODODOO — Inf

000 (Not Available) 0 NA OO0 (Not a Number) O NaN OO OOOD

4 I
> NA # 000000000
[1] NA
> 0/0 # J00000000000
[1] NaN
> 1/0 # JO0O0O0O0OOO0 NaN O0O0O0O Inf OOOOOOOO
[1] Inf
/

3.1.3 OO — numeric

O0001el0 O O 1x 107(10) = 10000000000 0 000000 OOODO0 000 pi00O0DOOOODO

> 123

[1] 123

> 1lel0 # 10°(10) OOO
[1] 1e+10
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3.1.4 000 — complex

10 1+40i000000000 144000000 1+41i000000001+4 0000 100000000000
OOooooooo*g

> 1 + 1i
[1] 1+1i
> 1 + 0i #1 00000
[1] 1+0i

3.1.5 OO0 — character

100000000007 0000000000000*0 000000000000000000000000
0000000000000 00OU00OUUODUO ¥Uuooooo

> "abc"

[1] "abc"

> e # 0000000 "0D20000000000000000

[1] o # 000 "0 " 0000000 (@Oopooooooooooo)

316 OO0 — logical

0000 TRUE (0)0 FALSE (0)0000000000O0DOOO TOFOODODOODOOOOOO*0OTRUE O
FALSE 0000000000 oog

> T

[1] TRUE
> TRUE
(1] TRUE

*1 0000000000000 00000000000000000000-20 —240i00000000000

> log(-2)

[1] NaN

oooooooo

O0DO00 NaN O00D0O000 in: log(x)
> log(-2+01i)

[1] 0.6931472+3.141593i

2000000000000 ¥000O0
* TOFOOODOOO TRUED FALSEOOOOOOOOOOOOO0O0O0OOOTO FO TRUED FALSEOOOOOOOOOOODN
goboooOoooOoOoooOoom
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32 000OO0O0O0OO0OO

gooooboobodobooobooboobboobooboobpbooboobboobboobUo0bLboOoD
obobooooobooboboboooooogoo

321 000000000000 print()

gbobooboobooboobboo print()[l[ll]*4[|

> x <- "one"

> print(x) # " QgooO0o0
[1] "one"

> print(x, quote=F) # "" JOOOO
[1] one

322 000000000 cat()

000000000000000 cat() DOO0ODOD print() 000000000 DO0OOOOOOOOOO ” OO
000000cat() 0000000000000 ™ 00000000000 ¥\ 0¥ 0¥ 00000000
00 ¥000000O0000O0O0000000000*0000 ¥0000300800000000000000
gbobooooooobgoboobooo

> cat("cd C:\\Document and Settings\\usr\\ \n") # O00O0OOOOOCOOOCOCCOCOO

cd C:\Document and Settings\usr

cat() D00DO00OO0ODOUOOOOOUOODOOUOODOODODOUOOOOD¥OO0O0O0D0ODOOOOO

323 0000000000000 0O0O0Osprintf()

gobooboobooobooboooo sprintf()D[ID*7|:|

’ gd ‘ od

sprintf(”%5.1, 0 0O) O00COCemm O 0000300000 1000000100
oobooboobuooboboooboobooboboobooobg
goooooooooobooon

sprintf(” %, 0 0O) f00000000000000000O0oOoOog 60

sprintf(” %—10f", 0 O) 00000 0000000000000 0% 0O fooo +00
gobooboobooooboon

sprintf(” %3d”, as.integer(0 0 )) 0000 3000000000000 0000DOO0oOOobOobOoOoO
000 %3i00000

sprintf(” %e”, 0 0O) Oo0o0ooooooooooooooooon ”g”0o ’G” o000
good

sprintf(” %s”, as.character(0 O )) 0000000000000 00 as.character() 000000

* 00 page() DOODOOOODOOOODDOODDOODDOOOOOO0O0O0O0OOOOOOOOOOOOOOOOOOOOOOOOO
* 000000000000 0000000000000

* 0Oo0o00 OSOOD00¥0O0O00O0 \OOOODOO0O000000000000 ¥00000000000o00ooooo
*7DDDDDDDDDDDDDDformatC()DDDDDD
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O00o0oOooOo ”%5.0 0000000000000 D 5000000000 UOO0ODODODODODOODODOD
gobooooooboooboooooon

> sprintf("%5.0f", 1234.5678)
[1] " 1235"

324 00000000 0OO0O0OO0OOOOOOOOStr()

0000000000000 000O000000O00O0UDD str() D00D0OO0ODODO0OOODODOOOOODODOO
summary() 00000

> str(x)
chr "12345"
> summary (x)
Length Class Mode

1 character character

325 00000000 OOO0OOOOcomment()

000000000000000000000000000 comment() 0000000000000 0O0OOOO
000000000000 0000000000000 comment() 0 str() 0000

> x <- "Washi"

> comment (x) <- "my handle name"
> x

[1] "Washi"

> comment (x)

[1] "my handle name"

326 00000000000 sink()

0000000000000 000D0 ROODODODODOOOOOODOOOD sink(>0000D0OO0”)00000OO
00000000 dump()ddget()O dput()O capture.output() 000 O

> sink("output.txt") # 0000000 OOODO output.txt OOOODO

gooooooobooooooooooboooooooooooon

> sink()
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33 00000

00 options() 00 0000000000000 O0O0Ooptions() 00000000000000000*0
] 0o \ oo

continue 0000000000000000000 “+ ”

device 000000000000 (x11°, 'windows’, 'gtk’) 000000

digits 0000000000000000000000000 7

expressions 000000000000000000000000 500

prompt 0000000000000000000 ¢ 7 M

scipen 0000000000000000000000000 00

show.error.messages 0000000000000 U00uooooooooodg TRUEMFALSEOOO

ooooooooooooobooon

timeout gooooooooooooOoOooOoooOoOoDOoODobOOoBEO 600 Mm@

warn ooooooooOoooooooOooooooO0oOoO0 o@mooooooooooooon

gboboloboboboobogoboooobooooooo20000b0Db0obOobOobo
gboooooogo

width 0000000000 DbO0DbOoOoOoooog 80 m
CRAN CRANO URLOOODODOOOOOO hitp : //eran.r — project.org
0010 0000000 700000digits(00)000000000DO00O0OO0O0OOOODOOD

> options(digits=10) # 000001000000

0020 0OOO0O100000 0DO0OOOOOOO10000000000 leh000000C0CO0OO0OOOOscipend

ooooooooOooooooOooOooOoOooOoO0oooOoOoOob0O00oooOoOob0O00oOooooOocOoOooo obOObOnO
gooooooooooooo

> options(scipen=0); print(leb)
[1] 1e+05
> options(scipen=1); print(leb)
[1] 100000

0 000000000000 000000o000o0o0Do000o00o0o0 widthOODODODOOOOOO
gogd

> x <- runif(6)

> x

[1] 0.49152403 0.65764434 0.02852227 0.34614703 0.37701605 0.42428670
> options(width=50)

> x

[1] 0.49152403 0.65764434 0.02852227 0.34614703

[5] 0.37701605 0.42428670

¥ 00000000000000000000 help(options) 000000000000
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40

oottt

ROOOOOOOOOO0O0O0O0O0O0O000000000000000000000000O0O0OOOODOODODOOD
gobooooobooooooocoboboboooooocooobooooobooooooooooooooooooooon
ooo000o0o00oooo0O00000D ROODOOOOOOOOOOOOOOOOOOOOODODOOOOOOOOO
oooooooboobooooooooobooooboooooooooobooooooooooooooboOoooon

>1+ 2
(1] 3

1+200000 30000000000000000000 [1)0000000000000000 1x1000
00 (1)01x100000 (2)00000000000000 1x100000 (3) 0000000000001
00000000000000000000000

41 0O0ODOOOOO

0000000000000000 ¢()0oo0*o

> c(1.0, 2.0, 3.0, 4.0, 5.0) # 00 5 0000000000
[1] 12345

000000000000000 < 000000000O0c¢() 00000000000 00ooO0DODoDoDOoo
oob0 cOOobobObocOo0obObocOoooobcooobooobooooooooobooOoooo0oa

> ( ¢ <- c(1.0, 2.0, 3.0, 4.0, 5.0) ) # c0O0OODOOODODOOOOODOOOCOO
[1] 12345

000000000000 00000O00O00000O0O00O0O0U0OD length()OOODOO

> length(x) # 000 5 00000000000000
(11 5

00 ¢)00000000D0O0O0OD0ODO0OOOODOOOOOOODOOODOOOOOOODOD

> 1:5 #1 00 500 10000000000000
[1] 1 2 3 4 5
> 3:-3 #300 -300 1 0000000000000

[1] 3210 -1 -2 -3

*I RODODODODODOOOOOODOOOO
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> rep(1:3, length=8) # 00 (1 23) 000 8000000O0DOO

[1] 12312312

> seq(l, 10, length=5) #1 00 100000000000 500000000
[1] 1.00 3.25 5.50 7.75 10.00

> seq(along=c(2,8,5)) # 1:length(c(2,8,5)) O OO

[1] 123

cobobooooooooooboooboooooooOooon

| 0O | 0O

a:b al0b(a<b)000000 10D00000000Oa>bO00O0O0O0O -1
ogoooooood

seq(a, b, length =n) | a,b 00 n 000000000000

seq(a, b, by = ¢) ald b0O0O cO0O0O0OO00O0O0OOOOO

Sequence(c(3,2)) godoooboooooooooooooooo (12312)D

rep(a:b, times = ¢) alOd bOD0 1000000000 cO0O0OO0cODOOODOOO

rep(a:b, length = ¢) alOd bOD0 1000000000000 cO0O0OO0ODDOOODOOOO
unique(x) 0000 xOOoooboooooooooooooogd

numeric(n) 00On0O000O0O0O0OOOOOO

42 0O0O0OO0OOO0OOOO

00000000000000 (00000000000000)0000000000000000000000
00000000 +(00)0—(0D)D0 +(0)0 /(D)0 %/% (000)0%% (00)0" (000)00000

>c(1, 2, 3) + c(4, 5, 6) # c(1+4, 2+5, 3+6)
[11 579

> c(1.0, 2.0) * c(3.0, 4.0) # c(1%3, 2*4)

[1] 3 8

gooboobooboobooobooboobboobooboobbooboobboobboobUooboon
gboboooooobgoboboooobooogoobom

> c(6.0, 5.0, 4.0, 3.0) - c(2.0, 1.0) # c(6-2, 5-1, 4-2, 3-1) OO0
[1] 4422

> c(1.0, 2.0, 3.0, 4.0, 5.0) - 1 # 0J0O00o00o0 1000

[1] 01234

>1/ 2:5 # J0oooboood

[1] 0.5000000 0.3333333 0.2500000 0.2000000

goobooboooobnb <O==0>000000000000000000O0C000O000O00O000O00O0000
ooboooooboocoooooooobooooooooobooooboo0ooooOoooooboooooooooooOoon

> c(1, 20, 300, 4, 50) == c(1, 2, 3, 4, 5) #1==1, 20 == 2, 30 ==

[1] TRUE FALSE FALSE TRUE FALSE

> c(1, 20, 300, 4, 50) > 60 #1 > 60, 20 > 60, 300 > 60 ...
[1] FALSE FALSE TRUE FALSE FALSE
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43 0000O0O0OOO

80000000000 0O0obO0b0obOo0ooo0ooOOoD0obOobOoooooOOoDOobODOobOoboOooo

> sqrt(1:5)
[1] 1.000000 1.414214 1.732051 2.000000 2.236068

gobobooooooboocooooooooOobocOoOoOoOoOoOoOoOCcO0OobOOoOoOoOoOoCcOoObOOoOoOoOoOOoOOoDOoOn
000000000000 (sqrt() O cos() DO0)00DO0DOD0O0DOODOODOODDOOODOODOODOOODOOOOOO
000000000000 NAOOODOOOD NADOOOOODDOOOOOOOoOOoOoooOoooo

00 sum() mean() var() median() cor() max() min()
ug ggd ug good ggno gooo goo ooo
00 || prod() cumsum() sd() sort() rev() pmax() pmin()
oo oo ood gooo googoo oboboo (ooooo goooo
00 | range() match() diff() rank() order()

gg gg goboobog (booo gobooooobgon gbobooboobobooo

00000000000000000000*0

> x <= 1:5

> rev(x) #x 000000000

[11 54321

> y <- cumsum(x) #y 0O xO00000OO

> mean(y) 4y 0000000

(11 7

> mean(y, 0.5) # yooooooooobobooo

(11 6 # 100%0.5%=50% 000000 (trimmed mean)

ooooooooboocooboocooboooono

>y <-c(0, 1, 3, 6, 10);

> sort(y) #y 000O0D

[1] 0 1 3 610

> order (y) #y 000000000000 O0O0
[11 12345

> rank(y) #y 0000000000O0O0O00

[1] 12345
> z <- ¢(100, 20, 4, 2, 1)

> pmax(x, y, z) #x,y,z2000000000000000000000
[1] 100 20 4 6 10
> pmin(x, y, z) #x,y,z2000000000000000000000

[1] 01321

*2 00 camsum() 0000000000000 O0OOOOO00OO0OOO0OO0OO0OOOOOOOOOOOOCOOOOOOOO cumsum() ,
cumprod(), cummax(), cummin() 000000000
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44 0O0O0OO0O0OOOOOOOO

gooooboobuoobooobuooboobboobooboobboobooboobo

’ googd ‘ og
union(x, y) oooo
intersect(x, y) oooo
setdiff(x, y) oooo
setequal(x, y) O0OoooOooooooo
is.element(x, y) xO00D00O0000 yOOOOOoOOoOooOx%in%y 000

oooooooood

>x <-1:5; y<-1:4

> intersect(x, y) # 000

[1] 1234

> setequal(x, y) # Dooooogoood

[1] FALSE

> is.element(x, y) # x 00000000 yOoooooooo

[1] TRUE TRUE TRUE TRUE FALSE

45 0O0O00O0OO0OO0OOOOO0

goboboboooooooobobgoooooobooobgooboo 1,2, J0b00DO0OOCOOO0OOODODODOO x
gboboooobooboboboooooobooboboo

| 0ooo 0o

x[K] k000000000000000000 0000000000 0000
00000000000000000

k] < k000000 a0000

meDDDDD] 00000000000000000

x0000000] |00000000000000000

x[0000000] | TRUEOOOOOOCOCOOOOOOOOO

x000] 000000000000000

x[0000000] |000000000O0O0CO0O0000Onames 00000000000

O0o00ooooooo*o

>x <-c(1, 2, 3, 4, 5)

> x[3] #3 0000000000
(11 3

> x[5] <- 0 # 5000000 o0ODOOODO
> x #x Jooogog

[1] 12340

*3 Mathematica 0 Maple 000 0000000000000000000000000000 ROOOODOOOOO
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42

00000000000000*0

> x[2:5]

[11 2345

> x[c(-1,-3)]

[1] 2 4 5

> x[30 < x]

[1] 40 50

> x[10 < x & x < 40]
[1] 20 30

[1] 2 3

>x <-c(1, 2, 3, 4, 5)

#2000 50000000000

#1000 3000000000000

# 30 UO0DOooboboOobobooobg

#2 00000 &0 | OOO

> (1:length(x)) [10 < x & x < 40] # J000000OO0O0O0O0ObcOoooon

00 which() 0000000000000 000000O0D0D000O0O0OOOO0O0O0OOOOO0*0O

> x <= 1:10

> x[num]

(1] 5

> num <- which( abs(x-5.2) == min(abs(x-5.2)) ) # 5.2 0000000000000O00O

# 00OO0O0DOOo00

46 OD0O0OODOOOOOODOOOOO

000000000000 000000000 replace() 000000D0OO0OOODOO

>x <-c(1, 2, 3, 4, 5

[1] 10305

[1] 1 NA 3 NA 5

#x <= 1:50000

> ( y <- replace(x, c(2,4), c(0,0)) ) #x 0 2, 4000000 oO0OOOOOO

> ( z <- replace(x, c(2,4), NA) ) # 000 NAOOOOOO

> replace(z, which(is.na(z)), 10) #z 0 NADO 10 00OO0COO
[1] 110 3 410 6 7 10 9

2000000000000000000 ¢()0000D20000000000000O00O0O0O append() 0O

00000000000 append() 000000000000 0OODOOOOODOOOOODOOOOODOOOOODOO

>x <-c(1, 2, 3); y<-c(4, 5, 6); z<-c(7, 8,9

> c(x, y, 2)

[1] 123456789
> ( w <- append(x, z) )
[1] 123789

> append(w, y, after=3)
[1] 123456789

# c(x, z) OOOO

#wl 300000000 yOOoo

* &0 |0==0000000 700000000000000[0 |00000000O0OCOOOOOOODOOOOO0O0000O0OOOO0OO
0oo0ooooOooooooO0oUOooDO0o0O0o0OoO0O0OUO0OLO0OD0 NAOOOOOUODODOOOOOOODOOOODODOODOOOO

ooooooo

*» 0000000000 00000000000000 which.max(), which.min() 000000000
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47 O0O0O0O0O0O0O

gboobooboobooobooboobbooba

471 O0DOOODOOO

000000000000000000000000000*000000000000000000000D0000
ooooooobooooooocobooooooboooon

> c(1+1i, 2+3i) # U0 141 0D0O0O0O0O0O 1+11 DOO0OO
[1] 1+1i 2+3i # 1+41i 0000 1 000000000
> complex(re=1:3, im=4:6) #re OO0 Oim O00OO

[1] 1+4i 2+5i 3+6i
> complex(mod=c(1,2), arg=c(0, pi)) # modDODODDargh OO
[1] 1+0.000000e+00i -2+2.449213e-161

gooboobooboobooobooboobboobooboobbooboobboobboobUooboon
googd

00 || Re(z) | Im(z) | Mod(z) | abs(z) | Arg(z) Conj(z)
aagd oad aagd oood ogod og ogoood

472 O00O0O0O0OOO

0000000000000 000000UD00U0O00UD0U00O00TRUEDFALSEOOOOOOOTOFOODOOOO
0000000000000 000D0000000& (0D0OD)0 |(CoD)O0!'(0D0)Oxer (DODODOOD)OOODO
gooooooooOoOooooOoOoooOo2b000000OO000DO0O0DOOOOO0ODO0OODOOOODOOOO

> ¢(T, F, T) | c(TRUE, FALSE, FALSE)

[1] TRUE FALSE TRUE

> 1c(T, F, T)

[1] FALSE TRUE FALSE

> xor( c(TRUE, FALSE, TRUE), c(TRUE, FALSE, FALSE) )
[1] FALSE FALSE TRUE

gooboooooboobooooooooooOooooOoooon

] 0o \ 0o
any() | 000000000000000 TRUEDOOOOOOOD TRUEOOOO
al) |00DD000000O0O000D000 TRUEOOD TRUEOOOO

> x <- seq(0, 1, 0.2)

> any(x > 0.8) #x U00OO 1000 o.80bO0ObOODnD
[1] TRUE

> all(x < 0.8) #x 000000 0.8 000000

[1] FALSE

* 0DODO00000 1000000000000000000000000
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473 0O0OODOOOO

gooooooobocOooooooooocOoooooa

> c("HOKKAIDO", "SENDAI", "TOKYO", "NAGOYA", "OSAKA", "HAKATA")
[1] "HOKKAIDO" "SENDAI" "TOKYO" "NAGOYA" "OSAKA" "HAKATA"

O0000000000ASCIIO000ooooo00oooooo0oooooooo0ooooooooooooo
gbobooooooog

> "TOKYO" > "OSAKA"
(1] TRUE
> "HAKATA" > "DSAKA"
[1] FALSE

474 0O0O0O0O0OO0OOODOODOOODOODODOO

00 factor() DO D0OO0DO0O0OO0D0O0OD0O0ODO0OO0O0O0O0DO0D0O0D0O0O0O0OOOOODODOD levels() DODO
000000000000 000000000 str() 00000000000 DO0OO0OOODOOOOOOO

> x <- rep(c("L", "M", "H"), 9)
> ( fc <- factor(x) ) # 0000000040

[T LMHLMHLMHLMHLMHLMHLMHLMHLMH
Levels: HL M

> levels(fc)

# Joooooooobooobooo e, "™, "HY DOODOO...O
[1] IIHII IILII IIMII

0000000000000 000000000000000000000O0000O0000000000 levels O
ooooooooood

> ( fc <- factor(x, levels=c("L", "M", "H")) )

[fT] LMHLMHLMHLMHLMHLMHLMHLMHLMH
Levels: LM H

00 factor() 000 D0O0O0D0OOD0O0DO0OOOODOD ordered() 000DODO0OO0DOOOOODOOOOOD

> fc <- ordered(x)

> str(fc) # J000000OC0c000ooooooocOoooOobocOooooooo

Ord.factor w/ 3 levels "H"<"L"<"M": 2312312312 ...

00 ¢g(000000,00000,00000000)000000000000000O0D0OODODOOOOOO

> gl(2, 10, 20)
[1111111111112222222222

Levels: 1 2

> g1(2, 8, label = c("Control", "Treat"))

[1] Control Control Control Control Control Control Control Control

[9] Treat Treat Treat Treat Treat Treat Treat Treat

Levels: Control Treat




040 0000000 45

48 O00O0OOOOOO

481 O00OODOOOOODOO

000000000000000000000000 paste() 000000000000 00D0O000O000O000O
00o00oooooo*o

> paste("May I", "help you ?")

[1] "May I help you 7"

> paste(month.abb, 1:12, c("st", "nd", "rd", rep("th",9)) )

[1] "Jan 1 st" "Feb 2 nd" "Mar 3 rd" "Apr 4 th" "May 5 th" "Jun 6 th"
[7] "Jul 7 th" "Aug 8 th" "Sep 9 th" "Oct 10 th" "Nov 11 th" "Dec 12 th"

2000000 1000000000000 0OD0O0OOO sep0000O (DODO ”™ OOODOODODOODOODO
00)0000000000000000000000000D000000000 collapse DO0D0ODOODO (O)0ODO

0000000sep 000000 O 7 0000000

> paste("/usr", "local", "bin", sep = "/") # /000000000
[1] "/usr/local/bin"

> ( x <- paste(1:4) )

[1] "1 m2m n3n vg

> paste(x, collapse="abc")

[1] "labc2abc3abcd"

> paste(x, collapse="")

[1] "1234"

482 O00O0ODOOOOODOO

000000000000000 substring() 0000000000000 OO0OOO

> substring("abcdefg", 2, 5) # substring(O0O0 , OO0OOOOOO, OOOOQOOOO)
[1] "bcde"

483 00O0O0O ROOOOODOO

00 eval(parse(text="0007)) 000000000 D0O0O eval.parent(parse(text="0007)) 0000 OO
god

> a <- numeric(b5); x <- 1:5

> for(i in x) eval(parse(text=paste("a[",i,"] <- 10", sep="") ))
> a

[1] 10 10 10 10 10

* ROOODDOOOODOOOOO0O LETTERS (000000000 0O0O) Oletters (00000000000 ) Omonth.abb (00O0ODO
00) Dmonthmame (0OOO0) Opi (000)0 500000
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cooboooooooOoooOobcOoOoboOoOoooon

oo charmatch() chartr() grep(), match() gsub(), sub()
oo gbooooooooobo gooon oboooooo oo
oo nchar() pmatch() toupper() tolower()
g ooo(oooo) gogooooon gobooogo goboogao
oo strsplit() strwrap() substr()

oo 000o0o00o0O0oO0o00O0 |0D00 (0D)000 |Dooooooooo

4.9 NULLONAONaNO InfO 00
4.9.1 NULLONAONaNOInfOOOO0O0O0O000O

NULL (00OD)ONA (000)ONaN (00) OInf (000)0000000000000000000 NAD
NANODOOOODOO0OD0DO00000000 NaNOOODOOOODOOOODOOO0O0O NaNOOOODOOOOOO
000 ==000000000000

> x <- c(1.0, NA, 3.0, 4.0) #NAOOOOOOOOO...

> x == NA # NA OODOOODOOOO NAODO
[1] NA NA NA

000 400000000000000D0D000000O0O0O0O00O0OO0ODOO0O0 NAOODOOOOOOOO
isnma() 0000 (DOUDOO0 ==000000000O00O0)000O0O0 NaNOOOODODO TRUEOQOODOOOO
00000 NaNOOO (NADODOOODOD)DOOODODDOO isman() 00000000000DOODO

00 | is.null() | is.na() | is.nan() | is.finite() | is.infinite() | complete.cases()

guo NULL NA NaN gooooD (ooboo goooo

> is.na(NA)

[1] TRUE

> is.nan(NA)

[1] FALSE

> x <- c(1, NA, 3, 4)
> is.na(x)

[1] FALSE TRUE FALSE FALSE

492 0000O0OO0OOO NAODODOODOO

000 NAOOOODOOOODOOOOUOOOUOOOUOOU0O0O0O0O0oU0 NAOUOOODOOODOOOoOOoOoooooo
oooooooboooooog

> a <-c(1, 2, NA, 4, 5, NA)

> a[l!is.na(a)l #a OO NADODOODOO
[1] 1 245

> a <- ifelse(is.na(a), 0, a) # NAO oODOOOOD
> a

[1]1 120450
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NAOOOOOOOOOOOONAOOOOOOODOOOOOONAOOOOOOOOOOODOOODOOOOOOO
ooooooooocoooooono

> x <- c(1, 2, NA, -4, 5, -6, 7, NA, 9, 10)

>y <- x[!is.na(x)] # NA OO0 xO0O0O0O0O yOOoOO
>y

[1]12-45-679 10

goobooboobooboboobooboobbooboobboobooobo

> x <- c(1, 2, NA, -4, 5, -6, 7, NA, 9, 10)

>y <= x[(!is.na(x)) & (x > 0)] # NA DOOOODO x0000
>y #y 00O

(111 2 5 7 910

493 NULLOOOODO

NULL OO0O0O0O0ooooo0o00000ooooooooooo0oooooooooooooooooooooo
OONULLOOODOO NAOOOOODOUOOODOODONAOOODODOOOODODOUODOODOONULLOOOOOOOO
oboooooooooboooooobooooogoo

> length(NULL) # 000 "NULL" OOO

[11 0 # 000 oLoOoboboOOOD

>a<-1:3

> names (a) # names DO00O0O0OOOOODODO NULL OOO
NULL

0000o00O000oo0o0o0oo0 NULLOOOOoO00ooo00oo0oooooooo

> names(a) <- c("a", "b", "c")
> a

abec

123

> names(a) <- NULL

> a

[1] 123

00000000000000000000000000 NULLOOOODOOODOO*0

> x <- NULL # 00 o00OO0OO xOOO
> for (i in 1:10) x <- append(x, i*i) # x O i"2 00000
> X

[1] 1 4 9 16 25 36 49 64 81 100

¥ 00 x <—c¢() 0 x < numeric(0) 00000000000 as.characterd as.numeric 000000000000 NULLOOOOD
gooooOoO0oO0o0OoOo0oO0OO00C0O0O0b0 o0oOOOOOOOO



Oos50 00 48

50

HRN

51 ODOO0OO

ROOODOOOOOOOOOOOO*O

(1) 00000D000000000000000000000000
(2) 00 matrix(0000,00,00)00000000000000

1 3 5
DDDDDDDDD(L13¢La®DDDDDDDD( .y )DDDDDD
> matrix(1:6, nrow=2, ncol=3) # ntow J00O0Oncol O000OOOOOO
[,11 [,2]1 [,3] # matrix(1:6, 2, 3) DO0O0O0O0O0OO

[1,] 1 3 5
[2,] 2 4 6

000000000000 0000000000000 (DO0000)0O00D0O0D0DObO0O0ODO0OO000OD (DOD
00)000000000 byrow=TOODOOOO

> matrix(1:6, nrow=2, ncol=3, byrow=T) # matrix(1:6, 2, 3, byrow=T) 0O0O
[,11 [,2]1 [,3]

[1,] 1 2 3

[2,] 4 5 6

52 O000OO0OO0O0O0OOOO

000o00D0D0D0000000000D0DOO00 1,2,--- 0000000001,2,---0000000000%*0
000000 x000D000O0O0000O0O000DODO0O00D0O0O00ODO0U0O0D[D JOD0D00DOO0O0OODDO
uooooooooooooocoooooooonn

> ( x <- matrix(1:6, nrow=2, ncol=3) )
[,11 [,2]1 [,3]

[1,] 1 3 5

[2,] 2 4 6

*I ROODODOD0DO0O0O0000 20000000000000000000000000000000000O00O000O0COROO00 2
00000000000000000000000000D00D0D0O0ODOD0O0OD0O0ODDOD00000000000000000 array() 0O
oooooooooooooo

*2 xkl]0OOOODOOoOooOoOoooO 100000000 1,2,--- 000 200000000 ---00000D00DODODDODO
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> x[1, 2]

[1] 3

> x[-1, <(T,F,T)] # 1 0000O0O0ODO2 00 1,3 00000
[1] 2 6

ooooooooboooo

| oooo 00 | oooo | 00
x[2, | 200000000 rowSums() oooo
x[,2] 20000000 colSums() oooo
x[1, 2] 102000000 00000 rowMeans() oooo
x[c(1,2), 2] 1,20 200000000000 colMeans() oooo
x[e(1,2), c(1,3)] 1,2000 1,30000000
x[,—c(1, 3)] 1,300000000000000
x[, ¢(T,F,T)] 1,30000000

[0 000000000000 00O0O0O0ODO0O0ODO0OO0UOODOOOODO

> x[matrix(c(1,2,2,3), 2, 2)] # 00000

[1] 3 6 # x[cbind(c(1,2), c(3,4))] 0OOO

> x[1:4] # D0000000OO0bOOobOoDbo

[1] 1234 # 000 4 0000000D0O0OOO

000000000000 drop=FALSEOODDOOOOOOODOOOOOOOOOOOOOOOOODOODOOO
0000 (0000000000000 O0bD0oDOUOoDOoD) O

> x[ ,2, drop=F] #2 000000000000
[,1]

[1,] 3

[2,] 4

53 O0OOODO

0000000000000 000D000000O0O00000000LD0O0D0O0DOLODOODOO0 rbind()
0000000000000000000 ¢bind() OO0

> ( x <- rbind(c(1,2,3), c(4,5,6)) ) # 000D00DO0O0DOOOO
[,11 [,2]1 [,3]

[1,] 1 2 3

[2,] 4 5 6

> ( x <- cbind(c(1,2,3),c(4,5,6)) ) # 0000000000000
[,11 [,2]

[1,] 1 4

[2,] 2 5

[3,] 3 6




Oos50 00

50

jJOooooooooOooOoOoOoOoOOoOOOOOOOOnO

[,11 [,2]1 [,3]
[1,] 1 2 3
[2,] 4 5 6
(3,1] 7 8 9

[,11 [,2]1 [,3]
[1,] 1 4 7
[2,] 2 5 8
[3,] 3 6 9

> ( x <- rbind(1:3, c(4, 5, 6), 7:9) )

> (y <= cbind(1:3, c(4, 5, 6), 7:9) )

#3 0000000000

#3 0000000000

54 00000

00000000 000000000000000000000000000000000*o

> a <- matrix(1:4, 2, 2)
> b <- matrix(0:3, 2, 2)
>a+b-al*hb

> a*xb

> a %ok b
>

a %x% b

2 x 2 00

2 x 200

gooon

gobogoood

00000 outer(x,y) DDOOO
gobooobo

H OH H O H OH O

0000 00000 %«% 000000000000000000000 x00000000000000000

ooooo

0000 OO0 outer(x,y, FUN)OOO FUNO 20000000000000000O00O0OOOODOOOOOO

gooogo

> z <- outer(x,y,f)

> x <- seq(-3,3,0.1); y <- seq(-3,3,0.1)
> f <- function(x,y) 1/(2%pi)*exp(-(x"2+y~2)/2)
# 0000persp(x,y,z,expand=0.5) 000 30000000000

000 «0000000000D00000O00ODO00D0O0ODO0ODO0O0OD0O00O0ODO0O0ODOO /JOOODODODOOO

ggboooooobbooboobg

> a <- matrix(c(1,2,3,4), 2, 2)
>a *x (1:2)
[,11 [,2]
[1,] 1 3
[2,] 4 8
> 1/a
[,1] [,2]
1.0 0.3333333
0.5 0.2500000

[1,]
[2,1]

#2x2 00
# (1:2) x a 0O0OOO

*3 0000000000 kronecker() 10000000
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55 JUdodououooooon

RODODODODDOOOODODOOODDOOOOOOOODODOOODOOOOO

’ ggoo

|

ug

matrix(0,nrow=2,ncol=3)

20 30000000000 matrix(1,nrow=2ncol=3) 0000000000

diag(3)

3x3000000000diag(1, ncol=2, nrow=2), diag(1, 3), diag(rep(1, 3)),
diag(c(1,1)) 0O ODOO

diag(1:3) 00000 (123)03x300000000
diag(X) <— 1 00 XO0O0OOOOOO 10000
diag(x) <— c(1, 2) 2x200 XODOOOOO (12)0000
t(X) 00 X0O0O0O0O0O

X[upper.tri(X)] <— 0

goooo (DDDDDDD)DDD 0000ooOo0oOdOo oooooog up-
per.tri(X,diag=TRUE) 00O DO

X[lower.tri(X)] <— 0

00000 (bboOoO0oobObD)0oooD o0DOoOO

sum(X"2) 0000000 Osum(diag(t(X)%+«%X)) 0000

solve(X) 00 X000OD0DO000O00

ginv(X) 00 XO000DO0000D000000000000000 library(MASS) 00000
oooom

crossprod(X) 00 X0OOOO000OOoO00004X)%x%XM

crossprod(X,Y) 00 XO0OYOOoOoooooooouX)%«%YD

eigen(X) 00 X00O0OO00OO0oooooooooo

qr(X) 00 XOQROODODOOO

chol(X) 000000000000000X00000000000000000X = t(A)
%% A000000000 ADODOO

svd(X) 00 X00OOO0OO00Do0oOoooooo0o0X=U%%D %% t0000000
00 UODX0OO000000000000000DO00000 voooooo

det(X) 00 X0OO0OOO0OOO0OOprod(svd(X)$d) 0000

gooboboboobooboooboobooboooo

551 0000

coooooooboooooooooobooboooon

> ( x <- matrix(c(1,2,0,3), 2, 2) )

[,11 [,2]
[1,] 1 0
[2,] 2 3
>y <= x+t(x)
> diag(y) <- diag(y)/2
>y
[,11 [,2]
[1,] 1 2
[2,] 2 3

# J00O0O00ooo0oooooo
# DO0oooboooo
#yQoooooooooo
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552 0O0O0OOOO

Ax=b0000 x0000O0O0O0OOO0ODOOODOOD solve()DDODODOODOOODOODO

> a <- matrix(c(0,1,2,3,4,5,6,7,9), 3,3) # 3y + 6z = 1

> b <- matrix(c(1,0,-2)) # x+4y +7z= 0

> solve(a,b) # 2x + by + 9z = -2
[,1]

[1,] -2.333333
[2,] 2.333333
[3,] -1.000000

0000000000000000 backsolve() 00O Obacksolve() 00000000000 DOOOOOOOO
o000 o0oOO0OO0O0O0O0O0OOO0OO0O0O0O0OOOOO00OO0OOOOO0O0O0O0OOOOOO0O0ODOOOOO0OODODOOO
000000000000 000000000D00O0OO forwardsolve() DO OO O

> r <- rbind(c(1,2,3), #x+ 2y + 3z =

+ c(0,1,1), 4 v+ z=

+ c(0,0,2)) # 2z = 2

> (y <- backsolve(r, x <- c(8,4,2)) ) #

>r Ixhy # 000 (8 4 2)
> ( y2 <- backsolve(r, x, transpose = TRUE)) # 000 (8 -12 -5)
> all(t(xr) %%k y2 == x)

> all(y == backsolve(t(r), x, upper = FALSE, transpose = TRUE) )
> all(y2 == backsolve(t(r), x, upper = FALSE, transpose = FALSE))

553 O0OO0OOOOOOOO

000000 (0D00000000)0000000000 eigen() 000D000O0O0DO0ODOOOODOOOOODOOO
gboboooooobgoboobo

> X <- matrix(c(1,2,3,4), 2, 2)
> z <- eigen(X) # X 0O0OOO0O000
> z$values

[1] 5.3722813 -0.3722813

> z$vectors[,1] # 000 5.3722813 00 O000OOOOOO
[1] -0.5657675 -0.8245648
> z$vectorsl[,2] # 000 -0.3722813 DOOOOOOOOO

[1] -0.9093767 0.4159736
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554 0O0O0OOOO

00 svd() DODO00ODOODOODOODOODOOOODOO

> A <- array(c(2,1,1,1,2,1,1,1,2), dim=c(3,3))

> U <= svd(A)$u

>V <= svd(A)$v

> D <- diag(sqrt(svd(A)$d))

> B <= U %*% D %x¥% t (V) # 00 ADDOOO

> A # 00O AOOO
[,11 [,21 [,3]

[1,] 2 1 1

[2,] 1 2 1

[3,] 1 1 2

>B # 00 BOOO

[,1] [,2] [,3]

[1,] 1.3333333 0.3333333 0.3333333

[2,] 0.3333333 1.3333333 0.3333333

[3,] 0.3333333 0.3333333 1.3333333

> BY%*%B # 00000 ADDOODOOOO
[,11 [,21 [,3]

[1,] 2 1 1

[2,] 1 2 1

(3,1 1 1 2

555 OOOOOODODO

0000000 AODOOO 2000 A20000020000000000000000000 A%*%A OO0
0000000000AO0O0OO0 A"O000000000AO000000 A=V %%D %% t(V)oooo

A" =V %% (D n) %+% t(V)

000000000DOO0O0OO0ODODO D0 DO0DO0DODO~0000000000000000000000
00 matpow() 00000000

> matpow <- function(x, pow=2) {

+ y <- eigen(x)

+

y$vectors %x*J, diag( (y$values) “pow ) %x*} t(y$vectors)
}
matpow(diag(1:2)) # 00 (1, 00, (0, 2)) 020
[,11 [,2]
[1,] 1 0
[2,] 0 4

+

\

*4 00 matpow() DO RjpWikiDOOOODOODOOD



Oos50 00

54

0000000000000 0O00000000D0O0D0DO0O0O0DODO0O0O00OO0O0O0O0D matexp() DOODO

ggo

> matexp <- function(x) {

+ y <- eigen(x)

+  y$vectors Yx} diag( exp(y$values) ) %Y, t(y$vectors)

+ }

> matexp(matrix(0, 2, 2)) # 0000000000000
[,11 [,2]

[1,] 1 0

[2,] 0 1

> matexp(diag(2)) # exp(E) = ((e, 0) , (0, e))

[,1] [,2]
[1,] 2.718282 0.000000
[2,] 0.000000 2.718282

56 DOOOOOOO

goboboboobodbooboboobooboobboobooboobobon

56.1 O0OOOOO

000 dm 000000000000 0O0OO0DO(0D O0O0)000O0O0 200000000000000000

000000 dim 0000000000 dim() Onrow() Oncol() 00000

> x <- matrix(1:6, nrow=2, ncol=3) #2x3 000000

> dim(x) #dim O0O0OOOO

[1] 2 3

> nrow(x) # 00 0O dim(x)[1] OOOODOOOOOOO
[1] 2

> ncol(x) # 00 0O dim(x)[2] OOOODOOOOOOO
[1] 3

000000000000000 matrix() 000000 dim 000000000000 0O0O0O0OOOOOOOO
dm 000000000000 Omatrix() 0000000000000 00O00O0O00O0O0ODO

> x <- matrix(1:6, nrow=2, ncol=3) #2x3 000000

> dim(x) <- c(3, 2) #3x20000000O0O

> matrix(as.vector(x), nrow=2, ncol=6) # 2 x 6 JU0OOOOOO
[,11 [,21 [,3] [,4] [,5] [,6]

[1,] 1 3 5 1 3 5

[2,] 2 4 6 2 4 6

> matrix(x, nrow=2, ncol=6) # matrix() 00 1 00O
[,11 [,2]1 [,3] [,4] [,5]1 [,6] # 000000000000
[1,1] 1 3 5 1 3 5 # as.vector() DDOOODO

[2,] 2 4 6 2 4 6
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562 00OO0OOODOOODOOOO

00 matrix() 000 nrow Oncol 0000000000000 0O0ODO0O0ODO0OO0U0ODOODOODOODODOO
O00Omatrix() 0000000000000 D00OO0O0ODO0O0OO0OO0OOOOOOODOOOOODOOOOOOO

> x <- matrix(1:6, nrow=3) # 0000 ncol =2 0000

3 0o0o0n

> y <- matrix(1:6, ncol=2) # 0000 nrow

gooboooboobboooooooobobobbooooooooobobboboooooobLD bbb oUo o
gboboooobooboboboooooogo

> matrix (1, nrow=2, ncol=3)
[,11 [,2]1 [,3]

[1,] 1 1 1

[2,] 1 1 1

> matrix(1:2, nrow=2, ncol=3)
[,11 [,2]1 [,3]

[1,] 1 1 1

[2,] 2 2 2

> matrix(1:3, nrow=2, ncol=3, byrow=T)
[,11 [,2]1 [,3]

[1,] 1 2 3

[2,1] 1 2 3

nrow Oncol 0 0000000000000 00O0DO0ODOOO0OO0ODO0ODOOOOOOODOOONO row() Ocol()
ggbooooogn

> x <- matrix(1:6, nrow=2, ncol=3) #2x3 000000

> row(x) # 0000o0OOOoOoOoOoooo
[,11 [,2]1 [,3]

[1,] 1 1 1

[2,] 2 2 2

> col(x) # JJjdooooooooo
[,11 [,2]1 [,3]

[1,] 1 2 3

[2,] 1 2 3

gobobooooooboocooooooooOobocOoOoOoOoOoOoOoOCcO0OobOOoOoOoOoOoCcOoObOOoOoOoOoOOoOOoDOoOn
ooooooooboboooooooooooon

> ( x <- matrix(1:12, nrow=3, ncol=4) ) # 3 x 4 OO0 0O0O
[,11 [,2] [,3] [,4]

[1,] 1 4 7 10

[2,] 2 5 8 11

[3,] 3 6 9 12

> x[1:2, 3:4] <- c(333, 555, 777, 999) # 0D000bOo0ob0b 2«2 000000000
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[,11 [,21 [,3] [,4]
[1,] 1 4 333 777
[2,] 2 5 555 999
(3,] 3 6 9 12

0000000000000 0000000000000000 which() D0DO0O arrind=TRUEOOOOOO
00000 arr.ind=FALSEOOOOOODOO0OO0OO0O0OO0OO0OO0OO0OOOOO0OO0O0O0O0OO0OOOOOOO 20000
gogbooboboboboobooboboooboon

> ( x <- matrix(1:6, nrow=2, ncol=3) )
[,11 [,2]1 [,3]

[1,] 1 3 5

[2,] 2 4 6

> ( y <= which(x%%2==0, arr.ind=TRUE) )

row col
[1,] 2 1
[2,] 2 2
[3,] 2 3

coobooooooooooocOoobooooooooooboogn

> ( x <- matrix(1:4, 2, 2) )
[,11 [,2]

[1,] 1 3

[2,] 2 4

> x[x%%2==0] #2 000000 x0000
(1] 2 4
> x[x%%2==0] <- 0 # 2000000 xO0000 o000
> X

[,11 [,2]

[1,] 1 3
[2,] 0 0

563 O0000OO0O0OODOODOOO

00 apply(X, MARGIN, OO, ..) 0000000000 OOD (DODDO0OO0)0O0O0O0OOO0OODOOOODODO
0000000000000 00000000 MARGINOOOOUOOOODOOODOOOODODOODOOOODDOOO
MARGIN=100000000O0OMARGIN=2000000000MARGIN =¢(1,2) 00000000000
ooooooo

> ( x <- matrix(1:4, 2, 2) )
[,11 [,2]

[1,] 1 3

[2,] 2 4

> apply(x, 1, sum) # 00 -> 00 rowSums(x) OO0
[1] 4 6
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CoobooooobOocOooobocOooboobcOO0OOmean 0 sum OO0O00O0O0OO0O0O0OOOO

| Dooo 0O
mean(x[i, |) 0i00D000o

mean (x|, i]) 0i000000o

mean(x| , ]) 00DO00D00no

apply(x, 1, sum) 00000000000 colSums(x) D00 0O
apply(x, 2, sum) 00000000000 rowSums(x) 0000

564 00O0O0DO0O0ODOODOOODOOODOOO

0000000000000000000000 order() 0000D0ODO0ODOOOUODOODODOODODOO
0000 max.col() DOODO

> ( x <- matrix(runif(4), 2, 2) )
[,1] [,2]

[1,] 0.9542167 0.7191234

[2,] 0.8059257 0.0016700

> order(x[,2]) # 200000000000

[11 21

> x[order(x[,2]),] #2000000000000O0OO0DOODO
[,1] [,2]

[1,] 0.8059257 0.0016700

[2,] 0.9542167 0.7191234

> x[,order(x[1,1)] #1000000000000000000
[,1] [,2]

[1,] 0.7191234 0.9542167

[2,] 0.0016700 0.8059257

565 O0O0OO0O0DOOOODOO

00 image() 00000000000 DODOODOODOOOOOOOOODOOOODOOOO

> x <- matrix(rep(0:1,81), 9, 9)
> image(x, col=c(0,9))

00 02 04 06 08 10

051 000000000
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060

Jobootdbobbotdgtdbobood

6.1 OO

000000000000 000000000000 200000000000000000003040...00
gboobobooobooobobobobooooooobooboo

() DooOooOoOooOOooOOoOooOoDOoOo
(2) 00 array(0000,000000)000000000O000O0OODO

0000000000 array() 00000000 dm 0000000000000 DOODOOOODOOOOOkKOODO
000 kODO0OO0ODODO0O0OD0O0O000OD dim() D00DDO0O0O0ODOO0OODOOOO

> ( x <- array(1:8, dim=c(1, 4, 2)) ) # 3 0000
, 5 1

[,11 [,21 [,3] [,4]
[1,] 1 2 3 4

[,11 [,2]1 [,3] [,4]
[1,] 5 6 7 8
> x[1, 4, ] # x[1000D000020000000] 00000
[1] 4 8

ooboooooobooooooooobbooooooooobobooobooooooboooobooooooOoboOoOoDoboOn
00057000000000000030000 x00000D00O0O00O00 0000 mean(x[i,i,])000000
ooooooooocoon

> x <- array(1:16, dim=c(2, 4, 2))
> apply(x, c(1,2), mean)
[,11 [,2] [,3] [,4]
[1,] 5 7 9 11
[2,] 6 8 10 12
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000000000000 aperm() 0000000 0OD0O perm (D0)0000O ¢(2,1) 000000000 DOO
ooooooooocooooooooocooon

> x <- array(1:24, 2:4) #4 0000
> xt <- aperm(x, perm=c(2,1,3)) #xt 0 xD0O00000O0O

6.2 OO0

ROOODOOOOOOOOOODOOOOO0ODOOO0DOOOO0O0ODO0O00 10 “¥”000 10000000000
0oooooooooocooooooo 100poo0000000ooooooOooooOoOO00ooooooO0 10000
0000000000000 00000000000000O00000000o0000On list()DOo0o0ODO0OoOOoO

> ( x <= list(1:5, 1list("It’s my list.", <(T, F, T))) )

[[1]1] #0O 100
[1] 12345
[[2]] # 0 2000000000 100

[[2110[11]

[1] "It’s my list."

[[211C[2]1] # 0 2000000000 200
[1] TRUE FALSE TRUE

OO0 xO0O000OO00o0oo0bO0o00ooon

| 0ooo | 00

length (x) 000 x0000000

x <— as.list(NULL) 000 xO0000

x[1] x00 1000000000000000
x[1:2] 0100 2000000000000000
x[-1] 0100000000000000000
x[c(T,F,T)] 0100 3000000000000000
x[[1]] x00 10000000000000000000
x[2] <— 10 00000 2000 10000

x[[2]] < 10 00000 2000 10000

x[3] <— list(NULL) 00000 3000 NULLOOOOO
x[3] <— NULL 00000 30000000

0000000 b0 ))0o0b0000D00000D0O000D0O0O00ODO00O0DOO0O0OO0ODOOOODO[O )OO
gobooooooboooobooocOoooboooooocOoOoOoboOooooboOoOoooOooooOooOoOooOooOooooOooOoon
00000000 0000000000000000000000000000000000D000000000O0
000[0 |]0D0000D0O000ODO00ODODOOOOD

> x <- 1list(1:3, 4:6, 7:9)

> x[1] # 000000oooo
[[1]1]

[1] 123

*1 [0]]00000000000000000000000000000000000000000000000000000000000
0[0])0000000OD0DOOO0O0O0ODOO0ODO0OD0DO0O00000000000000000OOOOo
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> x[[1]] # J000000O0OO000OO0O0O0DOOoOooO

[1] 123

> x[1:2] # 0 100 20000000

[[11] # (00) x[[1:2]]1 O x[[1]11[(2]] OO (OOOO)
[1] 123

[[2]1]

[1] 456

0000000000000 0000 ¢() 000 append() 00000 O0OOOODOO

> c( list(1:5), list(c(T,F,T)) ) # append(list(1:5), list(c(T, F, T))) 00O
[[11]

[1] 12345

[[21]

[1] TRUE FALSE TRUE

> rep(list(1:5, "It’s my list."), 2) # 00O rep() ODOO

0000000000000 00000000000OD 1000000000000 000 wnlist() DODODOO
0000000000000000000000000 split() 0000

> ( x <- split(1:10, rep(c("odd", "even"), 5)) )

$even

[1] 2 4 6 8 10

$odd

(11 13579

> unlist(x)

evenl even2 even3 even4 evenb oddl odd2 odd3 odd4 oddb5
2 4 6 8 10 1 3 5 7 9

6.3 apply() DODOODO

00 apply() DOO0OOOO apply(), mapply(), lapply(), sapply(), tapply() DO O0D0O0O00O0O0OD0OODOOO
J000ddo0odoodobDdoooddoodoDo00D000ooDoooooooooDodd mxn OO XOO0O
0000 1000000ROOOOODOO (forD while) 0000000 X <—X+1 0000000000000
O0O0OD0 apply() 0DOOODOOOOOODOOUOOODOOOODOODOCO JAVAODOODOODOOODODO
0000000000000 00000000000D0000O0apply()00000ODOOODOOOODOOODOODO
O00d00oooooooboooooooooboooon

EEN gd
apply(X, MARGIN, 00, ..) | 00000000000 MARGINOOOODOOOODDODOOOODODOOODO
000000 MARGIN=100OO0OO0OOUOOOOMARGIN=2000000
OOOMARGIN =¢(1,2) 0000000000000 OODOOO

lapply(X, OO, ...)

0000000000 O0lapply() 00000000 Osapply() 00000 names
sapply(X, 00O, ...)

gooobobobobbd names DO0O0OOOODOODOOOOOOODOOO
gobooooboobooboboobooboobboobooboboooboo
ogn
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tapply(X,INDEX,DD,...) 000000000000 ooooo0ooooo0oooooooINDEX O X
000000000000 000000DO00D0O0D (booooooooo)
gl ooobobobobobbobobbobo0odooououo
mapply(00 F ,x,y, 2, ... ) sapply() 0000O0O0Ox,y,2z 0000000000000 O0OOOOOOO
F(x,v,2, .. 000000000000000000O0O mapply(sum, 1:3, 4:6)
000 [sum(l,4), sum(2,5), sum(3,6) | = [ 5, 7, 9 | O U mapply(sum, 1:3,
4:5) 000 [sum(l,4), sum(2,5), sum(3,4) | =[5,7,7] 000000 (OO
0000000000 DO0ODO0O0OD0O00ODO0OD0ODO0OD0O00D0 warning DOOO
gooodnm

sweep(X, MARGIN, 000, (0000000000 D MARGINOOOODOODOODODDODOOOOODOODOO
FUN="_"_ ) scale() 0000 D00MFUN="4+" 00000000000

0000000000000 apply) 00DD0DODO sweep() 00000000 DO0ODO0OOOOODOOODODOOOODO
gooood

> ( x <- matrix(1:8, ncol=4) )
[,11 [,21 [,3]1 [,4]

[1,] 1 3 5 7

[2,] 2 4 6 8

> apply(x, 2, sum) # 0000000000
[1]1 3 7 11 15
> apply(x, c(1,2), sqrt) # 00000000000

[,1] [,2] [,3] [,4]
[1,] 1.000000 1.732051 2.236068 2.645751
[2,] 1.414214 2.000000 2.449490 2.828427
> sweep(x, 1, apply(x,1,mean)) # 000000
[,11 [,21 [,3] [,4]
[1,] -3 -1 1 3
2,] -3 -1 1 3
> sweep(a, 2, apply(a,2,mean)) # 00000g

0000000000000 00000000000 lapply()Osapply() 0000 Olapply() DOODOOO0ODODOO
0000000000000 00DO0D00D00000UOUsapply() 000ODO0DD0O0ODODOD0OODOLOOODOODDODODOOD
0D0000000000o0oo0oo0o0o000000*20

> x <- list(a = 1:10, beta = exp(-3:3), logic = c(T,F,F,T))

> lapply(x, mean) # 00000000000000000000000
$a #0 10000

[1] 5.5

$beta #0 20000

[1] 4.535125

$logic # 000000 (TRUE=1, FALSE=0) DOOOOO
[1] 0.5

*2 goooo sapply() 0000000 D 20000000000 0sapply() 00000000 replicate() 000000000000 ODO
ooboooooooo
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> sapply(x, mean) # 0000000000000 0O000ODOO
a beta logic

5.500000 4.535125 0.500000

> lapply(x, quantile, probs = 1:3/4) # 000O0OO0OO

> sapply(x, quantile) # 000000000OD

0000000000000000000000 tapply() 0000000000 DO0OOOOOOOOOOOOO
goboboooooogo

> data(warpbreaks) #100000000000000

> attach(warpbreaks) # 000Oooooo

> fc <- factor(tension) # 00000000

> levels(fc) # 00000000000000

(1] "™ "M" "H"

> tapply(breaks, fc, mean) # breaks OODOODODOOODOOODOO
L M H

36.38889 26.38889 21.66667

0000000000000 000OO0Omapply() 000000000 O0OOOOUODOOOODOODOODOO

> mapply(rep, 1:3, 3:1) # rep(1,3), rep(2,2), rep(3,1) 00OO0O
> mapply(rep, 1:3, 3:1) # rep(3,1), rep(2,2), rep(1,3) OOODO

6.4 000O0O0DDOOODOODOOOOO

00000000000000000000000000000000D00000000 paste() 0000000
oboboobooooooobobobooooooooboboboon

ooo oo od ooo ooo ooo

oooo mode() is.numeric() | is.integer() | is.complex() | is.character() | is.logical()

0000 || storage.mode() | as.numeric() | as.integer() | as.complex() | as.character() | as.logical()

gooooooo

>x <-c(1, 0, 1, 0, 1)

> mode (x)

[1] "numeric"

> mode(x) <- "complex" # storage.mode(x) <- "complex" O0OO
> x

[1] 1+0i 0+0i 1+0i 0+0i 1+0i

> mode(x) <- "logical"

> x

[1] TRUE FALSE TRUE FALSE TRUE

oooooooooocoobooooboooon

character > complex > numeric > logical > NULL
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uobooooooocooooocoOoobocooooOoCcOoOoOobocOoOoOooOoCcOOoObocOoOoOoOobOOoODOboOoOoOoOoboOoon
000000000 0000000000000000000D0000000000®00000000000000

00000000000000000000000000000
TRUE — 1,  FALSE — 0

0000000000000 000D00000D0O000D000000000m 00000 — TRUEQOOQOOO
0oo*o

00000 — TRUE , 0 — FALSE

ooboooooobooooooocoooboooooooOooboOoooobooOooboOooooOoboOoOoDoboOoobooOoboOooon
00000 isarray() DO00OD0O0O0O0OD 200000000 isarray() 0000000000 TRUEOOOD

go gooo ERN gd goo goboooboo gooboob |oboboob
0ooo0g || is.vector() | is.matrix() | is.array() | is.list() | is.data.frame() is.factor() is.ordered()

00000 || as.vector() | as.matrix() | as.array() | as.list() | as.data.frame() | as.factor() as.ordered()

goooocooo

>x <-c(1, 0, 1, 0, 1, 0) #x 00000000

> is.list(x) # 00000d0doooood
[1] FALSE

> x <- as.list(x) #x 0000000

> is.list(x) #x 0D0ODO0O0O0OO

[1] TRUE

> is.vector(x) # 000000000000
[1] TRUE

00000000 as.character() O asnmumeric() 000 NULL OOOO0O0OO0OO0O0O0O0OO00O0O00O0OO00 0000
goboogo

6.5 names OO OOOOO0OO

U0b000 names UOODOOO0ODOOODOOOODODOOODOOODOOODODOODODOOODLDOOO
goboooboboobooo

0010 mydataOODOODODOODO myname 000000000000 mydatad name 00000000000
gobooobbobbd names UOODOOO0OO0O0ODOO0ODOOODDODODODOODOODDODOODOO

> mydata <- c(57, 173, 19) # O0O0O0O0OOBMI OOOO
> myname <- c("weight", "height", "BMI") # 00O
> names (mydata) <- myname # 0000
> mydata # mydata U0 O0OO0O0O
weight height BMI

57 173 19

* 0000000000000000000000000000000000
* 00o if (2.718) 000 TRUEDOOOODODOODODOODOODODO
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0020 0O00O0O0O0OODOODUODO names 000000000 ODOOnames 0000000 OD0OO0OOODO

oo 4

names 10 000000000COO0OCOO0O0OO0OCOO0OCOO0OOO

> mydata["BMI"]
BMI
19
> mydata["BMI"][[1]]
[1] 19

gooooooboooooobocoooooooon

> x <- list(s7, "173", c¢(1,9,0,4,5,0,7)) # 00000O0BMI OOOO
> names(x) <- c("weight", "height", "BMI") # 0000000

> X

$weight

[1] 57

$height

[1] "173"

$BMI

[1] 1904507

> x$weight # 0000000 ( x[["weight"]1]l OO0O)
[1] 57

[]0D0D00$000000000000000

> temp <- "height" # temp UOOO "height" ODOOOOO
> x[[temp]] # [[ 1] O000OO0OOO0OOO0OO0O
[1] "173" # 000 x[["neight"]] OOOODOO
> x$temp #$ 0000000000000B0O0OO0
#

NULL x$temp 00000000 NULL OOO

0 OoooooOodob oo =00 0oO0bocoooboOoboO0oOo0obOOoOOoO0obOOoOobocOoOoOobOobObocOooOon
o000 ””o000oo0o0ooooon

> list(sequence=1:5, "letters"="abc")

$sequence

[11] 1 2345

$letters

[1] "abc"

0 OD0O0Onames00000D000O00O0O0O0O0O0DOOODOOODODOOOOO
> x <- matrix(1:6, nrow=2, ncol=3) # 2 x3 000

> rownames(x) <- c("up", "down") # 0000

> colnames(x) <- c("left", "center", "right") # 0000

> X

left center right
up 1 3 5
down 2 4 6
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> x["up","right"] # 00000D0O00O0ODOOOODOOO
[1] 5

dimnames 000 0000000000000 0O000O00O0O0ODOO dimnmames 000000000000
gboboooooooboooboo

> a <- matrix(1:6, nrow=2, ncol=3)
> dimnames(a) <- list(c("rowl","row2"), c("coll","col2","col3"))
> a
coll col2 col3
rowl 1 3 5
row2 2 4 6

0000000000000 0000O0O0dimnames 0000000000 NULLOOOOOOOOOOOO
O000000O0dmnames 0000000000000

> rownames(x) <- NULL # J00oobooboooobobooo
> colnames(x) <- NULL # 0O0000O00O0oo0ooooogon
> dimnames(x) <- NULL # J00OO0ooO0o0oboo

gogboodboboobuoobbooobooboobbobobuoobbooboboo

>x <-1:3

>y <- 4:6

> matname <- c("x", "y") #x, yOooooooboooooooo

> sapply(matname, get) #x, yO0OOUO (QUOOUODOOoOoOooOO)
Xy

(1,1 1 4

[2,] 25

[3,1 36

0050 0DO0O0OO0OUO0O0ODOOOUOUOO0ODDO dimnames JO0O0000QO names 100000000 DOOOOkOOO
000000 dimnames 0000 kOOOOOOODOOOOOOOOODOOODOOOO NULLOOOOO
gooo

> a <- array(1:16, dim=c(2, 4, 2))
> dimnames(a) <- list(NULL, c("A", "B", "C", "D"), c("a", "b"))
> a
, » @
ABCD
[1,] 1357
[2,] 24638
, » b
A B C D
[1,] 9 11 13 15
[2,] 10 12 14 16
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OO0 60 O0000O0O0DOOOOOOOOOOO dimnames 0000000000 NULLOOOOOOOOOOO
000 dimnames 0000000000000

> dimnames(a) <- list(c("rowl","row2"), NULL) # 0J0O00dooa
> dimnames(a) <- NULL # J00oo0oooo

0000 ROOOOOOD (attribute) 0000000000000 0D0D0000000DO0OO0 mode O length
000 20000000000 (names 0000000000000 000O0O0OO0ODOODOOOOOOOO)O
00 modeO length 000 names 000000000000 (factor) 000 levels 000000000 dim
0000000000000 D000000 mode O length 00000000000 DODOODNO attributes()
O000Omode 0000000 as. 00000 ()000D00D0OO0O0 attr() 000000000000 0OODO
0000000000000 000000 xO0dimOO0OO0OD00O00O000x0O02x200000000000

gobooooboo

> x <= 1:4

> mode (x) #x 0000000

> attributes(x) # mode 0 length 0O0OO0OOOOOO
> attr(x, "dim") <- c(2,2)




O o

Juoootgtd
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070

oot

7.1 O00DDOOO0OO

ROODDODDOODODO0O0O0O0DD0O0OOD000O0D0D0D0DD0O0N0O0N0N000D00N000No0noog date() 00000
gboboooobooogooo

> date()
[1] "Mon Jul 21 16:31:52 2003"

000000000 log(x) 00 xO0ODDODODOO0ODOOODOODODOO0OOODD xOOOODODOODOODOOOOO
goobooooogo

> x <= 10 #x 0 10 000
> log(x) #x 0000000 loglo(x) DOOOODO
[1] 2.302585

ooooooOoOoOOO0OO0OO0OO0O00O000O0O00O0O0000000000000C0C00 200000000000 O
ooooooooocoon

> x <= 10 #x 0 10 000
> log(x, base=10) # J000O0OD0O0O0O bvase U 10 OO0DOOO0ODOODOO
(11 1

711 00000

0000000000000 0000000000000D00000000000000000000000 log()
O00OC0OCOO0O0O0ODO0O0ODODODOODO0O0 base 00 ODODO0OODOOOOOODOOD e0 00000000 OOOOOOO

> log(x, base = exp(1))

000000000000 0000000000000000000000 baseJOOOOOOOOOODOOOO
oooo

> x <- 10
> log(x, 10) # log(x, base=10) OO0
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gOooboooooooOoOoooOOobOOoboOoOobobOOoOoOOoOO0OODOOODOOOOUOCOOOObOOObOODOOODO
goo

> x <= 10
> log(base=2.718281828, x)
[1] 1

gooboooobbboooobbooobbooobbooobobbooobDbooob b oobLbUooo
oooooO00oooo 20000000DCOO0O

> x <= 10 ### OO0
> log(x) #Hit#
> log(x <- 10) # 00O

712 O00O0O0O0OODOO

goooobooboobooobuooboobboobooboobboobLoobbobboobUoobLboOoO
gogd Order()DDDDDDDDDDDDDDDDDDD”D

> order

O00000000000D000000000000000*00000000 methods() 00O getS3method()
gboboooooboobobobooooooooboo

> methods (mean) # 000 methods DO OOO
[1] mean.data.frame mean.Date

[3] mean.default mean.difftime # default DO OOOOOO
[5] mean.POSIXct mean.POSIX1t

> getS3method("mean", "default") # default 00 method OO0
function (x, trim = 0, na.rm = FALSE, ...) # mean DO O00O0O0O0OOOOO
{

(Doooooo)

713 000

000000000 0000000000000000000000000 {0 }jo000ooooo®™®o{o}
ooboboo 1obooooooobooooobooooooooooooboooooooooooboooDbboooDobOooo
oooooooooooooooooOoOoOoOO0lOoOo 200D00DOODOODOODOOOOOOOOO00O0OO0O
000000000000000*000000000000000000000000000000D0000000

> A

+ x <- 2 ; y<-50 # J0D0dpobooboobooooboo
+ z <- 10 # 000000000 DO0OoOOooooo
+ log(x*y, base=z) # 000000O0OQ0OOODOOODOOOObOO
+ 3

*1 JoOoOo0OODO0O00000000 ROOODOOOOOOODOOO0OOOO0O0OO0OOD0O0000
*2 QpO0000000000000D0O0000000000 ---0

* 0oOoOoDoOoO0oO0oOo

*2 C0 JAVADOOOOOOOOOOOO
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(11 2

714 O000O0O0OOOODOO

gobooboobooobooboobbooboobboooboob

000 <- function( OO 1, OOO , OOn ) {
<O0OoOogd»>

oooooooooooOooooOoOo0o0oooOooOoOoOocO0O0OOOoO0Ob0O0O0Ob0O0 ROOOODODOOOOOOO0OO
ooooooOoooooOoooooDoOoofooU0oooo0goooooooUoDoRODOOOOOOODO
0000000000000 000O0M0L0D@mU0L00o00 mm() 0000000000000 O0OOOOODOO

> myfunc <- function(x) ifelse(x > 0, 1, -1) ||> sin <- function(x) ifelse(x > 0, 1, -1)

> myfunc (1) > sin(1) # 0000000

(11 1 (1] 1

> myfunc(-2) > rm(sin) # 00000000 d
[1] -1 > sin(1)

[1] 0.841471

72 000
721 O00OOOO0OODOOOOOO

0000000000000 00000D==0000 =000000000 (=00000)0O0O0D0ODODOO
ASCII 00000000000 OooOoooooooo

ooo == = >= > <= <

go god (obobo > > < <

oo isma() | is.nan() is.null() | is.finite() | is.infinite() | complete.cases()
oo NAO NaNO NULLO ood ood goood

x==y,x!=y0000000000000x,yJOOODOOODOOOOOOOOODOOOODOOOOOOOO
0000000000000000000000000000000000000000000 identical() 00O
allequal() 000000000000 DOOODMIOOOOODOOOODOOOODOODOOOODOOOOODOODOOOO
oobooooooocooooooooboOooboooooooo

> identical(l, 1.) #RO0O 10 t.0000000000000
(1] TRUE

> identical(l, as.integer(1)) # as.integer(1) DOJOOOOO FALSE 0OO0O
[1] FALSE

> x <= 1; y <= 1.0; z <- 1.00000001;

> if (x ==1y) # 000000000000 00O00

+ identical(all.equal(x, z), TRUE) # JD00oooboooooboon

[1] TRUE
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722 00O0OOODOOOOOO

coooooooboocoooobcoooo

o0 ! && & I | xor(x, y)
oo 00 |000D00O0 |000 |000000 | 00D |OobOoooOo (—o00)

uoooooooocooo

>x <=7

> (x> 2) && (x < 4) # 0200000000040000000

[1] FALSE

>if ( (x> 2) || (x < 8) ) print("True.") # J2000000000080O00OOOOOO...
[1] "True."

723 00O0O0OO

0000000000000 00000000000000000000000000000000 ()00000
0000D000D00000000$0 [[JJ000000000000000000000mylist$element , mylist[[1]]0
000000[)]0000000000000000000000x[2)J00000000

| 00 00 |
$ 0ooooo
(o] 00000000000000000
- 00O

— 0000 (0ooon)
00 +100000
%000 %0%+% ,%n% 000| 000000

x 0/ 000
+ 0 - gaad
<UO>0O<=0>= gogd
==10 = goooooood
! gd
&0 |0 &&O || O00000000DOoOon
<— gooo
<, > ad

7.3 0000
73.1 O0OOOOif Oelse

0000000000000 000000000 if00else 00000000000 O00OOO TRUE O FALSE O
gboboooobooboboboooooooono

*$ 0000000000 0RjpWikiD OO O Oisac 0008 version 4 00 000000000000000
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x <= 2
if (x> 0) { #if (OOO )
sum(1:x) # UO0UO0OO TRUE OO0OOOOOOOOO
} else {
X <- -X # U000 FALSE DO0OOOOOOOOO
sum(1:x)
}

00010 if0else000000000000000DOO0O0ODOO0O0O3~O0MOO0}0 elsed0nO0
0000000000000~ 00@MR OO (0D0D) {0 }00D00LOLD0OULOUDOODODODODO
O0000D0 else0 0000 if00000 else000000000O0ODO0OO0O0DOOOODODOOOODOOO
0000000000000 ROODOOOUDOOO0OOO0OO0OO0O0O0O0O0DOO0OO0f00D00O00ODO0O0Oo0OO
O000 else0000000000O0OMO

> a <- rnorm(1) > {
> if (a >= 0) { + if (a >= 0) {
+ if (a == 0) b <- "zero" + if (a == 0) b <- "zero"
+ else b <- a # 000O0O0OO0O + else b <- a
+ 7 + 7
+ else b <- -a # 0000000 + else b <- -a # 0000000
+ 7}
goddddoooooooobobbbbobbobboboodgdoouoooga
> myfunc <- function(a) {
+ if (a >= 0) {
+ if (a == 0) b <- "zero"
+ else b <- a # JD0O00oD0Ooo
+ 7
+ else b <- -a # 000O0O0OO0O
+ return(c(a,b))
+}

00020 ROODUOOOOOOODUOODOUOD —TRUEOOODOODOOOODOOODOO if(3.14) 000 TRUE
ooooif00000000000000000D0O00O00D0DOO0f000D z<—20000000000
0000000000 oO0o0Oo0mOooo0o0ooooUoOo f0o0nno TRUEODOODOODODOOOO

ogno

> x <- -3

> if (x<-2) print(x) #x<-2 0 x 0 -20000000000
[1] 2 # 0 JUOOO TRUE ODOOOOOOO

0000000000000 000D (D0O0DL)0D00D0O0O0D00DOOOD0D0ODOODOODODOOOOoD
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O00O0 O0O0O0DO0UOoOifdelse0dD0OOO0OOOUOOOOO

> if (a < 0) { # 00000 ||> myfunc <- function(a) { # 00000
+  print(0) + if (a < 0) print(0)

+ } else if (a < 1) { + else if (a < 1) print(1)

+  print(1) + else print(2)

+ } else print(2) +}

00000 ifelse(00,01,02)0000000000000000O0O0O0O0OODOOOOODOOOOODO

> x <= c(-2:3)

> sqrt(x)

[1] NaN NaN 0.000000 1.000000 1.414214 1.732051
goooooogo

NaN OO0O00O0O000O in: sqrt(x)

> sqrt(ifelse(x >= 0, x, NA))

[1] NA NA 0.000000 1.000000 1.414214 1.732051

7.3.2 00000 switch

oooooooopbo0o0o 10000 20000 300000000000 OO0OODOOOOOOOODOOO
switch 0000000000000 000000O0 switchOOOOOOOOOOOOOOOODOOOOOOOOO
OO0 switchODODDOODDODODOODODOODOODOOOOOOOOOOOOOOOOOOOOoOOoOoOoOoOooooog
oodoooOo0oQoOoooO0 1..n000UO0OO NULLOODODOODOOOOO

>ac<-1 > a<-2

+ switch(a, # switch(O OO, + switch(a, # switch(O O,

+ "1" = print("one"), # "1 OJOO00OO0O0O +  print("one"), # 1 000000
+ "2" = print("two"), # "2" 000000 ||+ print("two") # 2000000
+  print("?") # 000OO0O0OOO +)

+) # oooooo [1] "two"

[1] "one"

733 000 && O

000020000000000000000000000000000 & (O0)0 ||(00O)ODOOOO

> a <- 2 > a<-2

>b <- -3 > b <- -3

> if ((a > 0) && (b > 0)) { >if ((a<0) Il (b<0)) A
+ c <- axb + c <- -axb

+ } else c <- -a*b + } else c <- a*b

> c > c

(1] 6 [11 6
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/4 0OO0oOog
741 for0O0O0ODOOO

0000000000000 0000000DO000O00O00D for0000Ofor (D0ODODO InO0OO )OO0
0000000000000 oooo0 for00000000O0O0OO0O0OO0OOO0OOOOOOOOOO
for 0000000000 DD0O00O™000D000000000000D00000OODOOg
g000oo00oOo0o0ooOoO0oO0oooO0UoDooOO0oU0OoOxO0 10 s00000000O0O

4 I
>x <-0
> for (i in 1:5) { # for (J0OO0OO in OOOOODOODO)
+ x <-x + 1 # 0000000000000 000O00o00ooooooooo
+ 3
> X
[1] 5
o %

0010 000O0O0O00OOO0O00O0OOoOo0o0OooD for 00000000 for 0000000000 DOOOOOO
gobooooooboooooooboobooooooooobooooooooooooooooooboooooon
OO0 x000000i0 x00000000 100 50000000000000000000000000

goooooo
> x <- 1:5 > x <- 1:5
> for (i in x) x <- append(x, i) > for (i in 1:5) x <- append(x, i)
> x > x
[1] 1234512345 [11 1234512345

o020 for00000000O0COOOO0OOOOOOOOOOOOOOOOOOOOOOODOOOOOOOOOO
oiomooooooboooboooooooooboooooooooooboooooobOooobOooDbOODO
O0O0D0 plot() DOODODOODODOODODOOplot() D0D00O0OO0ODO0OO0ODO0ODOODOODOODOOOODO
oobooooooboboooboooooobooooboooooooooobooom

>x <=0 > par (mfrow=c(2,2))

> y <- matrix(1:10, 2, 5) > x <- list(1:6, sin, runif(6), dnorm)
> for (i in y) x <- x+1 > for (i in x) {

> x + plot(i, x1lim=c(0,2*pi))

[1] 10 + }

742 whileOODODOOOO

goooooooODO0O00000000000000000D0O000000000D0D00O0 whileOOOOOOO
Ooo0oO0ooo0 TRUEODOODOOOOOOOOOOOOOOOOO0OOO0O0O0OO0O000oOo0O0o0oooDoooo
ooobDoooobooo0ooD xOo0o0oo0o 10 s000000D0000

* 0DDO000000000000000000000000000
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>x <=0

> while (x <= 5) { # while ( OO0 )

+ x<-x+1 # 00O0O0O TRUE D0O0OOOOOOOODOO

+ 3} # J0D0O0OD0DO0O FALSE OD0O0ODOO 1 0000O0D0O0O
> X

(1] 6

743 break DODOOOODODOOODOOO

break 00O DO Ofor 0 while 00 0000000000000 000000*0next 000000for O while
000000000000000000000000000000000000*0

>x <=0 >x <=0

> for (i in 1:5) { > for (i in 1:5) {

+ x<-x+1 + next #x 0 100000
+ if (x == 3) break #x 0 300000 + x<-x+1 # D0oooooog
+ } # for DOOOODO + 3}

> x > X

(11 3 (11 o

744 repeat OO QOOODO

repeat 0000000000000 0O0000000O000D00O00O break 00O0O0ODO

>x <=0

> repeat {

+ if (x <=5) x <-x+1 # break U000 O0DODO0OO0DODOOOOO
+ else break #x >5 000 repeat UOOODOO
+}

> x

(11 6

/(5 0O0OO0O4Og

751 O0O0OOODOO

000000 200000000000 mydouble() 00DO0D0O0O0ODOODOOO

> mydouble <- function(x) 2*x

> mydouble <- function(x) {

+ return( 2#*x ) # 00000000
+ 7

> mydouble(2)

[1] 4

*T OO0 break 000000000000000000000000O000O000
*¥ 000 next 000000000000 0000000000MOO0O0OO0000D0O000D0O0O0D0000OON0000O0
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752 000O00OOOOO

0000000000000 000000DO00 ROODDOOLOOOUODUOODOODOOOO %4+=%0%—=%
ggbooobooooboobooobooobobooboobbobobooboobboo » oobboobbooboo

> "Y+=%" <- function(x, y) x <<- x + ¥y
> "%-=%" <- function(x, y) x <<~ x -y
> x <= 1;

> (x %t+=h 2)

(11 3

> (x %—=%h 3)

(11 0

753 0U0O0O0ODDOODOOOO

ROOODOOOOOOOOOOOOOOOOOOO0ODOOO0OOOO0OOO0O0OO0O00OO0O0OOOO000OD
0000000000000000000 retuwrn() 0000000000 retwrn() 000000000000 0OO0DO
0000 retwrn() 000000000 OODOO

0000000000 0000000 200000000000 mydouble() 00000000 DOODOODOODO
0ONAOODOOODDOOODOOODOOOretwn() 000000000 D0O0DO0O0OODO0OODOOODOOODOOOO
0000000000 0DO00000O0U0DO00DO0ODO0UO0DOOOretwrn() D0ODO0OODODOODOODOODO
gogboobboobooboobboobooboobbooboobbooboboo

> mydouble <- function(x) { > mydouble <- function(x) {

+ if (!is.numeric(x)) return(NA) + if (!is.numeric(x)) return(NA)
+  return(2xx) +  2%x

+ } +}

0000000000 OO0 retwn() 000O00DO0ODOOO0OOOOO0DOOOODOOODOODOODODOODOOO
return() 0000000000000 00OC0OO0OOO0OOOCOOOOOOOOOOUOODOOOOOOOODOO
000000000000000000000*0

> mydouble <- function(x) { > mydouble <- function(x) {

+ y <- 2xx + y <- 2%x

+ return(x, y) + return( list(x, y) ) # 0000o0oo
+ } + 3

> mydouble(2) > mydouble(2)

$x [[1]1]

(1] 2 (11 2

$y [[2]1]

(11 4 (1] 4

goboobog...

* 000000000000 0000000000000000000000000

> mydouble <- function(x) return( list(input=x, output=2*x) )
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ooooooo0U0o ROOOODOOOOOOOOOOOOOOOOOOO0OOOOO0O0OOO0O0OOO000O0OO0

> mymultiply <- function(x) {

+ return( function (y){ x*y } )

+ }

> result <- mymultiply(2) # result(y) OODO 2*x
result(3)

[1] 6

\2

754 O0000OOOO0OODOOOO

00 invisible() 0000000 D0OO0O00ODO0OO0ODOODOOOOODOODOOOOOO

> mydouble <- function(x) {

+ return( invisible(2*x) )

+ 3}

> mydouble(3) # DO000O0O0O0ODO

> y <- mydouble(3) # J0D00ooOooobooboon
>y

(1] 6

755 O0000O0OO0O0OOO

00 stop() 0000000 DO0OOODOODOOOOOODODOODODODOOODOODOOOODOOOOOO
000D00000000D0000 warning() 00D000O0ODOO0ODOODOOODOOODOO

> mydouble <- function(x) { > mydouble <- function(x) {
+ if (lis.numeric(x)) { + if (lis.numeric(x)) {
+ stop("not numeric !") + warning("not numeric !")
+ } + return(NA)
+  return(2+*x) + }
+ } +  return(2xx)
> mydouble("a") + 3
000000 mydouble("a") : not numeric ! > mydouble("a"
[1] NA
O000D00O0OOnot numeric ! in: mydouble("a")

756 O00O0O0OOOOODOOOODOO

gooooboobuooobooobooboobboobooboobDbooboobbobboobuobLboOoD
000 try() D0DO0DO0O0OD0O0O0OO mydouble() 0ODODOO0ODOO0DOODOOOOOOOODOOD try()DODOODO
0000000000000000 mydouble() 00 00ODO0ODOOOOOOO

> mydouble <- function(x) {

+ if (x%%2 == 0) stop("error !") # 0O0OOODOOOO

+  return(2xx) # 00000 2xx OO0

+}

> result <- lapply(1:3, function(x){ try(mydouble(x), TRUE) } )
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> result # 000O00O0OO0O0cO0O0OOoOoOoobooOooo

757 UDOOO0OOODOO0ODOO <x—0OOOO

000000000000000000000000000000000000000000000000ooao
000000000 <- 000000000000000000000000000000000000 <—-000
00000000000 000000000000000000000000000000000D000000000
000000000000000000000000*or

> x <= 10 # 0000000 x

> myfunc <- function(y) { #yQoOooooooooooooo

+  x <-y + 999 # x 000 myfunc() 0OODOODOO
+ return(x) # 000000000000000000O0DO0000O0O0O0
+ 3 #

> X

(11 10 # 0000000 x000 10

> myfunc(1)

[1] 1000 # 000000 x4dbooOooobooo
> x # 00000000000000

[1] 10

gooboboboooooooob0bO0bob00oU0b0UO00D0OD w<-00O0O0D0ODO0ODUODL0OD <x—0OD
obooooooboooooooooboOooooooooodoooooooooOoooboo0oooonog

> x <= 10 # 0000000 x

> myfunc <- function () {

+  x <= 777 # 00 myfunc() OO0O0O0DODO0OO x

+ x <<= 99 # 0000000 x0O 9 00000

+  print(x) # 000000 x0O0OODoo

+ }

> myfunc()

(1] 777 # 00 myfunc() 0000 (OO x) OO

> x # 00 myfunc() OOOOOOOCOO x ODODODOODOO
[1] 99 # 000000O0O x0O0O0O 99

gooooooobobobbbbbobbbooodooooooooboobobobbobbbbb xooooobbobbbDbo
goobboboooooboboooboboooobbD xbbboooobbbooobboooobbbooooo
gooooooobooboboboooboobobobooboobobooboooboboboboboobobobOoo
assign(0 0, O, env=.GlobalEnv) 0 0000000000000 OOO

*10 OODOoO00D00000000000000000 000000000000000000000000000000000000

> myfunc <- function() print(z) # z 00000

> myfunc() #z 000OOO0OO0OO0O0000O00O0O

000000 print(z) : O0O0OOOO "z" O0OOODOOO

> z <- 999 # 0000000 =z 0O 999 00000

> myfunc() # myfunc() D0O0O000O0O00OOO0OOOOOOO...

[11 999 # 0000000000000 0000000 zOOOOOOO999 O0O0O0O0OO

ROODOODOOOODOOOOOOOOOOOOOOOOOOOO0ODOOOO0O0 ROOOOORjpWikiDOOOOOOOOODOOOOOOO
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v

x <- 10

\'4

myfunc <- function (O {
+ x <= c(1, 2)
x[2] <<- 0 #0000

+

+

print(x)
+ 3

> myfunc()
[1] 123
> X

(1] 10 0 # O00OOOOOOOOOO...

\

\4

+

+

+

+

>

000000 assign(x[2], 2, env
Ooooooooogo

x <- 10

myfunc <- function () {

x <- 1:3

assign(x[2], 2, env=.GlobalEnv)

print (x)
}

myfunc () # J000O0OD00OooO

= .GlobalEnv)

758 OD0OO0OOO0OOOOO

goobobboobooboobbooboo

> myfunc <- function(x) {

+ y <= 2

+ mydouble <- function(a, b) {
+ axb

+ )

+ mydouble(x, y)

+ 3

> myfunc(3)

[1]1 6

759 O0O0OOO0ODOOOODOO

gobobooooooooooooooobooooooooobooobooooooooooooooooooonoogn

0000000000000 D00000000000O00D00OUO0D formals() 000 alist() DODODODODO

> f <- function(x) 2*x

> f

function(x) 2#*x

> formals(f)

$x

> formals(f) <- alist(x=, y=3)
> f

function (x, y = 3)

2*x

> formals(f) <- alist(x = , y = 3,
> f

function (x, y = 3, ...)

2%x

#
#
#
#

ooooo
ooooooooo
00 body(£f) OODOO

OO0 £f 000o000ooooo

ooooo x, yOouobOy ODOO 30

f 00oogg

gobooboo

.goo
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7510 DOODOOOODO

goooobooooooooooobbbboooodooooobobboobobDoooooooDbbbooo
gogooooobbooooobbbbooooooobbbbooooobbbbooooobLDbbbboooooo
goobooobogogoobooboooobobooobboooobbooobbboooobbooobDboooo
0000000000000 D000D onexit() 000DO0DDODODDODOODOODOODODOOODOODOOD
00000000 onexit() 000000 OO0DO0OODOOOODODODOOOOOODOOOOOOOODOOOOO

> myfunc <- function(x) { > myfunc <- function(x) {

+  oldpar <- par() # 00 +  oldpar <- par() # 00O

+ par(col="red") + on.exit(par(oldpar)) # 00000000
+  plot(x) + par(col="red")

+ par(oldpar) # 00O +  plot(x)

+ 3 + 3

> myfunc(1:10) > myfunc(1:10)

onexit() 00000000000 ODOD0ODOOUDODOD onexit() 00000 ODOODOODDOODODO
onexit() 000 add 0000000000000 0add=TO0OD0O0OO0D0Dadd=FOO00OOOO0O0ODOOOODOO

on.exit(par(oldpar), add=T)
on.exit (par(oldpar), add=F)

on.exit()

# D0000Opar(oldpar) O0OODODO
# 00000Opar(oldpar) 0000000
# 0000000000o00oo

76 0O0ODOOODO

761 0ODODO0ODOODOOO

000000000 0000000000000000f0000000000000000DDOD* 00000
0O myprod) 000 n0 0000 100000000000000000DDOOO0O ifelse() 0000000

> myprod <- function(n) {
+ if (n==0) 1

+ else

+ }

> myprod(0)
(11 1

> myprod(5)
[1] 120

prod(1l:n)

> myprod <- function (n) {

+ ifelse(n==0, 1, prod(1:n))
+}

> myprod(0)

[1]1 1

> myprod(5)

[1] 120

7.6.2 0D0O0OOO

gooooboobuooobooobooboobboobooboobDbooboobbobboobuobLboOoD
oooooOoOoooOoOooDbooo 200000

*11 76 0000000000000 MO0O000DOOO0
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gogboobooobboob
gooboobooboobbooobooboobboobooboopbooboobboobDboobUoobOoOoo

oobooo ybOoOoOooDoOOoOooOoOOoOoooOoOoDoOo yOOOo 10oDOO0OO0ODOOO0ODODODOODDOOODOOOD

goboobooobboobooboobooobooboobbobobooboobboboboo

> mymultiply <- function(x, y=1) { > mymultiply <- function(x, y=x"2) {
+  return(x*y) +  return(x*y)

+ 3 + 3}

> mymultiply(2,5) > mymultiply(2,5)

[1] 10 [1] 10

> mymultiply(2) > mymultiply(2)

[11 2 (11 8

gobooobooboooboobobobobooboobobbobb0oboobobbobbo0oboobOon
gboboooooboobobobooooobooboboon

> myfunc <- function(x=2*y, y=x"2) {

+  return(x*y)

+ 3

> myfunc(2)

[1] 8

> myfunc ()

000000 myfunc() : OO0OO0OOOOOOOOO

00 missing) 0O OO0

00 missing() 00 0000000000000 0ODO00OO0OOOOOO0OOOO0OOOOOOODOOOODOO
0 missing() 00 000000000000 OOOODOOOOO TRUE OOO*2000000 missing() 00000
0000000000000 0D000000000000000000D0 yOOOOOOOODOODO missing() 00O
0 warning() 0000000000 OOOO

> mymultiply <- function(x, y) { > mymultiply <- function(x, y=1) {
+ if (missing(y)) return(x) + if (missing(y)) warning("y isn’t inputted.")
+ else return(x*y) +  return(xxy)
+ 3 + 7}
> mymultiply(2,5) > mymultiply(3,2)
[1] 10 1] 6
> mymultiply(2) > mymultiply(2)
(11 2 (11 2
OO0OQ0C0OO0OQO y isn’t inputted. in: mymultiply(2)

763 O00OOOOODOODOOO

000000 ¢() 0000000000 00OD02000 1000000000000 0O0ODOOOODODOOODODOOO
gooooooobooboobooooob ... gboooobobooboobooobooboboboobo .. boboobooo
gobooboboobobooboobooobooboobobooobooboobDb ...bbob 00 =0 0b00on

*12 000 Omissing(y) 0 y0OOODODOOOOOOODO0O0O00000000y <— matcharg() 000000 FALSE 000
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oooooooooooooocoooooooooboOooo

> f <- function(x, ...) { > g <- function(...) { > h <- function(... , y=1) {
+ label <- deparse( + args <- list(...) + 2%y
+ substitute(x) + return(args) + 3}
+ ) + 3 > h(&)
+ plot(x, xlab=label, ...) > f(1:6, "title") [1] 2
+ 3 (0111 > h(5,y=2)
> x <= 1:10 [1] 1 2 3 4 5 6 [1] 4
> £(x, ylab="y") # 000D [[2]1] > h(y=2)
[1] "title" [1] 4

764 O000O0O0OOOOC

00000 apply() 000000000000 D0D0O0D0OOD0ORODOODOODOOOODOOOOOOOOOODOO
000000000000000000000000000000000000000000000000000*30

goboobboobooboobboobooboobbooboobboobbooboobboobooboon
ugd

> apply(matrix(1:4,2),1,function(x) { 2*x } ) > f <- function(x, Fun) Fun(x)
[,11 [,2] > £(3, sqrt)
[1,] 2 4 [1] 1.732051
[2,] 6 8 > g <- function(x, Fun=sqrt) Fun(x)
> g(5)
[1] 2.236068

OO apply() 0DOO0OOO0OOOODOOODOODOOOOOOOODOOODOODOOOODOOODODOOOOODODOUOD
gogboobooobbobobooboobooo

> x <- c(1, 4, 9, 16, 25, 36) > mean(x)
> f <- function(x, Fun) Fun(x) [1] 15.16667
> f(x, F=function(z) {2x*z}) > F <- function(x, a=0) mean(x, a)
[1] 2 8 18 32 50 72 > g <- function(x, a, fun) fun(x, a)
> g(x, 0.4, F)
(1] 12.5

765 0U0O0O0ODOODOODOO

goooboooooooboobooOooboooobOOoOoOOobOOoOobOO0bOobOboOoOoOobObObocObOObDOobOOOoboO
oo0o00oooO00o00ooOoO00000o0O0oO0O000OO0OO0O00D0OOOOOD0OODOOOOOD ”x1” 00
"xlab” DO0000000xlim” O000000000000000000

> plot(sin, xlab = "x-title") # x 0000000000
> plot(sin, xla = "x-title") # "xla" 00O "xlab" OOOO
> plot(sin, x1 = "x-title") # "x1" OO "xlab" O0O0OO0O0O

Error in if (from == to || length.out < 2) by <- 1 :
missing value where TRUE/FALSE needed

000000000000000000000000000000000000000 match.arg() 0000 (00O

*IB 0pDoO000ORj)pWikiDDOOODOOODOOO0O0OO
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000000000O000O00D)00000DLO000O0ODO0O0LOODODODOODOO

> myfunc <- function(a, b, do = c("sum", "minus", "multi", "div")) {

+ do <- match.arg(do)

+ switch(do, sum = a+b, # do (match.arg 0O O0O)
+ minus = a-b, # 00000000

+ multi = axb,

+ div = a/b)

+}

> myfunc(3, 2, "minus")

[1] 1

> myfunc(3, 2, "mi") # 000"mi" OO0 "minus" OOOOO
(1] 1
> myfunc(3, 2, "m" # "m" OO "minus" OOOOOOO...

Error in match.arg(do) : ARG should be one of sum, minus, mult, div

(7 O0DOOoOoon

oobobooooooboooooboooooobooooboooooObocOoOobooOooooOoboOoOobooOoOoooOooOoOoDoboOn
00000000 Recall) D0DODODO0ODOO0DOOO0DOODOOOODOODODOOODOOODOOODODOOOOOODO
0000000000000 0000O000000000000DO0000000000DODO0O0O00OOOn Recall()
ooooooooooooooobobooooooboobooooboooo

> myfactorial <- function(n) { > myfactorial <- function(n) {

+ if (n <= 1) return(l) + if (n <= 1) return(l)

+ else return( n * myfactorial(n-1) ) ||+ else return( n * Recall(n-1) )
+} +}

> myfactorial(5) > myfactorial(10)

[1] 120 [1] 3628800

7.6 00ODOO0ODOOO

oobooboooooboooooooooobboooobooooooboboooooooooboooobooOooooOoboOoOoDoOn
gobooooooooooooooooooooooooboooooooooooooooooooooooooon
ooboooooobocooboooooobooobooOono

000000000000000000000000 cat() 0 print() 00000000000 OOOOOODOOO
goboooooooooooocoboobooooooooooooooooooooooooooooooooooon
0000000000000 00000 myfune() 0000000 0ODOOO0 xOyOsOOOODODDOOOODOOODO
oooooooo

> myfunc <- function(z) {

+ x <- rnorm(1); y <- rnorm(1)

+ cat("x =", x, "\n"); cat("y =", y, "\n") # 000 x0O yoooooo
+ ifelse( ((x < 0) ||l (y < 0)), s <= -x*y, s <= x*y )

+ cat("s =", s, "\n") # 000 s OODODOO

+ return(s*z)
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> myfunc(5)
1.305908
-0.1477835
0.1929916
[1] 0.9649579

»
]

<
]

000000 ROODODODOO0O0OO0OOOO0ODDOO0OO0OOOO0OOODOOODO

’ ud ERN

browser() goboooooboboooomoooboobooooobooboboD —-cOO0bOO0OOODO
n0000000000000000()D0DO0D00D0DOLD0LO0O0LOD0ODUOOOO
0000000000000 00whereDDODOODO00OO000O0OOreturn()0000ODOO
000oQOOOO

debug() 000000000000 00D0O00000000000n browser() DOOOOOO
000000000000 0D0O000000000 undebug() DODOODOO

trace() 0000000000000 0D0000000D0O000O untrace() DODOOODOOO
gooooogod

traceback() gogboobooboboobooboooobooboobo

debugger() ROODODODOODOODDOOODOODOOOOOOO

try() goboobooobboobuoobuoobbooboon

stopifnot() goboooboooboboobdoobooobuooboobbooobg

system.time() gogbooboooobooobd

Sys.sleep() gobooboobobooboobooo

00000 browser() 0ODOO0ODO0OOOO

+

browser ()

+ return(s*z)
+ }

> myfunc(5)

Browse[1]> 1s()

Browse[1]> x
[1] -0.3039924
Browse[1]> ¢

[1] 0.6327254

> myfunc <- function(z) {
+ x <= rnorm(1);

+ ifelse( ((x < 0) |l (y < 0)), s <= -x*y, s <— X*y )

Called from: myfunc(5)

[1] "S" Nyt llyll non

y <- rnorm(1)

# J00O0o0ooOo0obooboobon

#x 00000

# J0oOoooao

(9 OOOoOoo

791 O00OOOOOOODOO

0000000000 00CO000000D000000D x[1)0x2]I0--- 000000000OROOOO
assign() 000 paste() 0000000000 DOODOOOOOOODOOOOOOOOOODODOOOODOOOOOO
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> for (i in 1:5) assign(paste("A", i, sep=""), i) # 00 Ai 0O i000
> A5
(11 5

792 0000000000000 readling()

00 readline() 00 000000000000 0000O00OO0DOO0O0O0OO0OO0O0OOOOOOOOOOOOOOO
0000000000 Oo*000000000000000000000000O0DODODOODODOOO0O00000
00000000000 Syssleep(time) 00 00O0O0OO

> mytest <- function() { > mymessage <- function() {
+  ANS <- readline("1+27 ") + Sys.sleep(3)

+ if (ANS == "3") cat("Correct!\n") + cat("Hello.\n")

+ else cat("Wrong...\n") +}

+ 3 > mymessage ()

> mytest() Hello.

1+27 3

Correct!

readline() 0000000000000 O0O0OOO00OOOOO0OOODOOOOOOOOOODOODOOODOODOOODOO
000000000000 00000000 strsplit() 0000000000000 DO0OD wlist() 00DOO0OOOOO
00000000 asnmumeric() 0000000000 ? 00000000000000000OOOO0O0O myfunc()
oobooooooocoOoooOoocOoOoOoocOooooOobcO0oOoOoboOoOoOooOoCcOoOobOOoOooooOoboOooon

> myfunc <- function () { > x <= 1:5

+  Str <- readline("Enter : ") > y <~ get(readline())
+ as.numeric(unlist(strsplit(Str, ","))) X

+ } >y

> x <~ myfunc() [1] 1 2 3 4 5

Enter : 1,2,3,4,5
> X

[1]1 12345

793 0000O00D0DOmenu()

OO0 menu() 0000000000 0O0OODOODO choices000D00O0ODOOOODOODO,DOO titleOODOODOO
gobobooooooobobooobooogooboo,1,2,.. 0000000000000 bOO0bDOUObOODODbDODbDOOO
0000000000000 00O0UOUUUUO switchOOOOoOoOoOoOooooog

> switch(menu(c("1+2", "3%4"), title="0: exit") + 1, cat("Nothing done\n"), 3, 12)
0: exit

1: 1+2

2: 3%4

good1

(11 3

*4 QOQOOO00RjpPWikiDOOODOOO0O0O0O0
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080

oy

ROODODO0ODOOOOODOOOOODODOOODOOOOOOO

8.0 DUOOboOood

ROOOOO 10000 20000000000000000000000CCO0OO0O00000O0OOOODOOOO
000000000000 00000000000000000000000o0000 round() 00DO00ODOODOO

> 0.4-0.2-0.2 # 00Oogdog

[11 0

> 0.4-0.3-0.1 # J0odoooogag

[1] 2.775558e-17

> round( 0.4-0.3-0.1 ) # 00 round) OOOO
(11 0

8.1 O0ODOODO

ROODODOODOOOOOOOODODOOOOOOO

| 0O 0O

round(x, digits = 0) IEEE00O000O0D0O0O0O0ODOOO digits=000000
ogooomm

Ceﬂing(X) xDOoooooooooooo

ﬂOOr(X) xODOoooooooooooo

signif(x, digits = 6) digits 0000000000 (000000 60)00000

trunc(x) xOO Oo0ODOOooooooaoon

00 round() 00O0ODDOOO0OO0OO0OO0OO0OO0OO0OO0OO0O0O00IEEEODDODODODODOODODODODODDODOOOOOOOOOOOO
ooo*g

(1) 00000000000 100000000000000
(2) D0000O0O0ODO0O0OD 2000000000000000D0O0O0OO0OOLODOOOODOODOOODOO
(3) 00000 10000DOUObDOoDDUOOOO

000000000000 00000O0000000ODO000OO0OO (2)0000bDOU00D0O00DO0DDOOOOODUOD

*1 RjpWiki 000 M 00000000000 000000 00 0 0 0 (00D000)0000000



o8d 0000

87

0000O0000000DO0O0O0OO0 3)0DDb00D 245000 2000000000O0O0O0O0O 2500000000
JOo0o0oooooooooooooon

00 || round(2.4) | round(2.5) | round(3.5) | round(2.51) | round(3.51) round(3.46)
ood 2 2 4 3 4 3
0o || ()ooo | (o000 | (2000 | ()ooo (Hooo | (1)o @)ooo
82 0OOOOO
goooooboboboooogog
| 00 | 00
beta(a, b) 00000 B(ab) = (gamma(a)xgamma(b)) / gamma(a+b) 000 ab 00000
oboooooooooboobom
Ibeta(a, b) 0000000000000 000000Olog(beta(a,b)) 00DODO0DO0ODOOOOODO
oood
gamma(x) gbooooobg xbooooboboboooooooboobobCoobo nobOoOO
0 n! 0 gamma(n+1) 00000000
lgammal(x) 000000D0000000D0000000 log(gamma(x)) 000000000000
gooo
digamma(x) lgamma 000000
trigamma(x) lgamma 000000
tetragamma(x) | lgamma 000000
pentagamma(x) | lgamma 000000
choose(n, k) 0000 mO0O0 kOODODOODOOD)Ogamma(n+1) / ( gamma(k+1)xgamma(n-
k+1)) 00000000000 n,kODODDODOODODOODODOOODODODOOOODODOOO
goo
Ichoose(n, k) 0000 choose(nk) 000D DODOO0DOOOODOOlog(choose(nk)) DOODDODOO
goboooobogn

o0
DDDDDDF(S):/ *le®dz 0000000000
0

oora =1

@O I(3) =T
@0 T'(s) = (s = 1)
@O0 T(n)=(n-1

I(s—1)
)!

(s >1)
(n:00)

O0000oo0oooooR0000oooo gamma(n+1)DDDDDDD*QDDDDDDDDD factorial() O O
0000000000000000000000000000000000000000 3' 00000000000

oooood

> factorial(3)
[1] 6

*2 prod() 000000000000 0OOOOOO =100000000000
O000lgamma(n+1) 00000000 lfactorial(n) DOOODODOO
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83 OUODOOOO

U0 xdoboobb nn0goboooboobboobobooog

’ ug

‘ oo

bessell(x, nu, expon.scaled=F)

gooooo 1ooooboooODbOoO0

besselK(x, nu, expon.scaled=F)

ooooobo 2000000000

besselJ(x, nu)

01000000000

besselY (x, nu)

02000000000

gammaCody(x)

O00000gamma() 0000000000 gamma() 000000000

84 UO0ODOODO

x000 f(2) 00000 f(x)=000000000000000000000O0OO0

oooo f(x)

gobooboobbog 00
oboob0o 000000

ROODOO uniroot() 0000000000000 0000<2<200000000f(z)=2>-200000 2
ggbooooogn

> f <- function (x) x°3 - 2
> uniroot(f, c(0, 2))

$root

[1] 1.259934

(ooo)

# (1) £(x) OO0
# (2) 000 c(0, 20000
# $root DOODODOOOO

00 z=0.69314570000000

g8b ODUODOODO

00 polyroot() 0000000000000 D00000000O00p(z)=5+4z+2>000000000 c5
4,1) 00000

> polyroot(c(5, 4, 1))

(1] -2+1i -2-1i

> polyroot(c(1l, 2, 1))

[1] -1-1.665335e-16i -1+1.665335e-161

# x"2 + 4x + 5

]
o

gad

#x"2+2x+1=000

# J00goobooboobooooboo

0000000000000 000DO000000000DO0O0D00OD round() DODO0DOODODOO

> round( polyroot(c(l, 2, 1)), digits=3 )
[1] -1+0i -1+0i

#x"2+2x+1=000
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8.6 DUODOODO

0000000000000 00oooo00oo00o0oDo000o000DoD000ooDoOoROOOOODOOO0
oboboooobooboboboooooooboboooo

> f <- expression( a*x"4 ) # (1) OO0 £ 000000 expression() DOOOOODO
> D(£f, "x") # (2) D(f, OODODOOO) DOOOO
a*x (4 * x°3)

000000000000 00000 DbOoO0ooo0oooooooo

> DD <- function(expr, name, order = 1) {

+

if (order < 1) stop("’order’ must be >= 1")

+

if (order == 1) D(expr, name)

+

else DD(D(expr, name), name, order - 1)

+ 3

> DD(f, "x", 3) # D(O0O, O0DOOOO, OOOoOooOoO)
a* (4% (3x(2%*x)))

0000000000000 000000D00 deriv() DODOODODOODO

> g <~ deriv(” exp(-x~2), "x", func=T) # (1) 00 £ = exp(-x"2) O0OOO0ODOOOO gOOO
> g(2) # (2) g(2) 000DOD0OOOOO
[1] 0.01831564 # £(2) 0OOOOO

attr(,"gradient")
x

[1,] -0.07326256 # £°(2) 00000

00 deriv() 0000000000000 0

| 0000 | 00
f <— deriv(” x"2, 7x”, func=T) »»0 20000000000 f(x)0000
g <— deriv(” x"2xy, ¢("x”,”y”), func = TRUE) r?y 00200000000y 00000000

00000000 g(z,y) 0000
h <— deriv(™ x"2xy*z, ¢("x”,”y”), function(x, y, z=4) ) | 2%y2 0020000000 @My 00000000
00000000 h(z,y,z=4)0000

*3 deriv() 0000 hessian=T 0000000 hessian 0000000000000000deriv(... , hessian=T) 0000000000
deriv3() 00DOO0DOO
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8.7 DOODOO

0000000 integrate() 00D O0OODO

f <- function(x) x"2 # (1) DO00ODOO0OO00Oo

integrate(f, 0, 1) # (2) integrate(D0O, OODODOOOO, DOOODDOO)D
0.3333333 with absolute error < 3.7e-15 # 00O 0.3333333

ROODODO0OODOOOOOOOOODOO0ODOOOOODOOOODOOOOOOOOOOn

> integrate(sin, 0, pi)

2 with absolute error < 2.2e-14

00000000 Inf0000000000000D0000D0O00D0000000000000O00 —Inf(—o0) ~
196 00D O0O0O0O0OOOODO

> integrate(dnorm, -Inf, 1.96) # dnorm: 000000000
0.9750021 with absolute error < 1.3e-06

00000 adapt 0000 adapt(0 0, lower=00000, upper=00000, functn=000) 0000000
0000000000000000adapt() 000 value 00000 Orelerr 000000000000000000
00 eps 0000000000O0O0O0OOOODOOO0O

\4

library(adapt)

\'4

mynorm <- function(z) {

+

(1/sqrt(2xpi)) “length(z) * exp(-0.5 * sum(z * z))

+ }
> adapt(2, lo = c(-4,-4), up = c(4,4), functn = mynorm)

value relerr minpts lenwrk ifail
0.993709 0.0004751543 263 73 0

8.8 UDDOOODDOODOODO

optim() 00 0000000000000 0O0ODO0O0OOOO0O0OD0OOOOO control O fnscale 0000000
0000 (O O fuscale=—1) 0000000000000 DO0OOODO0OODOOOOOOODOODOOOOODODOODOO
goooodooooOdoD 10000000 300000 UopDoUUoooUUDoUdUdpbOUoDOoOOo

> LL < - function(p) choose(10,3)*p~(3)*(1-p)~(7) # O0OOOOO

> optim(c(0, 1), LL, control=list(fnscale=-1)) # 000 (0, 1)
$par

[1] 0.30 0.95

$value # l0ddoooooooooo

[1] 0.2668279 # 0000 0.3
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8.9 ODUODOODOO

O00000000000000 nim() 0000000000000 0D00000O0ODODOOO00O*O000000
ooooooo 1ooooooooo soooooOoO0OO0OO0O0O0OO0OO0OOOOOOOOOpOODODOODODOO

> LL <- function(p) -choose(10,3)*p~(3)*(1-p)~(7) # 000000

> nlm(LL, 0.5, fscale=-1) # 000 0.5
$minimum

[1] -0.26683

$estimate # D00oOoOoOooooooooo

[1] 0.3 # 0000 0.3

8.10 DDOOODO

00000 lpSolve DO OO0 lp() D00O0DDDOO0OOODDOOODODOOOOOf condzy + 229 + 323 <
9, 3x1 + 222+ 223 <150000000fobj0x; +92,+2x300000000000000

library(1pSolve)

f.obj <- c(1, 9, 3)

f.con <- matrix (c(1, 2, 3, 3, 2, 2), nrow=2, byrow=TRUE)
f.dir <- c("<=", "<=")

f.rhs <- c(9, 15)

vV V V V VvV VvV

lp ("max", f.obj, f.con, f.dir, f.rhs)

Success: the objective function is 40.5

> 1p ("max", f.obj, f.con, f.dir, f.rhs)$solution
[1] 0.0 4.5 0.0

gobooooooooobooooooooooboooooooooooooo

> 1p ("max", f.obj, f.con, f.dir, f.rhs, int.vec=1:3)

Success: the objective function is 37

> 1p ("max", f.obj, f.con, f.dir, f.rhs, int.vec=1:3)$solution
[1] 140

8.11 OO0Oooooogd

00 ft() 0000000000000000000 convolve(x,y) 0 20000000000000*0

> x <- 1:4

> fft(x)

[1] 10+0i -2+2i -2+0i -2-2i

> fft(fft(x), inverse = TRUE)/length(x)
[1] 1+0i 2+0i 3+0i 4+0i

* 0000000000000 0000000000000000(00 00 0000000)0000000
*$ 00 mvfff() D0D0O00O0
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090

Juoogudoootdd

9.1 O0ODOODOOOO

000000000 dataframe 0000000000000 0OOOOOOOOOOOOOODOOOOOOOOO
goooooooooooooooooooooooo 1000000000000 000000000 200000
0000000000000000000000000D00000000000000000O0OOOOO0000*0
obooooobooooooooooboooooocooooooooooooooooooooooooooooon
ooooocooooooobooooo

coobooooooooobooooooobooooo
cooboooooooooboooooobooooo

oo 00 oOod
F coooocooooon
; e ooooog
2| F 162 | 55
3| M 177 | 72 ooooO0oooboooooooooonon
4| M 173 | 57 coobooooooocooboooooon
5| M 166 | 64

911 OOO0OOOOOOO
000000000000000000000000000

e U0 DO0ODOODLOLOODDOUOODLOODDOODOODLO
e JOIDUDODOLOOLUDODUODLODODLOLDODLDOD

0000000000000 00 0000000000000 0000000000O0O0On data.frame()
0100000000000000%*0

[>data.frame(|][]1=[ll]|:|[|1,[II:J2=DI:J[ID2,...) )

00000 data.frame() DO0OODO0O00O0OO00ODOO00ODOOO

*1 0000000000000 00000000000000000000000000000000000000000000000000
gooooooooooOoOoO0OO0OO0OO0OO0O000O00O0OOoOoOOoOOOO0OO0O0O00

*2 0000000000000 000000000000000000 x0000000000000000 data.frame(x) 0000000
gooooO0o0oO0o0ocO0O0bOO0O0OOOO0OO0OO0OO0OO00000
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—_— n n n n n n n n n n f \
> sex <= c("F","F","M","M","M") SEX HEIGHT WEIGHT
> height <- c(158,162,177,173,166) . F 158 51
> weight <- ¢(51,55,72,57,64) 5 T 162 55
> ( x <- data.frame(SEX=sex, HEIGHT=height, WEIGHT=weight) ) 3 M 177 79
4 M 173 57
5 M 166 64

N J

uobob0O000 xO00000Omooooobo0 xOooooooOoOo0ooooooOo0o00bO xobooooooooo
000000000000000000000000000000000S$S000000000000

> x$HEIGHT # 0000000 x 00000000

[1] 158 162 177 173 166

> mean( x$WEIGHT ) # 0000000 x 00000000000
[1] 59.8

> x[,2] # 0000000 x0O 20000000

[1] 158 162 177 173 166

9.12 J0OOODOODOODOOO

gooooooobobooooooobobobooooooboboboboooooboobOoboboooooo
000000000000 summary() 0000000000000 0O0O0O0OO00ODOOOOODOOOOODOOOOOO
obobO0o0o0oO00O 10000000Db00bO0000 30b0b0oo0ooOooooOobOoooo

> summary (x)

SEX HEIGHT WEIGHT

F:2 Min. :1568.0  Min. :51.0

M:3 1st Qu.:162.0 1st Qu.:55.0
Median :166.0 Median :57.0
Mean :167.2  Mean :59.8
3rd Qu.:173.0 3rd Qu.:64.0
Max. :177.0 Max. :72.0

92 ODO0OOOOOOOOOOOO

00 5000000000000000000000OsexO00heighttl 000weight0 00000000

’ sex ‘ height ‘ weight ‘

F 158 o1
F 162 95
M 177 72
M 173 o7
M 166 64

920 UDOOODDODOODOO

gooobOobooooOoooboooobOOoboOoOoocO0oboOoOooOoOo0obOOobOOoOoOoOobOO0bOOoObOObOODODbOO
DoopoooooooobD 22000000000
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921 00O0O0ODOODOOODOODODOOUODOODOOD

cobobooooooocoooooooOoooOooOoOooOooOooOoOoOobOOoObObOO0bObOO0bOOoOobOOoOobOOoOoOooOoOon
0000000000000 0000000000000D000Ox <— read.table(”C:/data.txt”)

(1) data0l.txt 000D 0OD0OO0O0ODOO readtable() 0OODOODOODOODO data0l.txt
0000000ooo0oRO0ODOOO0DOOOOOOO e F 158 51 N
> ( x <- read.table("dataOl.txt") ) F 162 55
Vi V2 V3 M 177 72
1 F 158 51 M 173 57
2 F 162 55 M 166 64
........... 9 )
(2) data02.txt 000001 0000000000 DOODOOOOOO data02.txt
read.table() 000 headerD 0000000000 TOOODODO a , ) N
sex height weight
> ( x <- read.table("data02.txt", header=T) ) F 158 51
sex height weight F 162 55
1 F 158 51 M 177 72
2 F 162 55 M 173 57
................... Y M 166 64 )
(3) data03.txt 000001 0000000020000000000000 data03.txt
O000D0 header 0 TOOskipO0OOOOOOOOOD 1000000 K###dataOB‘tXt N
> ( x <- read.table("data03.txt", header=T, skip=1) ) sex height weight
sex height weight F 158 51
1 F 158 51 F 162 55
2 F 162 55 M 177 72
3 M 177 72 M 173 57
................... L M 166 64 )
(4) data04.txt 00000000000 DO0OOD MOODOODOODODOOOOO data04.txt
oo SepDDDDDDDDDDDD”’”DDDDDDDDDDDDDDDD/sex,height,weight N
000000 " 0oooooooo F,158,51
> ( x <- read.table("data0O4.txt", header=T, sep=",") ) F,162,55
sex height weight M,177,72
1 F 158 51 M,173,57
2 F 162 55 M,166,64
................... Y )

00 read.table() 00000000 DODOOrow.names O colnames 1000000000000 DO0OODOODO

0Doooo0oooooooo*®o

*3 00 rownames(0 000000 0) O colnames(00000000)000000000000000000000000000
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EEN ugd
sep =77 gbobooooooboboboooog
skip =0 0000 ooooooooo0oooOoooOooO0oDbDoOoobooooboooDbobO 1000
gooo
nrows = —1 gooooobobobboooo obbbbooobbobbboooobbbbod
oooooo)o
header = F 0l0d00oobO0oobo0oobooobooob0o0obOobO0o0obDooboDoooboooo

rFooOoooooooooooo

comment.char

O000o0o000oooO0o0ooo0 #0000000

row.names=NULL

loooooooooooooopboooo

row.names="00"

ooobOooobooooooOooOoOooOobocoOoooOoOoOoOoOoboOoOoboOoOoOooOooDoog
ooooooobooooobooog

row.names=01 [ [

goobogo

row.names=0 000000

gobooboobboobuooboobobooboobboobooboon

OO00Oread.table() 00O 000000000000 ODODOOOOOOOOOOO

’ oo ‘ header ‘ sep ‘ quote ‘ dec ‘ oo
read.csv(’00000O7) T ” P\ 1 000o00oo0oooon
read.csv?(”l]l][ll]l]”) T 7 P\ 000000 0o0oo0oooogooon
read.delim(”[l good ”) T PG| ¥ | V) | D0O00oogooo
read.delim2(’000007) T PG| ¥ |7 | 0D00000g0ooooooooo
read.fwf(”[] good ”) F P¥tT | V¥ |7 | 00000000 widths O0OODOODOOOO

000 data04.txt OO0 read.csv() DOOODODOOODODOOOODO

> x <- read.csv("dataO4.txt")

000 10 WindowsOOOOOODOOODOOOOOOOOOOOOOOOOOOOOODOOODOODODOODOODODOOOO
00000000000 000000000000000000000000 data0O0O00O0O0OO0O0O0O0O

000 20 Windows O R O007C:/data.txt” O "C:¥data.txt” 00 0000000000000 0O0O0O0OD0O ¥
00000000 ¥0 ¥ooooooooo

922 0O0O0OOOUOUOUOUOOOEXCELODOO

csvO0OOOOOOOODOO

00000 readeesv() 0000000000000 O0OOOOODO databdtxt 00O OOOEXCEL DOOO
000000000 [DO0O0]0 [00)0D00[D0000000]0D000000O0000DO0O00O00OOOD OO
0000000 [CSVvO0OO0L0OD)0000O00o00OWindows ROOODOOODODOODOODO
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091 00000

092 csvOoOoono

Mac OSX 0O ROOOOOOODOOODOOO

Bra Mina S Ee .
o _t (e e
i - ns
i [
3 =| == |

|_—.~-.;..-u

i

f
| Fovenes
| s-vw

. |

| e e

1 e

a

| wa .|
| mnws

| b —— mr— 1
! |1 e xSt i

093 00000

094 csvOQOoono

00 EXCELOOOODOOODODO0OOO0OO0D0DOO readeesv(’000007) 0000000 data05.csv
00000000000 read.esv() 00O header 0 FOOOODOOO col.nameSDD/F 168. 51 A
goboobogoo F, 162,55
> ( x <- read.csv("data05.csv", header=F, M,177,72
+ col.names=c ("SEX","HEIGHT","WEIGHT")) ) M,173,57

SEX HEIGHT WEIGHT M,166,64
1 F 158 51
2 F 162 55

- /

EXCELOUODOOOOOOOooooooo
OOOEXCELOOOODODOOOOWindows 000000000000 00OO0O0DODOO0OO0OO0OOMacOSX O
gobooooobooooooooooooooooooon

T b 'nu._t.: LIS AL

P
HI

(E Miciasatt Excel ~ daabamests |

) rrinil [ BED BTN #AS 8T -aD

O & o mEres oz | g E
AT

A EERERISLTROMEN G

|1 | P "

(51 e

i - HONRRY n

_:_ “m ol | T4 "

- LT .

LI
Lo S
F=FRERERE T
L ¥
|

L

0 9.5 Windows OO0 096 MacOSXOOO




090 000000000000 98

(1) Windows 0000 000000000000D000D0000000O0O0*O

> x <- read.delim("clipboard")

gogboooboboobuooboobobooobooboon

> x <- read.delim("clipboard", header=F)

(2) MacOSX ODOOOO0ODODOOODOOOOODOO

excel.mac <- function(...) {
args <- c(...)
temp <- matrix(scan(""), byrow=TRUE, ncol=length(args))
data <- data.frame(temp)
colnames(data) <- args

return(data)

3

00000 excelmac(’O000 17,000 2°,000)00000* 00000000000000000O

> x <- excel.mac("X", "Y")

1:

000000000000000000000000000000(Enter)000 20000000000000
0ooo

xsO0OOOOOOO0ooooo
gregmisc 100000 Perl™00000000xsO000000000000000000000O000 read.xls()
000000 sheet 0000000000 O0ODOOOOODO

> library(gregmisc)

> x <- read.xls("data01l.x1ls", sheet=1)

03 ODOOOO0OOOoOoDooOoog

0000000 xO00000000000000000%*0

| oooo | 00
x$000xP007|0x[[’00”]] 00000000 SEXO WEIGHT 000000000

x[2], x[[2]] 2000000000000000

x[3, 2], x[[3, 2] 30 200000000000000

x[[3,7007]), x[[3, 700 "]] 000000 300000000000000

x[e(1, 2)] 1000 20000000000000000x],¢(1,2)]0000
x[c(3, 4), ] 3000 40000000000000000

x[c(1,3,5,.2,4), ] 000000 ¢(1,3524) 00000000000

** 000000000000 0000000C0R Editor 000000000000000000CO0000000000
0000000 write.table(x, ”clipboard”, sep="%¥t") 0000 x 0000000000000 O0O000O0O0DOOODO EXCELOOO
oooooOoOoO0OO0OO00O00000oo
* 000000000000000 Windows O ActivePerl 00000000000000000
*6[]DDDDDDDDDnameSDDDDDDDDDDDDDDDDDD
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] 0000 \ 00
x[ ,¢(T,F,T)] 000000 o(T,F,T)0 TRUEDOOODDOOOODDOOO00D
X[x$SEX=="F" | 000 FOOOOOOOOOOOOO000000

x[x$SEX=="F" & x$WEIGHT>50,] | 000 FOOOODOOOODO 50kg 0000000000 DOOOOODO

oooooooboooooo

(1) 0000000000000000000000000000000000 x[[2]0 x[2)000000000 2
0000000000000000

> x[[2]] # 0 200000000 ->al2] ODOOO
[1] 158 162 177 173 166
> x[c(1,3,4),] #0 1, 3, 4000000
SEX HEIGHT WEIGHT
1 F 158 51
3 M 177 72
4 M 173 57

(2) 00000000000 D0O0O0OO0 NULLOOOOOOOOO

> x[[2]] <- NULL # 020000000000 NULL OOO0O0O0OOx <= x[,-c(2)] DOOOOO
> X
SEX WEIGHT
1 51
2 F 55
3 M 72
4 M 57
5 M 64

94 DODOOODOOOODOOODOODOOOOOO

gooooooobobooobooboobobobooobo0 x0yobobobooooom

| Dooo | 00

ncol(x) x0000000000000

nrow(x) x00000000000000

names(x) xO0O0oOoooooo

rbind(x, y) x0 y0OOOOODODOOOOxO yOOOOOOOOOOM

cbind(x, y) x0 y0OOOOOODOOOOxO yOOOOOOOOM

data.frame(x, y) x0 y0OOOOOODOOOOxO y0DOOOOOOO M

merge(x, y) x0 yOOODOODOOODOOOOOO0000 al=TO00000000000
000al=T 000000000000000000000000000
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O000000oooo Do DbD200000d

>
>
>
>
>

id <_ C("A","C","E");
D1 <- data.frame(ID=id, H=height)

height <- ¢(158,177,166)

id <- c("A","B","D","E"); weight <- c( 51, 55, 57, 55)

D2 <- data.frame(ID=id, W=weight)

D1 D2
[ » w ary
1 A 158 1 A 51
2 ¢ 177 2 B 55
3 E 166 3 D57
4 E 55
\_ \_

J

~

(1) 2000000000000000000000000 merge() 000000 merge() 0 200000000
O000oo0o0ooo0ooo00 IDO0D0O0O0O000O0O000O0O0000O000000000000 allOO
pgooooooooIboooOoDoOOODOOOOOOOOOOTOOOOOOOOOOODOOOODOOOOO
00000 &llx O &llyOOOOOODODOOOOOODOOOOOODOOODOO0O0O0O0O0DO00O0O0OO0OO0OOO

> merge(D1, D2)
ID H W

1 A 158 51

2 E 166 55

ID H W
A 158 51
C 177 NA
E 166 55
B NA 55
D NA 57

g W N

> ( D <- merge(D1, D2, all=T) )

00 byOO20000000000000000000000C0 IDODOOOODOOOODOOOOOOOOO0O
00 2000000000000000000000 byxO byydOOOODOO*O0OODODOOOOOOOO
0000000000000 0000 byO byxO byyOOOODDODODOOOOOOOODOODOOmerge(D1,

D2, by.x=names(D1), by.y=names(D2), all=T)0

> ( merge(D1, D2, by="ID", all=T) ) > ( merge(D1, D3, by.x="ID", D3
ID H W + by.y="Num", all=T) ) Num W
1 A 158 51 ID H W 1 A 51
2 C 177 NA 1 A 158 51 2 B 55
3 E 166 55 2 C 177 NA 3 D 57
4 B NA 55 3 E 166 55 4 E 55
................ L

J

(3) 0000000000000 order(000DODODOD)000ODODOLDODUODODOODODOOUOD
0000o0000O000L00O000 ()OoOoooLoOOoOooLOoOODoo DO WOOOODODODOOOODOOOD

> sortlist <- order (D$W)
> ( D4 <- D[sortlist,] )
ID H W

A 158 51

E 166 55

B NA 55

D NA 57

C 177 NA

N O W

* 000D byx 0000000 OD00O0O0O0OO000 sort0 FOOOOOODOODOOOOOO0OO0O0O000000000 M
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(00) D000O0OO00O0O0O0O0U0ODO0O0OLO0ODO0OOO0ODUOODOODUOODOODOOOOODOO

> D4

ID H W
1 A 158 51
2 E 166 55

> rownames(D4) <- c(1l:nrow(D4))

0000000000000 000000 order(10000, pmax(10000,20000)) 00000000
goboooboboobuoobooboboooboobogoo

> sortlist <- order(D$W, pmax(D$W, D$H)) > sortlist <- order(D$W, pmax(D$W, D$ID))
> D[sortlist,] # W ODOOOOOO > D[sortlist,] # W ODOOOOOO
ID H W #Wwoooooooooo ID H W #WwoUOooooooooo
1 A 158 51 # HOOOOOODDODOOO 1 A 158 51 # ID JJ00ooogoooo
3 E 166 55 4 B NA 55
4 B NA 55 3 E 166 55
5 D NA 57 5 D NA 57
2 C 177 NA 2 C 177 NA

05 O0ODOO0ODOOOO

| nooo 00
head(x, n=a) 0000 a000000000O0 taillx,n=b) 00000 bODODOOOOOO
na.omit(x) NAOODOOOODOOOOOOO naexclude() 00000000000

transform(x, y=0)

gooogob xgbboo yoooooo

x[sapply(x, 0000 0O0)]

0000000 TRUEOOODOODODOOOODODODOOO0ODDOO x([sapply(x,
isnumeric)] 0000000000000 DODOOOO

subset(x, 00 0)

0000000000000 D00000 subset(x,id>3) 000 id>3000
ooboooooon

subset(x, 00 0,0000)

00000000000000000000000000000000 subset(x,
id>3, c(idsex)) 000 id >3000 7id” 0 "sex” 00000000

split(x, 00DO0OO)

goboooobooboobboobooboobbooboobbooboo
0000000000000 DO00DOsplit(x, x$w==70) (I

by(x, x$0 O, mean)

U000 x0O00O00000000Omean JOO0O0O0o0oooOOOOOO
aggregate() 00000000 DOOOOODO

reshape(x, ...)

goboopoboobooboo

O00ooooo0ooo DFOoOOooo DF
>id <-c¢(C 1, 2, 3, 4, 5) # ID 4 IDSEX H W R
> sex <- C("F","F","M","M","M") # 00O (FDDMZD) 1 1 F 158 51
>h <- c(1568,162,177,173,166) # 00 2 2 F 162 55
>w <- c( 51, 55, 72, 57, 64) # 00O 3 3 M177 72
> DF <- data.frame(ID=id, SEX=sex, H=h, W=w) 4 4 M 173 57
5 5 M 166 64
- %
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(1)

(2)

oo0o0oooo bFOODOoOwOOOoOUOUOoOoOoOUOUOOoOoOooUooooOUoUOooooOOoUooooDooOoo
sum() 00 0000000000000 0O0O0O0OO0OD ¢g0D0000ODO0OO0ODOODOOODOOOWOOOO 10000
godboobobooboobooobooboon

> sum(DF$W) # 00000000
> DF$W <- DF$W * 1000 # 000000 kg OO gOOOOO
> DF

ID SEX H W

1 1 F 158 51000
2 2 F 162 55000

DFO0O0O0D0O0D GUOOOUOOODOOO0DO0O transform() 0000000000 O0OOOO

> transform(DF, G=DF$W * 1000 ) # DF$G <- DF$W * 1000 0 OO
ID SEX H W G

11 F 158 51 51000

2 2 F 162 55 55000

00000000000000000000000 ifelse(00, TRUEOOOOODODO,FALSEOOOOOO
0D)ooooo

> DF$W <- ifelse(DF$SEX=="F", NA, DF$W) # 00O OOOOO (NADO)

> DF

IDSEX H W
1 1 F 158 NA
2 2 F 162 NA
3 3 M177 72

0000000000000 DO0000DO0000ODO000O0O0O0U0ODO [JOD0OD0O0ODO0ODOOO

> cond <- (DF$H >= 170) # OOOHOD 170em DO OOOOO
> DF[cond,]
ID SEX H W
3 3 M 177 72
4 4 M 173 57

00 subset() 000 sapply() 0D O0D0O0O0OO0OOOO0OODOODOODOOODOODOOOOODOOO

> subset (DF, ID>3) # ID >3 0000
ID SEX H W

4 4 M 173 57

5 M 166 64
subset (DF, ID>3, c(ID, SEX)) # ID >3 00O "ID" O "SEX" OO
ID SEX

4 M

5 M

v o

S
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(4) 00000000000000000000000 as.factor() 000000 00*0

> DF$ID <- as.factor(DF$ID) # 00000000OO00oob0oboboooooo
> DF [sapply(DF, is.numeric)] # 000000000
H W
1 158 NA
2 162 NA

(5) IDO0DO0OSEXD000DDOON0DUOONDDODOODDDOODNDD reshape() 0DODOO

> reshape(DF, timevar="SEX", idvar="ID", direction="wide")
ID H.F W.F H.M W.M # HFOOOODODODOW.FOOOOOOOHR.MODODDODOODDODW.MOOOOOO
168 51 NA NA
162 55 NA NA
NA NA 177 72
NA NA 173 57
NA NA 166 64

g W N
a oW N -

9060 U0DDOODDOODOOODOOO

(1) 0000000000000000 edit(CO000000)0000*0

> DF <- edit(DF)

gobbooobuooooooboooboobboobooobboobbooboobboobboboboobob
gboboboobooooboboboboooooobobobobobooooon

IR ¥ —5T745 1ol x| 000k TrrAz o
D 55X [0 [W FuEmE=E T
T |F  [i58 |5l e
202 F 162 55 2 F 162 55
3 |3 M 177 72 3 M 177 72
4 14 1] 173 5 4 M 173 57
5 |5 M 166 |64 5 M 166 64
y
097 000O0O0D0OODOOOD WindowsO 098 DOO0ODODOOO0OOOOMac OS XO

(2) 0000000000 DOUOO0OOOOO0OOODOO0OO0E20000000000000DOOOODOOOOOO
000000000000 0000DO datamatrix() 00 0000000000000 OOOOOOOOODOO
000000 str() 000000000000 0OO0ODOO0OOOO0OO0OOO0 isdataframe() 00000000

*8 JOO0D000000000 as.ordered(A$id)[0000000000000 as.single(A$w)0 0000000
* QoOoo0oO00DO0000O00o00 data.entry(DF$ ID, DF$ SEX) 00 0000000000000 000O0O0O
data.entry(..., Modes = NULL, Names = NULL) 0 Modes 0000000000000 Names 0000000000000 OODODOOO
oooo
dataentry(data, modes) 0 data 0000000000000 0000Omodes 000000000000000O0O0O0O0ODO (list()DDODO)
goooooobooooooo
de(..., Modes = list(), Names = NULL) 0 OO0 20000000
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907 ODOOODO
971 ODOO0OOOODODOOODODOO

ROOODODOODODOUOOODODOOOOOOOODOOODOO data() D00D00O0O0OODO0ODOOOOOOOOOO

> data() # 000000000000

> data(package ="base") # base UOUODOODOOOOOOOOODO

> data(USArrests, "VADeaths") # OO0 USArrests, VADeaths 00O OO
> help(USArrests) # 000 USArrests O0OOOOOO

oooboooooboooooooooboboOoooooooboboOooooOoooobobocOoooon

> library(nls) # 00000 nls OOOOO
> data(Puromycin) # 000 ‘Puromycin’ OOOOO

9.7.2 attach() O detach()

000000000000000000000000000S$0 00000000 $0000000oooooon
godoooooobobooooooooboooooooob oo oo oo boooobDoooooboo
00000000000000 myframe O myframe$u O myframe$v Omyframe$w 00 000000000000
goooooooo attach(myframe)DDDDDDDDDmyframe$DDDDD wvdw ODoooooooooo
Ooododooboooooooodooboo0D wOoooboooOoooooboooOooooob0oooboOoooooo
ooao

>u <- 1:5; v <- rnorm(5); w <- u*xv

> myframe <- data.frame(u=u, v=v, w=w)

> attach(myframe)

>w # attach() OO0OOO0OOOOD wOOOODOOODOUOODOUODOO
[1] 0.166959 1.676896 1.435630 -3.024536 1.859002

00 attach() 0000000000000 O00O0OO0O*O

> data(sleep) # RO0U0O0DO0O0U0OO0OOO0O0UO (W.S.Gosset (Student) OOOO0ODOOOOO)
> attach(sleep)
> extra # attach() OOO0OOOOODO extra O0O0OOOOOOOODDODOO

[1] 0.7 -1.6 -0.2 -1.2 -0.1 3.4 3.7 0.8 0.0 2.0 1.9 0.8
[13] 1.1 0.1 -0.1 4.4 5.5 1.6 4.6 3.4

000000000000000000000 detach() 000000000000 Omyframe$u00000000
00 wd0O0O0O0O0OCOOO0O00000000D0DO0O0O00O0O000000000DODO0O00O0O00O00000 attach

*10 00 attach(myframe) 000000000000 000000000000000000000000000000000

> myframe <- list(c("a","b","c"), c(1:3), c(1.5,3.2,-0.8))
> names (myframe) <- c("u", "v", "w")

> attach(myframe) # attach() 00D0OO0O0ODO

>u #u J0000ODOODOODOODOD

[1] ngn onpn nen
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00000000000000000000000000000 detach() (OO on.exit(detach(sleep) ) 000000
000)00000000000000000000000

> search() # Dououoboubobdbobooobooboaona
> detach(sleep) # sleep OO0

0000000000000 00Dattach() 000000 with() 00000 with() 000000000 DOOOOO
0000000000000 0U0D0O0D0UO0ODO0 attach() 00DO0DODOO0OOOODOODOOwth()ODOODODO
goboobboobooboobbooboobbobbooboo

v

data(sleep)
with(sleep, { # sleep UOUODOODOODOOOOOOOO FOOOODO

\'4

+ x <- extralgroup==1]; y <- extralgroup==2]; var.test(x, y)

b

+

F test to compare two variancesUUUOODOUODOOOOI

973 ROODOOOOOOOOODOOOOOOOODOOO

ROOODOODOOD (SASOO0)00000D00D0O0O0O0ODO0OO0OO0OO0OO0OO0OOO0DOOO0O0 foreign OO
O000000oOoOoo spSsOoOoOoOoOODOOOODOOODOOODOOODOOOODOOO

> library(foreign)
> read.spss("datafile", use.value.labels=FALSE)

RO foreign 0000000000000 OOOODOOOO

’ EEN gd
lookup.xport() SASXPORT OO ODODOOOOOOOOOOOOOOOOOO
read.dta() Stata binary files 000000
read.epiinfo() Epi Info data filess OO0 00O
read.mtp() Minitab Portable Worksheet 000 00O O
read.spss() SPSS data file 000000
read.ssd() read.xport() 0000 SASOODOOOOOOOOOOOOOO
goobooboooon
read.xport() SAS XPORT format library (ver.6) 000000
write.dta() Stata binary format 00000000000

OO00Ogregmisc 00000000 readxls() ODODOUOEXCELOODOODDO xlsSOOOODOOOODOOOOODOOODO
O00Windows 0 ROOODO Perl 000000 DDOOO0DDOOActiveStated hitp : //www.activestate.com/ O 0
O ActivePerlDD 000000000000 OOO 9.900 ActivePerl x.xx.xxxO0O OO OO0 00O 9.10 00 DownloadO

oooboooo
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ActivelSiate

e i 4 e e
el === | i | S b
T
[ TP —————

¥ rim gy e v

elam st b g 10
trwile, IREE
——

EETETETE

099

0 9.10

D0000000000000000000@O00000000000000000(Next>]00000000
D00000000000000000000000000Windows 00 ActivePerl 100000000008

0 2000/XP 000 MSIOOOOOODODOODDODOODOOODOO9¥/Me/NTOOOD 9120000000000
0 Windows Installer0 00000000000 MSIOOOOOOODOOOOOOOOOOOUOOOO

- —~
0 9.12
ActivePerl D0 000000000000 O0O0ODO0O0OO0OOOOOOO C¥perl¥bin¥perlexe D O00O0O0O0OO

0 readxls() DOODOOO0OOODD ActivePerl 0000000 DO0DOO0ODODOO perl0000DOODODOODOO
god

974 0O0OODOO

gboooooooboooocooobOobooOoboOobOOoboOoOoboOoOOobOOoOoboOoOoOobOOoOoOOobDOobOboOooOon
NAOOODOOOOOOOOODOOONAOOOOO

> sex <- c("F",NA,"M"); height <- c(158,162,NA); weight <- c(51,55,72)

> ( x <- data.frame(SEX=sex, HEIGHT=height, WEIGHT=weight) )
SEX HEIGHT WEIGHT

1 F 158 51
2 <NA> 162 55
3 M NA 72

0000000000000 000000000000000000000000O0data06.txt 000000000

ubobo00o ooboooobooooboooooOooOoooOoooooOoooooOboooOOooOoOOoOoooOoboOoooOoboOooon
ONAOOOODO
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> ( x <- read.table("data06.txt", header=T, sep=",") ) data06.txt
sex height weight sex,height,weight \\
1 F 158 51 F,158,51
2 F 162 55 F,162,55
3 M NA 72 M, s 12
4 M 173 57 M,173,57
5 M 166 64 M,166,64
N J

975 scan() J00O00O00DO0DOODOOOUOOODOOOO

00 scan() 000D

00 scan(0000DDOD)0000000000000O0O0O0DODDOOOOOOOOOOO000O0OY 0000
000000000000 data07.txt OOOOO0OOOOOOOOOOOOOOOOOOOOO 6000010000
00000 x0O0O00 (DOoDO0oO00)DO0OO0oOUooDOoD

> x <- scan("dataO7.txt", skip=1, nlines=6) data07.txt
Read 20 items /,# data.txt h
> x 171 62.6 23 1
[1] 171.0 62.6 23.0 1.0 1568.0 49.8 1568 49.8 25 0
[7] 25.0 0.0 163.0 68.7 42.0 1.0 163 68.7 42 1
[13] 178.0 75.4 33.0 1.0 163.0 55.7 178 75.4 33 1
[19] 28.0 0.0 \\?63 55.7 28 0 p

OO0 scan() 0000000 ODO0O0O0OO0OOOOOOODOOOOODOOODOOOOOODOOOOOOOOOOOOOD

x <- matrix( scan("dataO7.txt", skip=1, nlines=6), 5, byrow=T)

list 000000000000 0050 4000000000000 00ODO0OOOUOOODOOOO0” ODOOOOO
0o000oo000oo0o0o0oo0o00o0oo000oo000oo000oo00 ROOOODOOOO0O0OO0OO

> x <- scan("dataO7.txt", list("",weight="","",sex=""),skip=1, nlines=6)
Read 5 records

> x

[[1]1]

(1] "171" "158" "163" "178" "163"

$weight

[1] "62.6" "49.8" "68.7" "75.4" "55.7"

[[3]1]

[1] ll23ll "25" Il42l| "33" |I28Il
$sex

[1] l|1|l lloll lIlIl ||1Il |IOIl

*11 RO0C0D0O0O0OO0D0000000O00ON read.table() 0000000000000 OOscan() 0000000DDDOODDODOOO
00 scan() 0000000000000 O0O0DDOOOOOOOOOOOODOOOOOOOOOOOODOODODODO scan() 0000000
000000000000 DDODD read.table() 000000 write.table() O write() DO0OO0OOO
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0000000000000 0000O0U0 OO0 =0(000 000 =100)000000000OD0O sexOO
oooooooobooooooocoboooooooboooon

> x <- scan("dataO7.txt", list(h=0,w=1,a=0,s=""), skip=1)
Read5 records

> X

$h

[1] 171 158 163 178 163

$w

[1] 62.6 49.8 68.7 75.4 55.7
$a

[1] 23 25 42 33 28

$s

[1] "1" "o" "iv "iv v

0000000000000 00 ROOCUOOOOUOODOOUODOOOO0ODOD sexOQOOODOOODOOOOODOO
0000000000000D0 OO0 readtable() D0OD0OO00DO0OOODOO0DOOODOODOOOOOODOOOOOO
edit() 00ODO0DODODOOODOOOOO

> x$h <- x$h/100

00000 scan() 000 000D read.table() 00000000 OOODO

00 read.table() 00O 00 scan() OO0
oo | 0o || oo | 0o

sep =77 gooooooooobooboon sep =77 doooooooooobooboon
goodd good

skip = 0 0000 oooooooooo skip = 0 dooooooooooboooo
goooOoOoooooooooo goooOoOooooopooooo
000 1o0o0o0ood o0 1000000

nrows = —1 goooooooooooo d nlines dooooooooooboooo
OOoooOooooooooooo gooooOooooopooooo
ooooooooooooo)o ooooo

header = F 0lo0oo0ooOoooooooo what gooooooobooooo
goo0o0oOoOoOooOoooooo nmax = —1 OoooooOOoooooooo
gooooooFOoOOoOooooo OOnmax 00000 what OO
goooooo 000oU0ooooooooooo

comment.char gdoooOoOoOoOoooooooo goooOoOoOoOoooooooo
00 #0000000 agoad

oono quote = ?7[] row.names, oono quote = ””0On = —10na.strings
colnames 000000 ="NA” 000000
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OO0 scan() 00DOOODO
00 scan() 00000000 0D0OO0ODO0OO0DO0O0ODOO0OOOODOOOOOOOOOOODODOO 200000002
gboboooobooboboboooogoo

> x <- scan("data08.txt", sep=",") data08.txt
Read 10 items 1,2,3,4,5
> x 6,7,8,9,10

[11 1 2 3 4 5 6 7 8 9 10

0000000000 00UooooDD data09.txt 000000000 0ODOOOOD MOCOOOO0OOoOoooOoOO
gboboooooboobobobooooobooboboon

> x <- scan("data09.txt", sep=",") data09.txt datalO.txt

Read 11 items 1,2,3,4,5, 1,2,3,4,5,

> X 6,7,8,9,10 6,7,8,9,10,
(1] 1 2 3 4 5NA 6 7 8 910

976 OOOOODO

e JO0ODO "D ’000DOODOOUODDOOOODODOOOOOOOODDODOODODOOOOO
O000oooO0o0oo fil=TRUEOOOOOO
oooooobooooooooooooooobooDbOoooboOobbOOobOoOOoOoOoDObOOoDbOOoDOoOoDOon
000000000000 stripwrite=TRUEOOOOOOOOO

read.line() 00000 0O 0OOOblank.lines.skip = FALSEOOOOOOOOOOODOOOOODOOOOOO
0000 fil=TRUEOODOOOODODOOOODOOO
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100

Juoogduoogd

10.1 OO0DOOODOOoOOO

read.table() 000000 write.table() O write() 000000*000000000 50 3000000
0000000 data07.txt OO0 C:;/ 00000000000 O0O0QO datatxt 000 read.table() DO O0ODO
0000 writetable(OOODODOO0ODODO,”’000000000007) 00000 outputtxt 00O0O0O0OO0O
write.table(x,”C: /output.txt”) 0000 0Oquote=F 000000000 ?”? 00000000

> x <- read.table("C:/datall.txt") datall.txt
> write.table(x, "C:/output.txt", quote=F, /0.9, 1.2, 1.9 h
col.names=F, append=T) 1.3, 1.6, 2.7
2.0, 3.5, 3.7
# append=F 0000000000000 OOOOO 1.8, 4.0, 3.1
0.9, 1.2, 1.9
\_ J

0000000000000 O0 writetable) 00 0D0D0D00O0OO0O0D0ODOO0OODOODOOOOODO write(O
000,”’000000000007)00000000000000000000000000000MOOo000D
ooo0ooooooooo ™ ooo0o0oooooooo

e write(UODO,”00000000000O7, append =T, ncolumns =0000000)
e write.table(D DO OO0O0DO,”000000000007, append=T, quote=F, col.names=F)

00 write() 00000000 ODOOOOOOOOO

> x <- matrix(1:8, ncol=2) #4x2 000
> write(x, file="datal2.txt") # 0000 datal2.txt OOO0OO
> scan("datal2.txt") # scan JO0O0OODOODO (QODOODOO)

Read 8 items
[11 123456738
> y <- matrix(scan("datal2.txt"), ncol=4) # 0000000
Read 8 items
>y
[,11 [,21 [,31 [,4]
[1,] 1 3 5 7
[2,] 2 4 6 8

*I MASS 000D O0D0DO00 write.matrix() O write.table() 0000000000
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0000000000000 D00DO00000 save() D00D0O0O0ODOOOODODOODODOOOOOOOOODO

00 load() 00000

> save(x, file="datal3.dat")
> rm(x)

> load("datal3.dat")

# 0000 datal3.dat O
# J00000000O0O0O0

102 OODOOO0OO0OO0O0ODDOODOOOOO0

0000000000000 00O00 DOD0ODO000OU00O0U0DUO0ODO0ODOLODO0ODO{00DL DOODODOOOO O
0ooo0---}000000000DDO000DO0OO0 write) D 1000000000 DOOOODDOO

> x <= c(1:9)
> out <- NULL
> for (i in 1:(length(x)-1)) {
+ out <- cbind(out, x[il)
+

out <- cbind(out, ",")

+

}
out <- cbind(out, x[length(x)])

\4

\'4

write(out, file="C:/dataléd.txt",

ncolumns = 2*length(x))

datal4.txt

o

~

)

00000 writeLines(paste(D O 0O), sep=",”) D0 OD0000O0O00OO0O0ODOODO0ODOOO0OOOOODODOOODO

00o0oo00ooo0o0ooo00oo0 ¥xyxOoOooooooooooood

> for (i in 1:10) {

\'2

close(out)

+ if (i < 5) writeLines(paste(i), out,
+ else if (i == 5) writelLines(paste(i), out,
+ else if (i < 10) writeLines(paste(i), out,
+ else writeLines(paste(i), out,
+ 7}

> out <- file("C:/datal5.txt", "w") # OO0OOOOOOOO

sep=", ")
sep="\n")
sep=", ")
sep="")

# 00000000

datalb.txt

-

1, 2, 3, 4, 5
6, 7, 8, 9, 10

~

103 ODOO00O0D0O0O00O EXCELOOODO

ROODODODO0OO0O0O00 EXCELOOOOOOOOOOOOOOOOO

(1) 0000000000000 00D0O00000000000D0.esvDDODOODO0ODODODM txt0OO0D0OOODODO

gooboooom

(2) 00000 [D000)0 [DO0)D0O0O0DOOOOO0OODO0OOOOODOOOODOOODODODO [DODOO0 OOD

O (*.pro, *.txt, x.csv)] D000

(3) 000000000000 (00)00000000
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104 DO0O ATEXOOOhm ODODO0O

0000 LaTeX OOODOODOO0OO0ODODOO0DODOOODDOOOOD xtable OO0 xtable() 00000

> library(xtable)

> mytable <- xtable( matrix(1:24,4,6) )

> print(mytable)

% latex table generated in R 2.1.0 by xtable 1.2-4 package
% Sat May 28 14:47:23 2005

\begin{table} [ht]
\begin{center}
\begin{tabular}{rrrrrrr}
\hline

8 1&2&3&44&54&6
\hline

1 & 1.00 & 5.00 & 9.00 &

\\

13.00 & 17.00 & 21.00 \\

2 & 2.00 & 6.00 & 10.00 & 14.00 & 18.00 & 22.00 \\
3 & 3.00 & 7.00 & 11.00 & 15.00 & 19.00 & 23.00 \\

4 & 4.00 & 8.00 & 12.00 & 16.00 & 20.00

\hline
\end{tabular}
\end{center}
\end{table}

& 24.00 \\

0000000 html 0000000 000000000000000000*0

> print(mytable, type="html")

<!-- html table generated in R 2.1.0 by xtable 1.2-4 package -->

<I-- Sat May 28 14:48:09
<TABLE border=1>

2005 -—>

<TR><TH></TH><TH> 1 </TH><TH> 2 </TH><TH> 3 </TH><TH> 4 </TH><TH> 5 </TH><TH> 6 </TH>

</TR><TR><TD align="right"> 1 </TD><TD align="right"> 1.00 </TD><TD align="right"> 5.00 </TD3

<TD align="right"> 9.00 </TD><TD align="right"> 13.00 </TD><TD align="right"> 17.00 </TD>

<TD align="right"> 21.00
<TR><TD align="right"> 2
<TD align="right"> 10.00
<TD align="right"> 22.00
<TR><TD align="right"> 3
<TD align="right"> 11.00
<TD align="right"> 23.00
<TR><TD align="right"> 4
<TD align="right"> 12.00
<TD align="right"> 24.00

</TD></TR>

</TD><TD align="right"> 2.00 </TD><TD align="right"> 6.00 </TD>
</TD><TD align="right"> 14.00 </TD><TD align="right"> 18.00 </TD>
</TD></TR>

</TD><TD align="right"> 3.00 </TD><TD align="right"> 7.00 </TD>
</TD><TD align="right"> 15.00 </TD><TD align="right"> 19.00 </TD>
</TD></TR>

</TD><TD align="right"> 4.00 </TD><TD align="right"> 8.00 </TD>
</TD><TD align="right"> 16.00 </TD><TD align="right"> 20.00 </TD>

</TD></TR></TABLE>

*2 00000000 Hmisc 0000 latex() 000000

112
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0110
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0000000000000000000000000000 plot()D00O0OO0ODOOOOOOO

111 DO0OOO0oOo

ROOOOOOOOOOODOOOOOOO0ODOOOUO0ODOO0OODOOOUODOOOUOOO0ODODOOOODOOO
ooOo0ooOooOooROOODOOOOOOOOOOOOOOOODOO 20000000000

00000 000000000000
0000000 DO00D000O00 (Dooo)*

o
5 EEIEI% o
> elot (1:10)
[ R Graphics: Device 2 (AGT E
= )
=
oo <
@
S - 4
1: <
- — <
-
P B
o
I T T T T
2 4 B 8 10
Index
a1 H

0111 00000000000

112 DODOOO0O0O0OO

ooo0o0oO0o0oooo0o000ooD0 Xoooooooooooooooooooooooooooooooo
ooooooooooooooooOoooooooO0oooDooO00ooooooOO0oooooOoD 30000000

*1 00000 high (low) level plotting function [ graphics function 0 2 0000000000000000000000000000
goooooooooobooooboboooobboooobbooooboooobboooobbooooboUL ---oOoObDObOObOOOObOOOObDOODD
000000000 RjpWikiDOOODDOOOOOO0O0000O0000000000000
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ooooocooood

ooooooo 0 OooooobooOoooooooOoboOoOobDOoOoOobOOOoOoODOOOoODbDbOOobObOOOoOooODo

uoooodo 0 OoooootcdoooobcOoOoOooObocOoOoOoOOoOoOooobOOoOCocOoOoOOCOcOOoOOCcOoOoOn
oobooooooocoOobooooooooobooOobooooooobooOooooo

ooooooo 0 bDooobooooooooooboOooOobOoOoOOobObOOoDOOoOOO0DbDOOobOOoOobOOoObDOD
000 “0” 000 (00O0D00)000O000O00D0DO0O0OO0ODOO0OOODOOO

11.3 O000OOoOoboooog

ROODODOOOOOOOOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOODODOODODOOODOD
ROOODODODOODODOOO0D0OOODODOO0OOOROOOOODOOOODOD UNIX, Linux D0OO0O0OO00O0O X11()
0O0Windows 0000 windows() 00 0000000000000 0O0O0OD0O0OODODOOOOOOOOOOOO
ooooROOOOOOOOOOOOOCOOOO0OOOOOOOOOOOODOO0ODODOOOO0ODOOOOOOODOOOO
OO0 RODOOCOOOOOOOOOOCOOOOOOOOODOOOOOOOOOOODOOOOOOOOOODOODOO
oooooooo

ROODOOOOODOUOODOUDOODODOODOOD help("Devices”) 00000000 DO0O0OODOODOODOO
ooobooooooooboboooo

gooo ug gogod gugd
bitmap() oooooo bmp() oooooo
dev2bitmap() | 000000 jpeg() JPEG
pdf() ADOBE PDF pictex() KIEXO0ooo
png() PNG postscript() POSTSCRIPT
quartz() (Mac OSODOOOODOODOOODO) || windows() (Windows 000000000 DOO)
win.graph() (Windows 000 D0D0O) win.metafile() | Windows 0000000000
win.print() (Windows 000 0DO0O) x11() (UNIXODODOOoooooo)
X11() (UNIX 0OOO0ODOO00000) xfig() Xfig

00000000000D000000 devoff() D00DDOO0DO0OOD0OO0DODOOOODOD postseript() 00000
000000000000 00000000000000000000 devoff() DOODODO0ODOODODOOODOODO

> data(cars) #PSOOO0O0OOO0OOO fileOOO
> postscript("myplot.eps", horizontal=FALSE, height=9, # horizontal = FALSE OO0 OOOO0O
width=14, pointsize=15) # TeXODODOOODO,DO0000000
> plot(cars, main = "Speed and Stopping Distances of Cars")
> dev.off () # J000000OO0o00oooOooooboooooOoooobOboOooooOooooonn
null device
1

(0)0000000O0000000000000000D0000OOD (D0000 myploteps) 00000O0O0DOO
poooooooooooooooooOoOoOO0OO0bOO0O0b0OO0 22000000000000D000O0O0O0O0OOO
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114 00DO0ODOO0ODOOO0O

gooooboobodobooobooboobboobooboobpbooboobboobboobUo0bLboOoD
0000000 (0000000000000 0000O0) 000000000000 DO0OO0DOODOOOOOOOD
goboobboobooboobboobooboobbooboobboobbooboobboobooboon
ggno

aoood 0o

DDDDDDDbmp(), jpeg(), goddooboooboooooboooooboooboooooboooooo

pdf) OODO 0000 (o000 O00OO0)000U0OOD0ODOLUOODOUDOUODOODOO
gooooooooon

deV.liSt() gooooobooobuoooooooon

dev.next() godooobooobuooobuoobobooooobooooog

dev.prev() godooobooobuooobuoobobooooobooooog

dev.set(which:k) 00000000 kdOOdDoDOoOooooooooOooooog

deV.Off(k) 00000000 kOoDODOOoOOoOOoOooOoo4ooooo

dev.copy(device, which=k) 000000 kODODOOODODOOdevice O postscript DOOOOOOO
gobooood

dev.copy2eps(file="") eps 0000000 dev.eopy() 000D DO0ODODOODOOOOODOOOO
oobooobogoogno

dev.print(device,which=k) 000000000000 koOooooDooDoOooDooDooooooooo
a (DDDD postscript)DDDDDDDDDDDDDDDDDDDDDDD
oobooboooooboo

graphics.off() oobooboobobooobooboobbobobuooboobooboo

O0O0000 PODFOODO0DOOOD0ODOOO0O0OOODOO0OOOOOOpng() Obmp() Ojpeg() D000 DODOODO
ooooooooooooboboconooood

> plot(1:10)

> dev.copy(pdf, file="finename.pdf")

> dev.off () # 00000000O0bO0bOobO0oooOoobOoDbOoDbo
> # 000000O0bO0obOobOoboooooooDo

> pdf ) # pdf 0000000 Q

> plot(1:10) # 0000 -> Rplots.pdf OO0

> dev.off () # 000000O0bO0obO0bOoboOoooooobOoDbo

gbobogb epsbbooboobboobbOoO0DbO0ObLOn

> X110 # X11 0000000 (0s OO0000000)
> plot(1:10)

> dev.copy2eps(file="finename.eps", width=6) # 00 0000000000000

> # 000O... dev.print() OO0OOOOOOO...
> X110 # X11 0000000 (osOOOOOOOO0O)
> plot(1:10) # X11 0000000

> dev.print(file="finename.eps", # 000 Eps ODOOODOOO

width=10, height=10, horizontal=FALSE)
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Windows 0 ROOOO0OOOOOOOCOOOOOOOOOOOOOO0OOOOOOOO0OOOOOOOD
0 metafile 0000000000000 bmp 0000000000000 0O0ODOM metafile (.emf) 000

00 postseript (.ps, .eps) 00000 M O000000000000000

| R Graphics: Device 2 (AGTIVEX = ] [
AT IO -
[ i

o ATr MR o o °

Lo RARAMUT BT

| OVEOERCIEEC | T
ENRL b8 10
Index

0 11.2 Windows O ROOOOOOOOOO

11.5 0o000 plot()

ROOODODOODODUOODOODOUOOOOOD plot() 0D0DOO0DOODOOOOODOOOO plot()DOODODO
ggbooobooboooboobooboobooboobbobboobooboobo0 xOybboobbo O

ooooocoooood

> x <= 1:10
>y <= 1:10 # plot(x 00000, y0OOOO, O00O0O)
> plot(x, y) # 000000000 (xlim=c(1,10) DODOOOODOOO)

> plot(x, y, x1lim=c(10,1)) # x 0000000 OOOODOOOOOODOO

0000000000000 o0000000000d xlim,ylm 0000000 O0OOO

ooboooooooobooooooooooboboOoooooa

> plot(sin, -pi, 2%pi) # plot(0O0O, OO, OO)
> gauss.density <- function(x) 1/sqrt(2*pi)xexp(-x~2/2) # 0D0O0OOOOOOO
> plot(gauss.density,-3,3)

gauss.density (x)
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000003000000000000000 persp() 00000

> persp(x ODOOO0O, yOODOO, zOOOOO, col =0,
+ theta = 000000, phi = 000000, expand = 000, border=NA)

o000 20000000000

> x <- seq(-3,3,length=50) #x 00000

>y < x ¢ y0OOOO

> rho <- 0.9 # 2000000000

> gauss3d <- function(x,y) { # 2000000000

+  1/(2xpi*sqrt(1-rho~2))*exp (- (x"2-2*%rho*x*y+y~2) / (2*x(1-rho~2)))

+ 3

> z <- outer(x,y,gauss3d) # 000000 zO0O0O0O0O0OO0OOOO

> zlis.na(z)] <- 1 # 00001000

> persp(x, y, z, theta = 30, phi = 30, expand = 0.5, col = "lightblue")
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116 plot() DOODOO

OO0 plot() 00O type D0DO0ODO00O0O0ODO0OODOOODO0ODOODtype00ODOO0O 90000000000

ooooooooocooon

0o 0o
type="p” 00000 (0oo0o0)
type="1 00000 (000000)
type="b" 0oo0o0ooo
type="c¢" "b 0000000000000
type="0" 0000000000000000
type="h" 0000 xO0000000000
type="s" 0000000000000000
type="3" 0000000000000000
type="n" 0000000000000 (00000000000000000)
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coooocooo

> x <- rnorm(10)

> plot(x, type="1")

117 O00D0OO0ODOO0OOOO

gooboobobooboobooobooboobbobobooobg

oo 0o

log="x" "x? (x000)D0”” (yOOD)O”xy” (0000)0000000000
00000 (000000000) 0

xlim=c¢(0, 1)0 ylim=c(—1, 1) 00 2000000 xO000yOO0O0O00000000000000 xlog,
ylog 00DDOO00O0DO0DODD0000000ODO00 (00¢(2,-2))00
0000000000000

axes=FALSE 00000000000000000000000000000000000
00000000 TRUEM OO xaxs, yaxs 0000000

gooooooo

> x <= rnorm(10)

> plot(x, ylim=c(-30, 30), type = "1")

11.8 DOO0OOO0OOOO

gboboobooboobobooboobboobooboobboon

gg go

main=""Title” goboobooboobobooboobbobboobooboboooboo
EEN

sub="SubTitle” gboooooobobobobooooooobobobobooobooobooon
oood

xlab="X-Label”O ylab="Y- U000 x0O00obOO0 yOoooooooooooobobooobooboxDO

Label” gbooooobooboboooobooboboboooooboon

ann = F 0000000000000 0D000ooOoO (xlab=""0ylab=""00
0o0ooooooooo) o

tmag=1.2 gbobooooobgoboboboouoooouobobobobooooooon
oooon

ooooocooo

> x <- rnorm(10)

> plot(x, main="Simple Time Series")
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119 OO0OD0OO0OOO

0000000000000 par() 000000000 add=TOOOODO

(0) plot() 000000 add=TOO0O000000000000D0

> plot(sin, -pi, pi, xlab="", ylab="", 1ty=2) # sin(x) OO0O

> par(new=T) # 00000

> plot(cos, -pi, pi, xlab="x", ylab="y") # cos(x) OOODO

> plot(sin, -pi, pi, xlab="x", ylab="y", lty=2) # 000 sin(x) 000
> plot(cos, -pi, pi, add=T) # cos(x) OODODO

1110 ODOOoooooooooon

cooooooooooooboooboooooobooooboooooon

> x <- runif (100)
> y <- runif (100)
> plot(x, y, col =

ifelse(y>0.5, "red", "blue")) # y > 0.5 U0, OO0OOODO

0113 0000000

11.11 O0DOO0O

0000000000000 D000 frame() 0000 plotnew() DO0O0D0O0O0DO0O0O0DO0OOO new O

TRUE 000000000000

1.0

0.8
I
o
&

0.6
1

0.4
1

0.2
1

0.0

0114 OO0OO0OO0OOOOOOOOOO

> frame()

> plot.new()
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12.1.1  plot()
plot() D0D0D0O0O0ODOODO0OOOOODOOOODODOplot()0D0D0DODOUODOODOOUODOODOODODODO

plot(x) 0 0000 x00000O00O0O00OxO0O0ODOODO0OOOODOODOOOD0OO0ODOOOOODOOO x00O0OO
gobobooooooogooo
e DO xODOODOODOODDOODLOODDOOODOODLOOD
e DI xODUOUODUUODOUODDOODLOUOODOODDOUOUODLOUOODODUODDOOD
e xO20000000O0COUDOOCOUODC 20000000DCOOODOOO
e x020000000000000U0DOUODODOOODNOONODDOOODDOD names() DO0O0ODO
Uob xO0b0ObO yOobOoooooobooboooobo

> plot(rnorm(10))
> x <- 1list(1:5, 3:7); names (x) <- c("X", "Y")
> plot(x)

plot(x, y) 0 O00O0O00O0O0O0ODOO0OOO xO0OyOODOO xO0yOOOOODOODOOODOODODOOODOODO

> x <= rnorm(10); y <- rnorm(10)

> plot(x,y)

plotly "x)0 0OO000OO0OO0OO0OOODOOOOODOOOOODOOO

> x <- rnorm(10); y <- rnorm(10)

> plot(y ~ x)

plot(f) 0 f000000O0O00ODOOD fODOODOOOOO

> f <- factor(c(rep("A",3), rep("B",5)))
> plot (f)

plot(f, y) O fO0000000000yOO0OO0OODOOODODOfOO0OOOODOOD yODOOOOODODDODOOODOO

> x <~ factor(c(rep("A",3), rep("B",5))); y <- rnorm(8)
> plot(f, y)
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plot(df)0 df000000000000O0O0OOOCOOODUOOOODOOOODOO
plot("expr) 0 expr0 747 0000000000 ODOOOOOO (00O at+b+c)00000000DODOODO
goboobobooboobobooooboo

> plot(~ group, data=sleep)
> plot(~ extra, data=sleep)

plotly "expr) 0 yOUODOUOOOOOOUOexprd ”+” 000000000000O0O0ODOOOOO0ODO at+b4+cOO
U00expr DO0O0O0OO0ODOOODDOODODOODOODOO yOOOODDOODO

12.1.2 dotchart()

00 dotchart() 0000000000000 O0OO00OO0OOOOOODOOODOODOO

dotchart(D OO, groups=0 00000000, > dotchart(1:10, group=c(rep(1:2,5)),
gdata=NULL, labels=000, ...) + labels=paste("sample", 1:10))

12.1.3 stripchart()

00 stripchart() 0000000000000 0OOOO

stripchart(000 ~ 0O00O0OOO, > y <- rnorm(20); x <- factor(rep(1:2,10))

vertical = F, group.names=,...) > stripchart(y ~ x)

12.1.4  sunflowerplot()

00 sunflowerplot() 0000000000000 1000000000000 O0ODOOOOUODOODOODOO
oooooooo

sunflowerplot(x 0000, yOODOO, digits=6, > x <- round(rnorm(50), d=1)
xlab = "", xlim = NULL, add = F, ...) > y <- data.frame(x, x)
> sunflowerplot(y)

12.1.5 curve()

00 curve() 0000000000 OOODOOOOOOOOOODOODODODOOD nO0OO0OODOODOODOODOO
goooooo

curve(O O, from=0O, to=U0, n=000, > curve(sin(x~2)*exp(-x~2),-pi,pi)
add = FALSE, type = "1", xlim = NULL, ...)

12.1.6 matplot()

matplot() 0000000000000 D00OO00OD0O0OOD0OO0OOO0OODOOOOOOOOOOOOOOOOOO
00000000000000D0000D00000000000000000 U0 matpoints() O matlines() 000

1 00000000 rug() 000

plot(density(faithful$eruptions))
rug(faithful$eruptions, side=1)
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oooooo
matplot(DO0O0O0O0O 20000000, > myfunc <- function(x,y) sin(x/20 * pi * y)
type = "p", lty = 1:5, lwd = 1, > sines <- outer(1:20, 1:4, myfunc)
pch = NULL, col = 1:6, ...) > matplot(sines, pch = 1:4, type = "o")

1217 0ODOO0ODOO

o~ 0O 0omo oo o o .

sample 9 o

sample 7 ° +.
sample 5 o *X\
sample 3 o .

sample 1 o

round.x..d...1..1
R

sample 10 o T +
sample 8 o
sample 6 o

sample 4 o

sample 2 o

round.x..d...1.

0 12.1 dotchart() 0 12.2 stripchart() 0 12.3 sunflowerplot()

density(x = faithful$eruptions)
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2
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o
- g i
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LY f s :
g P v i 8 o
- A °
a9 A \ A
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8 7 X+ % & X A x 2
g :
a A
S RN oo
§ i $ i X a8 e s
. . » . "_mwm’uumwmmq_lmulmum#mmmmmnumm_ﬁ
‘ ‘ ‘ ‘ ‘ ‘ ‘
_3 2 = 0 1 2 3 5 10 15 20 1 2 3 4 5 6
X N =272 Bandwidth = 0.3348
0 124 curve() 0 12.5 matplot() 0 12.6 rug()

122 O00000O0OOO
1221 0000000 hist()

OO0 hist() DO0O0O0OOCOOOOODOOOOOOOOOOOOODOOOUOOUOOODODOOOOOODOOODO
000D (00)0000D00000000000000*0

> x <- rnorm(50) # 0000004
seq(-3,3,1) ) # -3 00 -3 00 10000000
c(-3,-1,0,0.5,3) ) # 000O0OD0OO @QOOOOO)

> hist(x, breaks

> hist(x, breaks

*2 0ooo00000o00000OoO0
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12.2.2 00000 barplot()

00 barplot() 00000000000 OOCOO0OOOOOODOOOODODUOOLDODOOUODOODOODOODOO

gobooboboobboobooboobbooboobbooboobooboon

barplot(UO0OOOOO, ...) > barplot(1:10)

barplot(0OO0OO, ...) > barplot(matrix(1:20, 5), col=rainbow(5))

OO0 barplot() 00 0000000000000 O0OOObarplot() 000000000 xOOODODOOOODO

000 linesO0000O0O0O0O0O0OOOOO0DOOOOODOOOOODOOOODOOOOOO

ao go
angle=45 gboboooobooboobobooooo
beside=F 00o00o0oooooooooooTOOO0O00O0oo0ooOooOoOoO0O0000000rF

000o000oo00oo0obooo0oooooo

col=rainbow(10) 000o0o00obD0o0O0000D0O0MoOobDoo0ooono
density=30 000o000bD0o000b00oo0O00o0ooon
horiz=F TOOODOOOODODOOODODO
legend = rownames(x) oo000omoooooo0 x000o
names=0000000 0000000000000 0000000
space=1 000o00o0D0oo0oooo
width=0000000 000o00o0obDOooooooo

1223 00000 pie()

00 pie() DDOO0O0ODOODOOODODOOO

pie(0 00, labels = names(x), radius = 0.8, > pie(1:10, r=1,
col=rainbow(10))

density = NULL, angle = 45, col = NULL, .. )

OO0 pie() D0ODOOODODOOODODO

oo oo
angle=45 goooo0ooOoOoooopooopooooo
border=NULL NAOOOOOOOOoooooooooo
col=rainbow(10) 000000000 0oooooomouoooooog
density=30 o0oo0o0ooOoOoooopoooooooo
main="Title” oooooooooo
radius=0.8 00000 —-101000000000000ooooUUoooooUUoooo
goooooooo

12.2.4 00000 boxplot()

0000000000000 000D0000O0 boxplot() DDODODOODOOO

boxplot(x, range = 1.5, width = NULL, > x <- rnorm(100)
horizontal = FALSE, add = FALSE,...) > boxplot (x)

boxplot(x ~ ODOOOOO) > boxplot(len ~ dose, data =

ToothGrowth)
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OO0 boxplot() DDODOOODODOODOO

g

og

boxwex = 0.8

ggoboooboogn

horizontal=F

TOODODODOODDOOOOoOOoOooOoo

notch=F

OO0 notch 0000000 OOOOOOO

outwex = 0.5

outlier 00O ODODOODO

range=1.5

ooobobDoOoooDOoOoooDo0oooobodb0bOrange0000O0DOOOMmMDO
000000000000 rangeO0DOOODOOO 1.560000000000000
000000000000 000D0O0O00D Q3+ 1.5x(Q3—Q1) 00O Orange
oopooOoooOopoOoOoDoOoODOODOOODOOOOO

staplewex = 0.5

goboooooboon

width=000000

gogooooogn

1225 000000

Histogram of x

0 12.7 hist()

0 12.10 pie()

O 12.8 barplot()—1

s

ERIm S
- R {E

TRImS

§ T550) T8+ B x 1.5
/. OBEAT-ENELT—4

o

0 12.11 boxplot()—1

80

60

40

20

35
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20
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10

0 12.9 barplot()—2

0 12.12 boxplot()—2
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123 000OO0ODOO0OO
12.3.1 fourfoldplot()

00 fourfoldplot() 0 1000000000D020000000000000 2x20000000000

fourfoldplot(2x2 0000 00O) > x <- matrix(1:4,2)
> fourfoldplot(x, col=1:2)

12.3.2  mosaicplot()

00 mosaicplot()0 000000000000 O0O0D0O0O0OOOOOOOOO dir="h"(="v’")000000000ODO

mosaicplot(0OOODONO) > mosaicplot(Titanic, color = T)
mosaicplot(0 000, data=0000) > mosaicplot (™ Sex+Aget+Survived, data = Titanic)

12.3.3 assocplot()

00 assocplot() D0 O0O0DDOO0ODDOOOCohen-Friendly 00000 0O O Association PlotsD 000 O

assocplot(0 OO DODODO) > x <- margin.table(HairEyeColor, c(1,2))

> assocplot(x)

1234 00DOOO

Row: A Titanic

15t 2nd 3
Ghild_Aduit_ Child Adult_ Child duit
2

1
— ==

M I
0] ——

Class Black Brown Red Blond

Brown

Male
Yes

Col: A

Col: B
Sex
Eye

Blue

Green  Hazel

Row: B

Hair

0 12.13 fourfoldplot() 0 12.14 mosaicplot() 0 12.15 assocplot()
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124 0O0DOO0ODOOO
12.4.1 stars()

00 stars() 000000000 DO0OO0OOOOOODOOOOOOODOOODOOOOOOODOOODOOODOOOO
ggboooood

\4

stars(mtcars[, 1:6], locations = c(0,0), radius = T,
+ key.loc=c(0,0.0), main="Motor Trend Cars") # 0000000o
stars(mtcars([, 1:7], len = 0.8, key.loc = c(12, 1.5),

v

+ main = "Motor Trend Cars", draw.segments = TRUE) # OO0

12.4.2 symbols()

00 symbols() 000D 00OOODOOUOOODOOODODOOOODOODODOOOOOODODODOOOODOOODOO
gobooooboood

> x <= 1:10; y <- sort(10*runif(10)); =z <- runif(10)
> symbols(x, y, thermometers=cbind(0.5,1,z), inches=0.5, fg=1:10)

goobooooobooooooooboooooood

googn gobogogoo

O circles=000000000CO

goo squares=0 000000000

goo rectangles=0 000000000

d stars=30000000000000000O00O0ODOODOO 1000

ooo thermometers=c(0 0000000000000 0) 000 thermometers=c(0 0000
0000000 1000ooooo 2)

gooo boxplots=c(00 000000000 10000000 20000000)

googooo fe=000000

googooo bg=000000O

o0 inches=F 000000 xOOOOOOOOODOinches=T OOOOODOOOOOOOO
1000000000000000000O0DiInches=000000000000000O
goboobooboboobuoobooooboobooboo

12.4.3  pairs()

OO0 pairs(00) 0000000000000 0O0O0O0D0O0O0O0OD pairs(0000)0000000O00O0OODOO
ooboooooobocoobooooooboooobooono

> pairs(iris[1:4]) # 00000
>
> pairs(~ Fertility + Education + Catholic, data = swiss,

+ subset = Education < 20, main = "Education < 20") # 00O0OOOOO
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12.4.4  coplot()

00 coplot() 0DODO0OOODOODOLOODOOLODOOLODO x0yUOz(2z00OODOOOOODUOD)DOO

ggbodbzOOoobOOo0obOoobLO yobhoo xboobooobbooobda

coplot(y " x | z) O

zU0000000z000000 yO xOOOOOOOOOOODO zOOOOOOOOOooOoOOO

gobooboobboobooboobboobuog z000000 yO xOoOOOoOoDOODOOD
coplot(y " x| 2z1 x22)0 200 202 000000000x0000 yOOOOOOOOODO

> x <= 1:10; y <- rnorm(10);

> coplot(y ~ x | =z)

Z <- X*y

1245 00D00OOO

Motor Trend Cars

mpg

drat wt

0 12.16 stars()—1

20 30 40

20 30 40
L

05 15 25
L

Pontiac Firebird

disp g’
mpg
Volvo 142E hp
Maserati Bora asec
drat

Motor Trend Cars

¥

Mazda RX4 Wag Hornet 4 Drive

Mazda RX4 Datsun 710 Hornet Sportabout
Merc 240D Merc 280 Merc 450SE
Duster 360 Merc 230 Merc 280C
Merc 450SLC g Lincoln G8fftinental g Fiat 128
Merc 450SL Cadillac Fleetwood Chrysler Imperial

Toyota Corolla, Camaro 28

Dodge Challenger
Toyota Corona

AMC Javelin

Fiat X1-9 Lotus Europa Ferrari Dino

Porsche 914-2 Ford Pantera L

Honda Civic

Ny
ES

“
»

%

%

B

wt

0 12.17 stars()—2

Education < 20

s 1 15
P
5 =l
Sepal.Length H R or
%o © o
Fertility 8 - o8
8,° 8 % 8
0000, ?%e
%
o ° &
Sepal Width
1 o Do
o o % i oS0
EE RG] o Education o o
% °%a0 oo | B @3
o o * s 0%
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K 3
© o5 g,0 | [0 oo
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Boomo ® o 5 coBeo 8% o

0 12.19 pairs()—1

\\\\\\\ — T
0 20 4 60 80 100

0 12.20 pairs()—2

6 70 8 %

0 20 40 60 B0 100

-08 04 00 04

0 12.18 symbols()

Given:z

-08 -04 00 04

0 12.21 coplot()
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125 300000000
12.5.1 image()

00 image() 0 3000000000000DO0OOOODOO

> x <- 10*(1:nrow(volcano)); y <= 10*(1l:ncol(volcano))

> image(x, y, volcano, col = terrain.colors(100), axes = FALSE)

12.5.2  persp()

OO0 persp() 0 3000000000

> x <- seq(-10, 10, length= 50); y <- x
> f <= function(x, y) { r <- sqrt(x"2+y~2); 10 * sin(r)/r }
> z <- outer(x, y, f);

> persp(x, y, z, theta = 30, phi = 30, expand = 0.5, col = rainbow(50), border=NA)

12.5.3 contour()

00 contour() 0 30 0000000000000 DODOO filled.contour() 0000000 OOO

> x <- -6:16

> contour(outer(x, x), method = "edge", vfont = c("sans serif", "plain"))

12.5.4 scatterplot3d()

00000 scatterplotdd 00 30000000000000000 scatterplot3dd() 00000000 DO0OOO
000 scatterplot3d 00000000000

> library(scatterplot3d)

> z <- seq(-10, 10, 0.01); x <- cos(z); y <- sin(z)

> scatterplot3d(x, y, z, highlight.3d=TRUE, col.axis="blue",

+ col.grid="lightblue", main="Plot-1", pch=20) # 00000

temp <- seq(-pi, 0, length = 50)

x <- c(rep(1, 50) %*% t(cos(temp)))

y <- c(cos(temp) %*% t(sin(temp)))

z <~ c(sin(temp) %*% t(sin(temp)))

scatterplot3d(x, y, z, highlight.3d=TRUE, col.axis="blue",
col.grid="lightblue", main="Plot-2", pch=20) # 00000

+ V V V V V V

1255 000000000 lattice

lattice 10 SO0O0D000000D000D000D000 Trelis0 ROODODOO0O0OD0O0O0D000000000D0
0000000 coud() 000 wireframe() 0000000000
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> library(lattice)
> data(volcano)
> wireframe(volcano, shade = TRUE, aspect = c(61/87, 0.4),

+ light.source = ¢(10,0,10))

lattice 0000000000000 OOOOOO

0o | ooo | 00 | oo | ooo | 00 |
barchart () oooo ooo | qa() 200 qqO0O00
bwplot() o0oo 0000 | xyplot() trellis O plot()

ooo densityplot() | 0D0DO0OOOO ooo levelplot() ooooooo
dotplot() 0oooooo 0000 | contourplot() | DOODOOO
oooo histogram() | 000000 000 | cloud() oooooo (0)
qqmath() 000000000 || o000 | wireframe() | 000000 (O)
stripplot() 100000 0oon0 splom() oooooo
000000000 | rfs() |opoooo 0000 | parallel() Dooooooon

12566 00ODOOOO

Math can be beauiful

o
%ﬁ

1)

cos@)e

0 12.22 0 12.23 persp()

image()

0 12.24 contour()

Plot-1 Plot-2

0 12.25 scatterplot3d()—1 0 12.26 scatterplot3d()—2 0 12.27 latticel wireframe()

1257 OOODOOOOOO grid

00000 grid 0000000000000 0O00O0O0000O0O0000DO0O0O0000000000CRO
graphics 00 0000000000000 000000000000000000O0OOgraphicsO000000O0O0O
0000000000000 000000000O0O000D000O0O0000D0D0OO0 lattice00ODODODOOOOOODO
000000000000000000000000000*0

*3 0000000000000000000000000 Paul Murrell 0000000000 http : //www.stat.auckland.ac.nz/ paul /O
000 PDFOODOOOOOODOOODOO
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131 DOOoOoooooo

gooooooobooooooooooon

ggd oo EEN

O | points(x, y) , points(c(x, y)) 000 xOOO yOOOOODOOOOOOOOOO (0000
points() 00O DODODOD typeD "p” 000D0)0O0OD
000000000000 0000 pch OO0O0ODOODOOOOOO
points(approx(x, y)) 0000000000000

00 | lines(x, y) , lines(c(x, y)) D00 x0O0D yOOOOOOOOODOOOODOODOODOO
0000000000000 (DDOD lines() DODODOODOOO
O typed "1 0000) 0O

00 | abline(a, b), abline(c(a, b)) alb0O0000000D0000y=a+bx0000O

00 | abline(h =y) gobooboobobo yoboooboooo

00 | abline(v = x) goboobogbobo xgboooboooo

00 | abline(result) result 000 Im() 0000000000000 0OOOOOOOO
gboooooooooobo

00 | grid(a, b) axbO0OOODODOODOOOOOO col, Ity, wdOOOOOO

00 | segments(x0, y0, x1, y1) 00000 (x00y0) 0000000 (x1 Oyl) 000000000

00 | arrows(x0, y0, x1, y1) 00000 (x00y0) 0000000 (x1Oyl) 000000000

00 | rect(x0, y0, x1, y1) 00000 (x00y0) 0000000 (x1 Oyl) 0000000000
00000 col, border, density 1 00000

00 | text(x, y, labels) 00 xOy)0OOODOOOOO0OOOOO0ODODO0OOO0OO0O0O0O00O0OO0OO
00000000 Otext0000 srt=—(000)0000000O0
OO000C0 xO0O0OQ0O 4 000000000000O

00 | mtext(text, side = 3, line =0, | 0000000000 text 00000side 00000000OO0OO

= NA) 0000000 (l00020003000400)000000000

line 000000000000 O0ODOOO0atO0O00ODOOOOODO
gboooooooboboooo
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0 | box() D0000000000000000 box(ity="1373", col = 'red’)
0000000000000 OO0DO0o0DO0OUO(oOoOobooooo
0oooooo)o

00 | title(main, sub) 00 main 0000000000000 OOOOOOOO subO0O
Jdooooooooooooobobobbbbooooogooooo
gboooooooobobobooobooooooboobobobooo
gboboboboobuodboodl magDOODOOODLOODOOO
gboooooogo

O | axis(side=4, labels=F) 00000 (100D020003000400)000 labels O FALSE O
000000000 0O0O0ODODOOO0CUODbDOoODg at=1:100
Joooooooooobobobbobobo

O axis(side=1, pos=0) 00 pos 00000DODOO0DOODOOOODOOOOO (side=3) 00
(side=1) D00DDO00D yOOODO (side=4) O O (side=2) O
0000000 x0O0O0O posDO0ODO0OOOODODOO pos=000
doooooooooobboobbobooon

00 | legend(x, y, legend) 00 (xOy) D000D0OD000000 legend 0000000000
000000000000 0000OoO0Od neol0 20000000
goodooooooobobobobbbboboboooa

00 | legend(locator(l), legend=00) | OO locator() 000D 00DO00OOODODOOODOOO

00 | legend(..., fill=v , col=v) gooooooooooboboobbbooooog

00 | legend(..., lIty=v , lwd=v , | 0000000000000O00O0OO (DOOOOO)OOOOOO

pch=v)

00 | polygon(x,y) (xO0y) DOOO0OOO0O0OO0O0O0O00D000000 xOyOoooooo
0000000000000 0000000000000000 NA
ggooooooobobobobboo

00 | polygon(x, y, density=c(10, 20), | 0O density 1000000 /00000000000000000

angle=c(—45, 45)) gooO0oOoOoOoOoOoOoOoOoOoODOoOODDODODOOOOODDO angle O
00 (D000O)0000O0D0OO0DO0O0D0O0OO0ODOODOODOO
border O col , Ity 0 xpd OO DOOOOOOOOOO
13.2 0O0OO

(01) 0000000000000000 axis() 0 0000000000 box() 00000000000 legend()
00000000000000 polygon() 10000000000

+ VvV V V V VvV

v Vv

plot(rnorm(50), rnorm(50), xlim=c(-3,6), ylim=c(-3,3), axes = F, ann=F)
axis(l, pos = 0, at = -3:6, adj = 0, col = 2) # 00 X 0OO0O0O
axis(2, pos = 0, at = -3:6, adj = 1, las = 2) # 00 Y OOOO
box ()
legend(2, 3, paste("sin(",6:9,"x)"), col=6:9,
pch=3, ncol=2, cex=1.1, pt.bg="pink") # (5,9) O0OOOOO
polygon(3:6, c(-2,-1,-2,-1), density=c(10, 20), angle=c(-45, 45))
arrows(5, -1, 4, 2, col="blue") # (5,-1) 00O (4,2 ODO0OO0OO
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(02) 00 polygon()DDDDDDDDDDDDDDDDDDDDDDDDDD“DDDDDD[IEIEIEII:II:IDDD
00000 4<x<40000000000000002<L<400000000000000000O
000000000000000 polyeon() 00 DO0O0DDDOO0ODODOODDODO xvals Orep(0,10) 000
00 x0000O00OO0Orev(xvals) Orev(dvals) 00 0000000000000 0OOOOO

> plot(dnorm, -4, 4)

> xvals <- seq(2, 4, length=10) # 000 x0000 1000000 (MO)OOOO
> dvals <- dnorm(xvals) # 0000000000

> polygon(c(xvals,rev(xvals)),

+ c(rep(0,10) ,rev(dvals)),col="gray") # 0O OO0

> title("Title") # J0O0oOoooo

> mtext("sub-title", side=4) # 00000

000 (1)0 (2)0000000000

Title
3 S
+ sin( 6 x sin( 8 x
sin(7x) + sin(9x
(o]
24
[¢]
o
o ° 2 7
o q o
0800 d o] ° —
28137 © g
I T —o o T T T T T 1 S o] s
oh© © = S
3 3 o1 P ol 2,3 4 \f 6 S a
[¢]
@
o ©-1"40° 4
) O A§§X§§7 °
o] o
_24
-3 - g |
T T T T T
-4 -2 0 2 4
X
013.1 0O (1) 013.2 0O (2)

133 ODO0OOO

0000000000000000000 text() O mtext() Daxis() Otitle() 0000000000000000
0000 expression() 0000000000000 00000000000OOOOOO0O

> text(x,y,expression(paste(bggroup("(",atop(n,x),")"),p"x, q {n-x})))

gbooboobooboobboobooobo

> 7plotmath
> demo (plotmath)
> example(plotmath)

goobooboobooboo

*1 RjpWikiOODOOOOOOOO
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Arithmetic Uperators Radicals
Xty X +¥ sqrt () %
X - ¥ X—¥ zqrt (%, ¥) My
L b Eelationg
%y x/v X FE Y X=¥
P S XEy x =¥ HEV
e T A X+¥ x <y X <Y
X WL ¥ HEY ¥ W= ¥ X =T
¥ - ¥V KV
+i +x W S F N2V
Sub/Superscripts Xk kY K ¥
x[1] Xi X k= k¥ XY
%8 % x ==k ¥ K=V
Juxtapozition ¥ Fpropd ¥ ey
xRy Xy Typeface
paztelx, ¥, z) X¥Z plain(x) X
Lizte italic(x) x
list(x, ¥, z) X, ¥, 2 bold(x) X
bolditalicix) x
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atvle
digplavatylelx) X
textatylelx) A
acriptatylels) ”
acripteeriptetylelx) 2
Cpacing
X ¥ Xy
% + phantom(() + ¥ ¥+ +¥
1
¥ + over(l, phantom(0)) K+
Fractiong
X
fracix, ¥) -
¥
¥
overix, ¥) B
¥
X
atoplx, ¥)
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Big Uperators

sun(xlil, i = 1, n) Zx
prod(plain(P)(X == x), %) 11P(E=x)
intesral (£(x) * dx, a, b) ff(x)d:x:

umion(A[i], i == 1, n) U,

intersect (411, i == 1, n) N,
lin(f(x), x ¥->% 0) Limf(x)
nin(g(x), x >= 0) mine(x)

inf(8) infg

sup(8) supS
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Grouping
(x + v) % z (x+¥)z
Xyt oz X +z
Xy + z) ;-r:@ﬁ}
¥ {y + zi "
group( (7, ligt(a, b}, "17) (a,b]
beroup("(”, atop(x, ¥), 7)7) Ej
grouplleeil, %, rceil) % ]
groupllfloor, %, rfloor) | % |
group(”|”, %, 7|7 <]
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Ellipziz Arrows
Pigh 1] o000 xlnl) %, % % B0 v X6V
AL+ oo+ xln] XAt x §>% ¥ X =¥
igtllx[1], cdota, x[nl)®, % x ¥-¥ ¥y X ¥
1]+ Tdote + wln] X+ +¥ ¥ Auph ¥ x Ty
Set Relations v hdownd ¥ x-by
¥ meubzetd v X CF x 2=E ¥ XY
x Paubzetedd v XC¥ x 2=0% ¥ X=¥
x Beupzetd ¥ X2V x =¥ ¥ X =¥
x Feupzetedd ¥ ey x $dblupd ¥ x Ty
e Enotsubzety v X @V x #dbldovmd ¥ wlly
X hink ¥ XEY Symbolic Names
¥ knotink ¥ XEF hlpha - Omega A—C2
hccents alpha - omeza (= D
hat (x) % infinity o0
tilde(x) % 32 #% degree 35°
ringlx) X B0 * minute B
bar(xy) X 30 * mecond 30
widehat (xy) X¥
widetilde(xy) xy

134 O0O0O0OepsOODO0OOODOODO

ROODOUD eps 000000000 D0OUDAD«BEOOODOODOOOODOOUOOOOOUOOOOODOO

1341 TgfOoOOOOO

Teif 0 eps 000000000000 pstoedit O hitp : //www.pstoedit.net/pstoedit O eps 0000 obj OO
0000000000000 UoUoOoWindows DOODO TegifOODOODOODOODOOOOOOOOOOOOO
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13.4.2 OpenOffice.org O draw OO OO0
gooboboboooooobooobo

(1) Ghost Script (7.04007) O GSView 0000 http : //forum.nifty.com/ fdtp/install /win/gs800.htm O O
gooogon

(2) OpenOffice.org O http : //ja.openof fice.org/marketing/news/110.html O
OpenOffice.org 0000 O http : //oooug.jp/start/
0000 OpenOffice.orgl.1 (04/03/08 00 0000000)000000000DODOOOODOOODO

(3) pstoedit O hitp : //www.pstoedit.net/pstoedit 0 GSview 0000000 pstoedit 00000000000
(GS8.00 00000 C:/Program Files/Ghostgum/pstoedit 0) 000000000

0000000000000 000000 Windows XPOOOOO

(1) GSview 0D OO DODOO [Edit] — [Convert to vector format...] (00) 0 WMF O EMFOOO (D0DO0OO00ODO
0OKOUODOOD)OODO(RODOODODUODODOO winmetafile) D000 emf 0000000)

m_ oz T x
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. = o T
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o A EFS Prevem B ot s v T S Waehrs b o e s T Miadl
= Exeraet EF » i Mo en o BRF = u P S
Mlesoae I
[ Do it i by
B » Mg o MO =Latn b
5 bnd CuleF : P [
Fird et Fa :
Eotmmar [
E Cwvvmr ogton e I
s
2 e e |
x5
[=]
2 EITEE |
* —
2] : g =
1 | :
o
= T T
1 2 -
Al | _'J_I -
Fiw. 1o Tt 1" 1 of)

(2) OpenOffice.org 0 draw 000 D0DOO0O0DODOO [0D0)— (000000000000 DOOOOO
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(3) 00000000000 D0OD eps 000 export 0O0ODODO
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[J 14 [

Juoogudoootdd

goboooooooobooooooooobboooooooooboobooooooobooooboooooboOooDn
goboooooooooooocoboboboooooooooboooooocoooooooooooooooooooon
oooooooboocooboooo

141 DODOOOO0OOODOOO0OOO

000000000000 0000D0O000000O0000000D000O0ODO00D0O0ODUO par()DODOO
oooooo 20000000000000O0O0ODDOODODOOOOOOO0O0O0O0O0O0O0O0O0O0O0O0000000000
oooooooooooooooooooOoooobob0 2000000000000 OOOOODOOOOOOOOO0O0O
00000000 par() 0000000000000 O0000DODOO00O0O0DOOOOO0OOOOOO*00000O0
000000000000 0000 colD0ODOOOODOOOODODOO

> par(col="red") # J0Do0ooooboboobooboobooboo
> plot(1:10, col="red") # 000000000 bOO0bOobOOoOooooobOooD

142 000000 0O0OOODODOOOOOOO

00000 par()00000OD0ODOOOOOOOOOOODOOODOOOOOOOOOOODOOUOOOOODOOOOO
gooobooboobooboobooboobooboobobbobboboboboobooboobooboo

EEN ugd
par() gobooooboobooboooboobuoobboobobooobo
par("O00O07) gooooooobboobbbbbbbbboboooobbbobbboooog

goboooooooobooobooooooocooooooooooooogd
gobooooooooboocooobooboo

par("0007,70007)
par(c(’0007,70007))
par(col=2) 0000000 =000000000000000000000000000
0oooo

goboopboobooboobboobooboon

par(col=2, lty=3)
par(list(col=2, 1lty=3))

gobooooooooboooooooooobooooboobooooo

*1 000000000000 00000000000000000000000000000000000000000000 0 par(Pcin”)0
par(”cra”)0 par(csi)0 par(Pexy”)Opar("din”) 00 0000000000000 O0O0DOO0D0DOO0ODOODODOOODDOOODOOOO
0000000000000 00000000000000M 0000000000000 0par("cin”)/par(’pin”)d000000000
goooooooooo@moOooOO00o0o0o0oO0o0oooooooooO00O0000000000000D
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1421 00 par() DODOO

par() 000000 DOO0ODOO*0

> par (new=T) #new 0 TRUE 00000000 O0ODO0OO0OOOOODOODODOOO
> par (ask=TRUE) # J0o0ooobooobooboboboboobooboboooboon
> help(par) # J00oobooboobboobooboooboboo

1422 00O0O0O0OODOOOOOOODOOOOOOD

OO0 par() 000000000 DOODOOOOOOOODOOOOOOOOOOOOOOOODOOODOODOODOO
0000000000 0o0dooo0o0od0oROO0OD0OO0O0O0O0O0D0O0DO0O0DO0ODO0O0O0O0 1000000
gbobooooooogooo

> oldpar <- par(no.readonly = TRUE) # O0oO0OoOoOoOoOoOoOooOoooooooooo
> oldpar <- par(col=1l, lty=2) # 00000000
> par(oldpar) # 00000000000000000000

000000000 par() DODOODO0OOOOOODOOOOOOOODOOOOODOOOOOOOODOOOOODOO
ooboooooboocoobooooooocooboooooooooobooOonooon

> myfunc <- function () {
+ oldpar <- par(no.readonly = TRUE) # 000000000000 O0O00OOOOODO

+ on.exit(par(oldpar)) # 00000000000O0000000d
+ par(col=2); plot(1:10) # J0000000O0O00bOoOo0Oooon
+ } # Jooobooopooboobooboobo

1423 0O0OO0O0DOODOOODOO

OO0 par() 0DO0OO00OOO0OODOODOO0OOOODOOODODOOOOOOODOOOOOODODO plot() DOOO
gooboooooooooooooooooobooooooboooooboooooooooOooooDoOooooboOooDn
uoboooooboooobooooooooooocOoooOoOoooOOo0om@mooobooooooOoO00 000000000
ooboooooboooooboooooobobooooboooooooo

1 _ (e

YERMBIE = T /N1 RFElE TN REELE

0141 ODO0OO0OO0O0OOOOOOOOOO 0142 0000O0O0O0OOOOOOO

*2 00000 new O TRUEOOOOOOODOOOOOOOO00O00000000000000 askd TRUEOOOOOD help O
example 0000000000000 O00DOO0OOOOOOODOOOOOO
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00000000000D00000000000000000000000D0*®00000000000000000
goboooooobooooooooooboooooooooboooooboooooOooooooooooooooooon

'O h4ElE (Plot Region)

mai [2]

mai [1] 2B (Margin)

{FXI%E1 (Figure Region)

1424 0ODO0OO0OODOODOOOO

xpd = F O FALSEOOOUOOOOOOODOOODOO0OO0OO0OO0OOOODO0O0O0OO0O0OOTRUEOOOOOOOOOOO
J0d0000000000oUOoONADOOOOOOOOOOOOOOOOOOOOOOOOOOOOO

library(rpart)

result <- rpart(Species ~ ., data=iris) # 000 par(xpd=F) OO par(xpd=NA) OOOOO

>
>
> plot(result)
>

text (result)
Petal.Length< 2.45
th< 1.7¢ ﬁ;
selosa Petal Widith< 1.75
versicolor virginica
0 14.3 par(xpd:F) gooooog 0 14.4 par(xpd:NA) oo0ooooo

1425 0000O0OOplotregionD 00000000 ODOOOOOOODO

0o 00
pin = ¢(6,6) 00000000000000000000000

plt = ¢(0.1,0.9,0.1,0.9) | 0000000 xO0yOOOOO0O0O00000000000O¢(0,1,0,1)0000
00000000000000000

ps = 12 000000000000000000000

pty = "m” "¢ 000000000000’m” 0000000000000000”m” 000
000000000000000000000000000000000

*3 00000 ps,eps 0000000000000 000000O0OOOODOOO
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O00O0Opar("usr”) D0O0ODO0ODOODOOOOODOOO

> par("usr")

1426 O00O0O0OOfigureregionD DD ODDODODOOOOOOOODOOO

oo oo

fig = ¢(0, 1, 0, 1) 00000 xO0yOOOOOOOO0D00000000000000 «(0,1,0,1)
0000D0000000000000000000000000c(0,0.5,0.5, 1)
00000000000000000000000000000000000
000000000000000000000 par(new=T) 00000000
00000 SOO000m

fin = ¢(5,5) 000000D000000000000 par(fin”) 0000000 [6.968749
6.958332) 0000000 ¢(5,5) 00000000000000000000
000000000000000000000000000000000000
00 par(new=T) 0000000000000 SOO0000O

1427 ODO0OOOODOOOO

gbooboobooboobboobooboobboobooboobbooboobo

ERN gd
mai = ¢(0.85,0.68,0.68,0.35) | 0000000000000 0O00D0O0OO0OODO0OOO0O0O0O0OOOmar 00
0000ooooo ptODpin0DO0OOOODODOO
mex =1 gooobobbooooobobboooobobboooobbboooobboog
gbobobobooooooobobobobooooobooboboboooo
gooooooooooooooooooo 05000000000 00000
goood
mar = ¢(5, 4, 4, 2) gboboboboboboooooboooobobtbOmexd oo
goooodoooOooOo0oooo0o0obooo soooUoUoboooguooooog
000000 400 (4mexD)0000000000mail 00000000
OO0 ptOpin DOODODODODO

omi = ¢(0, 0, 0.8, 0) 0000000000 00000000000000000000 (outer margins
ininches) 00O OOOOO

oma = ¢(2, 0, 3, 0) 0000COOO00000000DOOOOOdouter marginO0 0 00O 00 mexd
goooon

omd = ¢(0, 1, 0, 1) gooobooO0o oboo 10o0ob0obOO0o0O0o0obobDooboboooboooog

(z1, 2, y1, y2) 000000000 0ODOOOOOOOODOOOOODOO

o000 yOOooooooooooooooo mar DOO0O0000OO0O0OCOO0OOCOOOOOOODOOOO

> par(mar=c(5,4,5,4))
> plot(1:10)

> axis(side=4)
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143 000000000 OODODOOODOOO0

00000000000 000000000D00D par() 00000000 DOOOOOOO plot()00OD0ODOOOO
goobooooooobooboboooooooooobobooboboooboobobobooboobDobOobobOooo
Opch0000O0O00ODO20000000000000000000000O0DO par()0D0O0DOODOOODOOODO
gogboodooboboobooboobboooboobboobbooboobbobobooboobboobooboOoo
000000000000 00LO0000DO00000O0U0D0U0OD0OD (DDUO0ODO0ODDOOLOODOODODODD) O

> plot(1:10, pch="+") # D000ooooooobooobo "+ 00oogo

> par(pch="+") # Jooogoooooboobooboo "+ booobd
> plot(1:10) # 00000000 "+ 000

> plot(1:20) # DO00O0O0oOooooog "+ 0o

1431 OO0OOOODOOOO

col 00 00OD0ODOO colaxis, collab, col.main, col.sub 00 0000000000000 O0000O0O0OO0ODOOOO
ooooooooo

oo oo
col = 1, col = blue 0000000 (color) OO col=000000000000 (ODODO 1)0DOO

l00000oo0ooobobooooboooobobobooooo

col = rgh(l, 0, 0)0| OO0 col=rgh(00000)000000D0001600000000000OO0DOOO
col = "#FFFFFEF’
col = rainbow(10) 0000000 Orainbow(n) O heat.colors(n) O terrain.colors(n) O topo.colors(n) O
cm.colors(n) 0 col 0000 O0DOO0ODOODOODOODOO

col = hsv(.5, .5, .5), | 0000 hsv 000D 0ODOO0ODOODOODODOODOODODOODOO

col = gray(0.8)
gamma = 1.0 goboobogo

1432 0ODOOOOOOODO

pch =0 Opch =700 0000000000000 000O0O0O0OO0OOOOOOOO0O0O0 000 2500000
oooooooo "+ 00000000

]pch\qmHpch\mmHpch\DDHpch\DDHpch\DDHpch\mm IENEER

o | Ll 1] O 2| & | 3 | 4 ' 5 6 | V
7 B s | kKo E o] ® ||| |12 B |3

4| M s | Mg | @ g7 | A | 18| ® | 19| ® | 2 | ®
21 | © 22 | | 23 24 | L

1433 O00OO0OO0OOODOOOOODOODOOOO

gooboobooboobbooobooboobboobooboopbooboobboobDboobUoobOoOoo
gboboooooboobogoboo
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od o0
adj =0 0000000000 (ooDO0oooo0500000010000)00000D00adj =
c(x,y) 0 xOODODDO yOOODOOOOODOOOODOODO
cex =1 0000000 100000000000000O0O0ei000O0O0O0OOOODOOOO

000000000000 00000000000000000O00 cex.axis, cex.lab,
cex.main, cex.sub 00 0000000000000 0000DO0OO0OO0OOOODOOOOO

ps = 20 dodddoooooooooobobooobooooo

text(x, y, labels="0 | OO0 (x,y) 0 labels 00 0000000000000 OOOOOOOD (D0O0ODODO)O

00”7, srt=90) 000 (x0O0O0O0O0O0O0)000000 et 0000OQOODOODO (DODOD)DODO
gd

col =1 0000000000000 col.axis, collab, col.main, col.sub OO0 O0O0OO0OOOODOOO
O000ooO0o0oooooooooooo

font =1 00000000000 (100000020000003000000040000000

0000000000 (Adobe symbol encoding) ) 00000 OO font.axis, font.lab,
font.main, font.sub 0000 0000000000000 OOOOODOOODOOOOOO
gooo

family="" O0oo0o0oooooooooooooooo »” oUoooooooooooDooooo
O0000O000O0ooOoog 7serif’d”sans”d ”mono”0 ”symbol” 0000000 OO
gopboobooboobboot

1434 0O0O0OODOOOO

000000o00oooooo*o

0o oo
Iwd =1 0000 (linewidth) 0000000000000 0OOOOOOOOOO
Ity=0 O lty="blank” 00000 (linetype) 000D0OO0OD0ODOODOO
Ity=1 O lty="solid” 00000 (linetype) DODOODODO
lty=2 O lty="dashed” 00000 (linetype) 00DDOO0OO0DOO
lty=3 O lty="dotted” 00000 (line type) oooooooad
lty=4 O lty="dotdash” 00000 (linetype) 000000 DODOO0OODODO
Ity=>5 O lty="longdash” 00000 (linetype) 00D0OO0DODOOOODO
lty=6 O lty="twodash” googd (line type) oooooooooobog
type = "p” 00000 (0000D)0000
type = "1” 00000 (Dooooo)oooo
type = "b” 000000000000
type = 7¢” b’ 00000000000 00DOOO0O0n
type = 70" gobooboobobooobooboooboo
type = ”"h” o000 xOboobooboobooon
type = 7s” goboobooboobooobooboo
type = 7S” ooboobooboobbooooboo
type = "n” ooboobooboobobooboobboobobooboobom

** 000 ’lend’0 00000000 ”round” 0 10 ”butt” 0 20 ?square” (11 *Theight’0 *ljoin’0 0 0 0 0 0 0 O 0 00 ”round” 0 10 ” mitre” 0
207 bevel” [ 'Imitre’ 0000000
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1435 00O0O00OODOOOO

00 00
bg = "blue” 0000000000

fg = "blue” 0000000000

bty = 70 0000000000000000000

bty = 717 00 LOD00000000000000000
bty = 77 00 7000000000000000000
bty = "¢” 00 COO00D0000000000000
bty = "u” 00 uwD0000000000000000
bty = " 00 ]00000000000000000
bty = "n” 000000 (0000) 0

1436 O000OO0OODOOO

oo oo

ann = F FALSEOOOOOOOOUOOOOOOOUOoOooooooo

las =0 gobgooboobobooobd

las =1 gobooboobogoo

las = 2 gobooboobbooboo

las = 3 goboobooboooo

lab = ¢(5,5,7) 00 300000000000000x0y0O00OO0O0DODOOODODOOODODOOOOD
0000000000000 0LO00O0O0O0ODOD (R211)000DDOOOOOO

mgp = ¢(3,1,0) 00 30000000000000O0O0OOO0O0OOOOOOOOO0OO0O0OOOO
000 (mexO0D)O0OO0DDOOO0ODODOOO

tck = NA gooboboooobobboooobboooobbbooobbbooubbboo
000000000000 00000000000 tck=1000000000000
000000000000 NAOOODOOO tel=-050000000000000

tcl = —0.5 0000000000 D0000D000 (mex) 00000000 DOODOOOOOODOO
000000000000 00ooooooooooon tel=NAOOODODOtck O
—-0.01 00000000

xaxt = 7s” Oyaxt = "s” 000000000000 00ooUOooOUDoOOooOUOOooOUODOoOooOOOooOO”!” O
7 0000000000

xaxt ="n” Oyaxt ="n"” | 0000000000000 0D0C0OCOCOOO000O0Oxaxt="n" 0 yaxt="n"0
00000000 axes=FOOOOOODO

xaxs =7r" Oyaxs ="1” |x Oy 0000000000000 0000O0O00O00 4% 00000000000
goboobooboboobooboo

xaxs = "i” Oyaxs = "1’ xUOybodbobooboobooooboobooboooboobooobobooo

par(xaxp) O par(yaxp)

xOyOoOooooooboooooooooooooooooooooooboooboo
ooooooobooooooooooboooooooooboOooooono

xlog = F Oylog = F

000000 x0O0ODO0O yoUOOooDOoUOOoOODOoOOOOO TRUEDOOOQODO
0000000000000 00000UUOU FALSEOoOoooooag
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0150

Juoootdobootddboboodd

ROOOOOOOOODOOOOOOOOOOOOOOOOOOO0OOOO0O0OO0OOOOOOOOOOOODOODODODODO
oo0ooOo0o0oOoOoOoOooROODOoOOOOOOOOOOOOODOODODOOODOOODOODODOODODOODOOO

15.1 0000000 locator()

OO0 locator() 00 00D0O0OOODO0ODO0ODOODOOO0ODO0OUOOODOODOOOOOOO locator() DODOOOODO
ooo0o0oo "0’ 0000000000000 0O00O0O000OO0O000O0O0O000ODO0O00D0ODOO000
0000000000000 00O0WIndows D ROOOOOODOO0O0OO0OO0OO0OOO0O0O0O0O0OOOOOOOOOO
ooooocoooood

> locator() # J000000OO0000O000O0oObo0O0obooOoOoOoOoOboOoOooboooOoa
> locator(10) # 100000000000 (0000 512 000)

locator() D00 0D0O0O0O0O0OD xUO yOOOODODODOODODODODOOODODODOOOODODOOOODODODOODOOOOO
gbobooooboobobobooooooooboDbo

> z <= locator() #z 0OOOOOOODOO x0O yoOooOoooooooooo

CoooooooboocOoooocoooooOoooOoboOooboOoooooonog

> text(locator(l), "Outlier", adj=0)

152 00000000 identify()

0000000000000 00000000000000D0000DO000O0ODLOO0DO0OOO identify() OO
000000 lecator() 000D0OD0ODO 07 0000000000000 OD0OOOOODODOOOOOO

> x <- rnorm(20); y <- rnorm(20) # yOOOOOO 200000

> plot(x, y) # (x, y) 0000000

> identify(x, y, x) # 0000000CO0O00C000 xOoOoooooooo
> identify(x, y, y) # 0000000000O00O00 yOOOOOOOOO
> identify(x, y) # 00000000000000O00000O0000D0A0
[1] 8 11 16 20

identify() 00 30000000000000000000OOOODOODOOOOOODOOOOOOOOOOOOOO
gboboboooooobogboboooooooobobobobooooonoo
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identify() 00000000 x0OyOOODOOOODODOOODOOOODOOODOOODOOODOOOO 80110160
200000000000D0000MO

> pt <- identify(x,y,y) # identify(x,y) U0 identify(x,y,x) OO
> pt #pt 000000000000
[1] 8 11 16 20

(00 1) plot=F O0D0OO00OO0O0ODO0OOOOOOOOOOOOOOOOOD (DOOOOOODOOOOODODOOODOD)
O

(00 2)00000000000000 0.250000000000000000000D0O00O0DO0OO0OOOODOD
gobooooooboboooooboOoboobocoooooO0oOooboOoooooOoOoobooOooooOoOoOoOoObOboOoOooon
ooooooooocoooooono

warning: no point with 0.25 inches

warning: nearest point already identified

153 000000 00bOooooooon

ggoooooboobooboooboobuoobbooboobboobbooboobboOobLbOooo

1531 00OO0O0O0OO0ODOOOOODOODOOO

gobooooooooboooobooooooOoo0ooooOoOoooObocOo0obooOoOoOooon

omal3]

mirow=c(3.2)
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0000000000000 0O0D000O000000D0OD0D par()JD0O0DOODDODOODOODDOODODOO
goboobboobooboobboobooboobboobooboboobbooboobboobooboon
D000 omaUO0O0O0O 4mexO0OmexO00O0O0O0O 1000 400000000000000

> par(oma = c(0, 0, 4, 0)) # 0000000000000 00

goboboboobooboooboobuoobbooboboobg

aagd od
mfcol = c¢(m,n), mfrow=c(mmn) | 000 m 0 n 0000000 mfecol 0000000000 Omfrow OO0
0000000000000 0000100000000 mfrow=c(1,1) 00O
0 mfeol=c(1,1) 0000000

mfg = c¢(i,j,m,n) C00mOnOdOooOoOooooOoOooDOOO0oOOOOoDOOOoOoOOoOn
ogoooooooooob igjoooooo
fig = ¢(4,9,1,4)/10 cooobooooooooobooooooooooooooooooobooooo

cooboooooboooooobocOoboooOoOoOobOboOoooomooboooon
coobooooooooooooooooooobooooooobooooboooon
oooo

00O0DbO0o00O 2x2000000

> par (mfrow=c(2,2))

gooobooooboboob 1oooboobogooobobobOoobDobOobOUobUobboUoboooDoDOoDbOo

> plot(sin)
> plot(cos)
> plot(asin)
> plot(acos)

OO0 owter=TOOO0OOO0O mtext 0000000000000 0O00O0O0O0O0OO0O

> mtext(side = 3, line=1, outer=T, text = "Title", cex=2)

0000000000000 000000000D (oma) 00000000 DODOODOOOOOOOOOOOOO
oooood

Title

0151 000 0152 00O

(00 1) 00 frame() 0000000000000 O0OOOOODOOOODOOOOOOD 1000000000000
gooood
(00 2) stars 0 pairs 0000000000000 00OO00ODO0OOOOOOOOOOODOOOOOOOOOOODOO



010 00000000000000000 150

1532 0O0O0OO0O0OODOOODOODOOO

0000000000000 00000 mfrowd mfeol 00 0000000000000 000000O0O0O0O00O
gogboobobooboobooboboobooboobbooboobboobbooboobboobooboon

layout() 00O ODOODOO
00 layout() 00000000 mat 00 000000000000 DO0OOO0OOOOOOOOOOOOOODOOO
b0 xOooooobooboboooooooobooboboboobooo

> mat <- matrix(c(1,0,2,2), 2, 2, byrow = TRUE)

> mat

[,11 [,2] # 000000 (QOOO) O
[1,] 1 0 # (1 0000) (@OOOooDOoo)
[2,] 2 2 # (- 20000 -—------—- )
> layout (mat) # 000000

> plot(sin)
> plot(cos)

layout.show(n) 000 0000000000000 DOOO lem(x) 00000000000 DOOOO

layout (matrix(c(1,3,2,2), 2, 2, byrow = TRUE), respect=T, widths=lcm(5), heights=lcm(5))

>

> plot(sin)
> plot(cos)
>

plot(acos)

split.screen() D000 D0DOD0D0ODO

00 split.screen() 000 200000 ¢(m,n)0000000000D0D0000O0ODODOOOOO*OO0OO0
ooooooooooooOoOooOooooOoOoOoOOoOoOoOoOoOoOoOoboOoOoOoOoOoooOoOooOooO0O0 20000000
gboboooooogo

> split.screen(c(2,1))
[1] 1 2

000000000000 100000000 2000000000 screen DO00OO0O0OO0O0ODOOCOOOODOCOO
ooooooooooooooOooOoooooOoooOoO0o0ooooooOoO0b0bD 20000 30000000000
ooo

*1 0DDO000000D000000000000
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> split.screen(c(1,3), screen = 2)

[1] 345

> screen(1); plot(rnorm(10))

> screen(3); plot(rnorm(10), type="1")
> screen(4); plot(rnorm(10), type="S")

> screen(5); plot(rnorm(10), type="h")

# 00O
# 00O
# 00O
# 00O

1 00000
3 000go
4 00000
5 00000

0000000000000 000D000000D (D0D0O0D0O0DO0O0OO0OD) O

rnorm(10)
1.0, 00 10

0(1) °

3)

rnorm(10)
(9, 09 19

LI B B
2 6 10

Index

Index

(4)

05

morm(10)
{05

15

rnorm(10)
{05

T
2

LI LI B |
6 10 2 6 10

Index Index

000000000000 frame() 0D0D000000O0OOOOO erasescreen() 00000000000 OOO
goooooo0oobOoobOobOOobobO0obOUoobOooOU0o0obDOoOobOO0bDOoOooObO 1ODoobobooobOoboOoo

close.screen(all=T) 00O 000000

1533 O00OO0OO0O0O0D

000000000000 add=TOOOOOOODODOOOOOOO0OO0OO0OODOD2000000 xO00 yOoOoOO

ggboooboooboobooo

> plot(cos, -pi, pi, 1lty=2)

> curve(sin, add=T)

0000000000000 00 add=TOODODOOOOOOODDOOOOODOOODOOOOO0DODOOOOOO new
goboooooooooooocoboboboooooooooboooooocoooooooooooooooooooon
oooo 20000000000000000000A0

(00 1) par(new=T) 000000000000 DDO0ODOO0OODOOODOOOODOOODOOO2000 plot() D000
0000U0000o0o0ooo0oo0O0U0U0oUooool1oooooOo0gg axes=F | xlab=""0ylab=""000

00 ann=T 0000000 QCOODOOOO

(00 2) par(new=T) 00 0000000000000 DO0OOOOODOODOOODOOOOOOOOOOOOOODOOO
0000000000000 000D0O0000000D00D0O0D00O00 xlim = ¢(x0, x1)0 ylim = ¢(y0,

yhyoooooooo
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x <- rnorm(100)

par (new=T)

hist(x, xlim=c(-4,4), ylim=c(0,0.5), prob=T, ann=F)

xlab="", ylab="", main="", col="red")

# 00000 100 00000
# 000000000
# 000000000

plot(density(x), xlim=c(-4,4), ylim=c(0,0.5),

# JDOooboooobobooobg

goo

O000axis() 0 20000000plot(density(x)..)0 00000000 yOOOODODODODODODODODOOODOO

> axis(side=4)

Histogram of x

Histogram of x

Density
0.3 0.4 0.5
1

0.2

0.1

0.0

0 15.3 axis() DOD

L L w0
o o
< L <
(=] /\ o
™ L @
o o

2

[%]

c

3]

a
N L
o o
b L
o o
=] L <
o o

0 154 axis() DOO

(00) axis() DOD0O0 yOOOOOOOODODOOOODOD mar 0000000000000 0000000O0O0O0O0OO

oooood

goooocooo
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16 O

Juoogudood

16.1 ODODOOO

oo0oboooo0ooobOoooo0ooboooo0ooobooOoooOooobooOoooOoOoooDoboOooooooDi100 00O
000D 20000 xO0y0OOOODODOOOOODDO0O0O0ODDO000000D000000000*g

> x <- ¢(0.7,-1.6,-0.2,-1.2,-0.1,3.4,3.7,0.8,0.0,2.0) # 0000 1 0000000000 O0OOO
>y <-c(1.9, 0.8, 1.1, 0.1,-0.1,4.4,5.5,1.6,4.6,3.4) # U000 2 0000000000 0OO0OO

000000000000000000000000000000000000*0

00 ave(x) fivenum(x) IQR(x) max(x) | mean(x) median(x) min(x)
EEN oo (oo) 5000 40000 ggno EEN aoo ooo
oo quantile(x) range(x) sd(x) sum(x) | var(x,y) | weighted.mean(x)

oo goooogo oo gooooo go gogo gpooooo

000000000000 000 summary() D00DO0O0O00ODOOOOO

> quantile(x) # x JO0O00Ooooog
0% 25% 50% 75%  100%
-1.600 -0.175 0.350 1.700 3.700
> summary (y) #y OOQOOOO
Min. 1st Qu. Median Mean 3rd Qu. Max.
-0.100 0.875 1.7560 2.330 4.150 5.500

16.1.1 0ODOOOO

00000000000 pie(result) O barplot(result) 00 0000000000000 OOOOO

> breaks <- seq(-2, 4, 2) # J00oooooooooo
> ( result <- table(cut(x, breaks)) ) # 000 result OO0
(-2,0] (0,21 (2,4]

5 3 2

*1 0DDoODO0O00000 1700000000000

*2 5000 fivenum() 0000000000000 00000000000O0O0040000 IQR()0O0O0 3000000 10000000
00000000000 quantile() 0000000 1000000000 3000000000000 range() 000000000D0O0OOOO
000000000000 000D000 sum((x-mean(x))”2)0 mean((x-mean(x))”~3)/(sd(x)"3)0 mean((x-mean(x))"4)/(sd(x)"4)
000000ooooooooooooooooooooooo0 o00dooo 3000000000000O0O0On elo71DOOOODDOO
00000000 skewness()Okurtosis() 000000000
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16.1.2 O0OO0OO0OODOOOOODOODOOOOODOOOO

000000000DO0000 var() DODOO0OODODOOOODOODODODODOOODODOODOODODOO
0000000000 x0O0D0000 0000000000 E()0D0O000var(x) 0000000000

" _[E(z?) - {E)}?]

0000000000000 O00 var() D000 (n—1)/A00000000000D000DO0OCDOOODOOODOO
ood

var(x) = T
" —

> var(x) # 0000
[1] 3.200556
> variance <- function(x) var(x)*(length(x)-1)/length(x) # O00O0OOOOOCOCOCOOCOO

> variance (x)

[1] 2.8805

> sd(x) # 000000
[1] 1.789010

> sqrt(variance(x)) # 000000

[1] 1.697204

16.1.3 0DOO0DOODOO0ODOODO

2000000000000000000000000000D00000 var()00000000000000 10
00000 200000000000000000000000000 var() 00000000000000000
0000000000000 000000000000000000000000000000000000000
var() 0000 (n—1)/n 000000000

0000000000000000000 cor() 00000000000000 1000000 200000000
00000000000000

> var(x, y)
[1] 2.848333
> cor(x, y)
[1] 0.7951702

coooooooboocooooooooboOooooOoooobcOooooOoo

> my.cor <- function(x) {

+  tmpcor <- cor(x)

+ if (det(tmpcor) != 0) sol <- solve(tmpcor)
+ else { library(MASS); sol <- ginv(tmpcor) }
+ d <- diag(sol)

+ sol <- -sol/sqrt(outer(d,d))

+ rownames(sol) <- paste("Var", 1:ncol(x))

+  colnames(sol) <- paste("Var", 1:ncol(x))

+ return(sol)

+ 7}

> sampledata <- matrix(c(1:9), ncol=3, byrow=T)

> my.cor(sampledata)
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Var 1 Var 2 Var 3

Var 1 -1 -1 -1
Var 2 -1 -1 -1
Var 3 -1 -1 -1

16.1.4 OOOOOODO

gobooooboo0oooOoooo0 xbooooooooooooooooooooo oooboOo 10D000D
0000000000000 00000D00D0O000000D scale(x) 00D0DO0D0OOD0ODO0ODOODO xOODODOODO
00000000000000 0000000000000 (D0OD0D0DO00D000DO0DO000O0O00OO0)O0O00O
1000000000000 (0D000D0000000000000000)0 20000000000000*00
ooboooooboocoobooooooocOoobooOonooon

> scale(x)

[,1]
[1,1 -0.02794842
[2,] -1.31357592
[10,] 0.69871059
attr(,"scaled:center")
[1] 0.75
attr(,"scaled:scale")

[1] 1.789010

162 ODOOOOODO

RODODODDOO000000000 f(2)00000 P(X<2)0000 min{z : P(X<z)>¢} 000000
00D00000000000000

1621 0ODOO0ODOO

gobooooooooboooooooooboboOooobooOoOoooOoboOobOboOoOooOoOoboOoOobOoOoobooOoboOooon
UOxx 0000000000 *“ gxxx" ODOO0ODOOOO0OOOOO0O0ODOOO00DOO tO000000000000D pt
ooooo qgtO000000oooon

g 000 (0000D00xxx) uo
oooo (pdf) dxxx(q) q0O0000000000000000 norm OO0
dnorm(q) 0O OO
0000 (cdf) pxxx(q) q0000D0000000000000 norm 00O
pnorm(q) 0000
000 (quantile) qxxx(p) p0000000O0O0OOOUODOO norm 000 gnorm(p)
gooo
RN rxxx(n) noogooobooooooooobooboOnD norm O
OO0 rmorm(n) 0000

*3 00 scale() O center=F 0000000000000 00000000000O0O0OOOscale=F0000000000000O0OOOO
ooooooooooo
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163 ROODDODODODOODOODOO

ROODODDODOOOOODOODDOODOOOODODOODOOODOOODOOODO qtukey (0O0O) O ptukey (O
000)00000000000000 dmultinomD0000000 rmultinomd000000000000C0C0O0O0OOO
000 pbirthdayD 000000 gbirthdayD 0000000000000 00000O0D0OO00O00*O

ooo ooooo ooooo ‘
ocoooo beta shapel, shape2, ncp
oooo binom classes, coincident, prob
ocooooooo birthday | size, prob
ooooog cauchy location, scale
oooood chisq df, ncp
gooo exp rate
FOO f df1, df2, ncp
ooooo gamma, shape, scale
oooo geom prob
ooooo hyper n, m, k
gooooo lnorm meanlog, sdlog
goooooooo logis location, scale
oooo multinom | n, size, prob
oooood nbinom size, prob
oooo norm mean, sd
oooood pois lambda
gdooooooooobon signrank m, n
gooooood
t oo t df, ncp
ooono unif min, max
gobooboooboogoo tukey nmeans, df
oooooo weibull shape, scale
goboobooobooooo wilcox m, n
ooo

(0 1) 0000 binom 0000000000000000000 lowertail 1000000000TRUEOODD
00 PX<x]OOFALSEODO P[X>x] 00000*0

dbinom(x, size, prob) #x : 0000, prob : OODODODO
pbinom(q, size, prob, lower.tail = TRUE) # q : quantile O0OODOO

TRUE) # p : DOODOO

rbinom(n, size, prob) #n: 0000 size : OOO

gbinom(p, size, prob, lower.tail

(02) 00040 t0000000000 0.05000000000000 qt(0.025,4) 0qt(0.975,4) 000000
00000000000000

** MASSOOODOOOOOOOODOOOOOO mvrnorm() O Omvtnorm 0000000000000 00000 rmvt() 000000
O00mvtnorm 00000000000 0D00000000000 dmvnorm()0 pmvnorm()0 rmvnorm() 000000000
*5 0000 log,logp 0000DO0DODOOTRUEODODODDOOOODODDODOODODOOOOON
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(0°3)

(O0°5)

dt©,4) - — — — — — —

0.3

0.2
1

0.1

pt (2.78, 4, lower=F)

0.0
L

[ T T 1
-4 -2.7N 0 2.78 4
gt (0. 025, 4)

0 16.1 pt(), qt(), dt() 000

0000 norm 0000000OD f(x) 00O0O0D0OOD0O0ODOO0OO0OOOODOOODOOOOODOOO

> dnorm(0) # D000 (DOoOooooooooo)
[1] 0.3989423
> rnorm(5)

[1] -2.0024918 -0.5996763 -0.3108348 1.2590405 0.3661534

cooooooooooooocOoooooooon

> curve(dnorm, -4, 4, type="1") # 0000
> plot(0:10, dbinom(0:10, 10, 0.5), type="h", lwd=5) # 0O00Od

0.4
0.15 0.20 0.25
I I I

dnorm (x)
2

dbinom(0:10, 10, 0.5)
0.10
L

0.1
0.05

0.00

0162 0OO0OO 0163 0OOOO

000 (p,n-p-1)0 FOOOODO 100 x a% 00O ¢f(1 - alpha, p,n-p-1) 0000000000000
00 (2,3)0 FOOOOO 5% 000000000000000DO000O0O

> gf(0.95, 2, 3) # qf(0.05, 2, 3, lower=F) OOO
[1] 9.552094
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16.3.1 000000 set.seed()

00000 ROODOCOOOOODOOUOOODUOCOUOOOD (D00 ROUODDODUODODODOO
000000000000000)00000000000000000000 setseed() D0DDO0OOOODOO

> runif (5) # 00000 5000000
[1] 0.8039566 0.6593698 0.8120159 0.1279622 0.1115031
> runif (5) # D0000o0oooobooboo

[1] 0.5694816 0.4504077 0.1823374 0.4573758 0.9061499

> set.seed(101); runif(b) # 0000 (seed) OO0

[1] 0.37219838 0.04382482 0.70968402 0.65769040 0.24985572

> set.seed(101); runif(5) # 0000000000 OOUDOOOOOOOOOOO
[1] 0.37219838 0.04382482 0.70968402 0.65769040 0.24985572

16.3.2 2000000

0000000 20000000000000 r2norm() 000000

> r2norm <- function(n, mu, sigma, rho) {
+  tmp <- rnorm(n)
+ x <- mutsigma¥tmp

+ y <= rho*x + sqrt(l1-rho”2)*rnorm(n)

+

return(data. frame (x=x,y=y))
+}

> mydata <- r2norm(100, 0, 1, 0.5)
> cor(mydata$x,mydata$y)

[1] 0.5756098

16.3.3 30000000

3pooooon
0003000000000000000000 r3norm() 000000

> r3norm <- function(mu, A, n) {

+ U <- svd(A)$u; V <- svd(A)$v; D <- diag(sqrt(svd(A)$d))

+ B <= U %*% D %x% t(V) # 00O A0OO0O0O

+ w<-cO

+ for (i in 1:n) w <- append(w, list(mu + BY*Jcbind(rnorm(3))))

+  return(w)

+ 7}

> mu <- cbind(c(1,1,1)) # 000000 @oooo)
> A <- array(c(2,1,1,1,2,1,1,1,2), dim=c(3,3))
>

w <- r3norm(mu, A, 2000)
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300 t00
goboobogoooo

RO ODO0O0mOO000O0O0O0OCOOOOO

Z0 pDDDDDDN(O,Ip)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
Vo 000000000000000000D0000000000000ooog
V==C%*%t(C)0 0000000

X =sqrt(m/R)*Z0 pOO0OO00O t00 met(p,m,0,[,) 000

Y = p+C%*%X0 pOO0OO00O t00 met(p,m,u,V)D OO

00030000 +00000000000000 met3() 000000

> met3 <- function(m, mu, V, n) {

+ #m : 000, mu : OJOOQOGQOGQO, V: OOOOOO, n : OOO0OO
+ U <- svd(V)$u; V1 <= svd(N$v; D <- diag(sqrt(svd(V)$d))
+ B <= U %% D %% t(V1)

+ w <= cQ)

+ for (i in 1:n) {

R<-0

for (j in 1:m) R <- R + rnorm(1)~2

+

+

+ w <- append(w, list(mu + B %*} (cbind(rnorm(3))*sqrt(m/R))))
}

return(w)

+

+

+ 3}

000000000000 w00000000O0 m/(m—-2)«V Om>2)000000000 00000000
gbobooooboobobobooooogon

mu <- cbind(c(1,1,1))

V <- array(c(2,1,1,1,2,1,1,1,2), dim=c(3,3))
n <- 1000

w <- met3(5, mu, V, n)

sm <- 0

>
>
>
>
>
> for (i in 1:n) { sm <- sm + w[[i]] }
> sm <- sm/n

> sv <=0

> for (i in 1:n) { sv <- sv + (w[[ill-sm) %*% t(w[[il]l-sm) }
>

sv <- sv/n

1634 0ODOOOOODOODOOOO

000000000000 00000000000000000000000000 0000000000 00aOn
00X =F1U)D
P(X <2)=P(F ' (U)<z)=PU < F(z)) = F(z)

o000o00 XO00oooo FOOOOO0O0OOOO0O0OOOOO0OODOO0OO0OOOOO00DODOOO0ODOOOO0OO
oooooono
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(0 1) 000000000 F(z)=1—exp(—2) 00000 —log(1—2)0000X =—log(1-U)0000 X O
00 100000000000001-0U0U000000000X=—log(U)00UO00000000D000
00000 10000000000 (000 2>0)0

(0 2) 000000 (000D000)000000 f(z)=1/2exp(—|z))000000000000 Uy, U, 00000
U;01/200000 —log(Uz) 000U, 0 1/200000 log(U,)0000000000000000000
0000

goboobboobooboobbooboobboobobd

v

rlaplace <- function(n) {

+

u <- log(runif(n))
+ v <- ifelse(runif(n)>1/2, 1, -1)

+

return(u*v)

}
> x <- rlaplace(1000)

+

1635 O000OO0OOOOOOOOD

gooooobuoobuooboboooboobuoobbooboobbobboobo0bbobDbooboobLbo
0000000000000 0000D000O0000O0 (DO0DDO0D0O00O00O0OOUOD)0D0O0OO0DDOOOOO
goboobboobooboobbooboobbobobda

f(zx) 0D O00DDODODOOOOOOOOOOOO

¢g(xy 0 0D00DODOOODOOOOOOO

¢«(>1) O f(zx)<c-g(z) 0000000 (0ODDOODO)
h(z) O = f(x)/{c-g(x)}

goboobboobooboo

(1) u <— runif(1)
(2) v <—g(x)DO0O0ODO
(3)u<h(v) 00O vOODOOOOOOODO

0000 f(z)=1/2sin(z) (0<z<7)0000000000000000D000D0000000

e g(x)=1/r (0<z<m)
e c=m/2

0000 f(z)<c¢-g(x) 00000000000 h(z)=sin(z) 000000000000 myrand (0000000
0)000000000000

> myrand <- function(x) {
+ y <-cQO; i<-1

+ while (i <= x) {

+ u <= runif(1); v <- pi*runif(1l); w <- sin(v)
+ if (u < w){

+ y <- append(y, v); i <- i+l

+ }
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+ return(y)
+ }
> mydata <- myrand(1000)

1636 000000000000 2x2000
0000000 2x2000000 r2dtable() 000000000000000000000

n0O0O000o0ogooo
rg 0oobooooooo
c0 0000000000 (Or0000000DO0O)

ooooooooooooobo rec0000OO0O0O0 2x2000n0000000C0O0GO

> x <- r2dtable(2, c(10,10), c(15,5))
> X
[[1]1]
[,11 [,2]
[1,] 8 2
[2,] 7 3
[[2]]
[,11 [,2]
[1,] 6 4
[2,] 9 1

164 OD0ODODOOO0ODODODODOOOOODOOOOOO

00 n000000000OD000000D0D mO0OO0OD0O0OODODOO0ODO0ODOOOODOO0OOO sample() OO
0000000000000 replace=FALSEOUOOOOOO

>n <- 20; m<-5

>x <- 1:n # 00 n0DOODOOO

> sample(x, m, replace=TRUE) # 000000O0oooooo
[1] 518 20 18 b5

> sample(x) #m=n000000CO

[1] 611 9 2 114 4 7 1520 16 12 3 5 18 17 13 10 8 19

> sample(c(0,1), 100, replace=TRUE) # 100000000000
[1711111110001101100000100111101001101000
381 0010000110011101001101010001001011001
[7f5] 11 001001110011110110000011

0000000000000 00000000000000O0000DO0000DDO0 (DOO0D0000O 1/n)0

> p <- runif(n); p <- p/sum(p)
> sample(x, m, replace=TRUE, prob=p)
[1] 17 4 16 12 20
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170

Joogtdbootgtddooodyn

171 O0O0ODOOOO

000000000000000000000000000000000 factor() DOOOODO table() 0DOO0O
0o00D000O0oooooooo*o

# 100000000000000

> attach(warpbreaks) # 00000000
> fc <- factor(tension) # 000DOODODOO
> levels(fc) # 000000000000 oOO

(1] "™ "M" "H"
> table(fc) # 0000000000 fc 000000000
fc

L M H

18 18 18

> data(warpbreaks)

00 cut() DODODOOOODOOOOODODOODOOO

> tb <- factor(cut(breaks, breaks = 10+10%(0:6)))
> table(tb, fc)
fc
tb LMH
(10,20] 3 6 8
(20,301 777

(60,701 2 00

000000000000D0000000000 tapply() DOO0DOOtapply() DO00DODOOO0DOOO

> # tapply(0 0000000000 COO0OO0OOOOOOOOOODOOOOOOOOO)

> ( mymeans <- tapply(breaks, fc, mean) ) # breaks 000O0O0ODOODODOODDOO
L M H

36.38889 26.38889 21.66667

> ( mysd <- tapply(breaks, fc, sd) ) # 00000000DOo0OoOooooo
L M H

16.446487 9.121009 8.352527

*1 00000 xtabs() 00000000000
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000000000000 0D0000 summary() O fivenum() 0000000 stem() 000000000 0Ostem()
OOstem(000,x) 000000000 (=1)0 xO00000

> stem(breaks)

The decimal point is 1 digit(s) to the right of the |
| 0234555667788899
| 001111445666678889999
| 00156699
| 1234
| 124
| 7
710

> summary (breaks)

D O W NN

Min. 1st Qu. Median Mean 3rd Qu. Max.

10.00 18.256 26.00 28.15 34.00 70.00
> fivenum(breaks) # 0000000000 ODOOODOOOOOOOO
[1] 10 18 26 35 70

Oo0001000000 20000000000000000000000000000000000000000O
ooboooooobooooooooooboooobooooo

172 O0O000O0OO0OO0O0OOOOOOOO
o000 —1000 10000000000000y 0002000 1000000000000000
f(z) =0.6¢(x) + 0.49)(x)

000000000000 0D000000 generator() DOOOOO

> truedensity <- function (x) {

+  0.6/sqrt(2xpi)*exp(-(x+1)"2/2) + 0.4/sqrt(2*pi)*exp(-(x-2)"2/2)
+ )

> curve(truedensity, xlim=c(-6,6), ylim=c(0,0.3), col=2)

000 f(x) DODODOODODOUOODOODOOUODOOO

> generator <- function(n) {

+ datal <- rnorm(n)-1 # 0 (x) DOOOO

+ data2 <- rnorm(n)+2 #y (x) DO0O0OOd

+ data3 <- (runif(n) <= 0.6) # 00 0.60 datal 00000

+ datal*data3+data2*(1-data3) # 00 0.40 data2 0000000000
+ }

00 hist() 0000000000000 00O000O00000 ROOODDOODOOOOODOprobability=T 00
oobooooooocooooocobobooOoooobooooooooon

> x <- generator(1000)

> hist(x)
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truedensity (x)
0.15 0.20 0.25 0.30
1 1 1 1

0.10
1
—
//

0.05
1

0.00
1

0171 0O0O0OO

173 ODO0ODODO0OO0OOODOOOO

Frequency

200

150

100

Histogram of x

i

-4

-2 0 2 4

01r2 00O0O0O0OO

000000000000 00000000000000000000000000Ohist() 0000000 000
00000 log,n+1(n0000000)0000000000000000000000000000000000
000 Sturges (1926!!) D00D0O0D000000000000000000000000000000000 (0O
000000)00000000000000000000000

00000000 MASSODOODODO truehist() (000000 Scott (1992) 000 0000000000) 0000
000 KernSmooth 00000 dpih() (000000 Wand (1995) 0000000000000)00000000

gobooboobbobboobooboo

> library (MASS)
> x <- generator (1000)

> truehist (x)

> library(KernSmooth)

KernSmooth 2.22 installed

Copyright M. P. Wand 1997

> x <- generator(1000)

> h <- dpih(x)

> bins <- seq(min(x)-0.1, max(x)+0.1+h, by=h)
>

hist(x, breaks=bins)

H# #

HH+

hist(x, breaks="Scott") OO0
hist() O breaks OOO0O Sturges O FD O
Ooooooooon

bin OOOODOOO0OO0OO xOOOOO
bin 0O00OD0OO0DOO0OOOODODOOO
gobooobooboood

0.20
|

0.15

0.10
I

0.05

0.00
L

100

80

Histogram of x
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000000000000 00O00L000O00LO00O00D0O0OL0OD0O0ODO0ODO0OD (OODO b00000OO)

library(KernSmooth)
x <- generator(100)
h <- dpih(x)

hist(x, breaks=bins)

bins <- seq(min(x)-3+*h/2, max(x)+3*h/2, by=h)

hist(x, breaks=bins)

>
>
>
> bins <- seq(min(x)-2x*h, max(x)+h, by=h)
>
>
>

# 0000

# 0000

11

Histogram of x

L

174 DOOOOOOOO

Histogram of x

0000000000000 density() D0ODO0D0000O0ODOO00OO0ODOOOOD0OOOODOODOODOODOODOO
ooobOooooooooooooobobooooooooobooooboooooooOoooDn

data <- generator(1000)

>

> plot(density(data), xlim=c(-6,6), ylim=c(0,0.3))
> lines(density(data), xlim=c(-6,6), ylim=c(0,0.3))
>
>

par (new=T)

# 0000 plot OOOOO

curve(truedensity, xlim=c(-6,6), ylim=c(0,0.3), col=2)

goboobdod xbgobooboboobooboooboobooobo

> plot(density(x))
> rug(x)

> rug(jitter(x, amount

= .1), side = 3, col =

"light blue")

density(x = data)

truedlensity (x)
010 015 020 025 030
I I I I |

0.05
I

6 -4 -2 0 2 4 6

N=

OO0 density() 000 bw 000000000 O0OOOOO

1000 Bangwidth = 0.3965

Density
015 020
| |

0.10
I

0.05
I

0.00
I

density(x = x)

11l
1 T
-4 -2

N=1000 Bandwidth = 0.4056

y
0 2

‘H\H 1
a

6
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OO0 bw

ud

nrd0

0000000 (0000000)000000000000000000000000O0
00000 1/500 134 00000000000000000000 0900000 (=
Silverman (1986) 0 O00000) 000000000 OOOOOODOOOOOODOOOO
00000000 bw> 00000000 (Silverman, B. W. (1986) Density Estimation.
London: Chapman and Hall.)

nrd

nrd0 O Scott (1992) 0000000000000 OODOOOODOOOO (Scott, D. W.
(1992) Multivariate Density Estimation: Theory, Practice, and Visualization. Wiley.)

ucv

gobogooboobooboobboobooboobboob

bev

gobogooboobooboobboobooboobboob

SJ-ste

000000000000 (00D000000000)00000000 Sheather & Jones
(1991) 00000000000 D00O0 (Sheather, S. J. and Jones, M. C. (1991) A reliable
data-based bandwidth selection method for kernel density estimation. Journal of the

Royal Statistical Society series B, 53, 683-690.)

SJ-dpi

000000000000 (DOD0D000D0OD)0000000D0 Sheather & Jones (1991)
goboboboooooogoog

bw O0O0O0OO0O0ODO

ooooood

oo

ggd

adjust

"bw” 000000000000 D0000 adjust*bw 0000000 O0OO0O0DOODOOODO
gboobobooooboobobooooog

kernel O window

000000000000 0D0D0DO0O0OO0O0O0OO”gaussian”d 00 O 0O 0O OO ”rect-
angular” 0O 7triangular” 0O ”epanechnikov” 0O ”biweight” O ”cosine” 0O ”optcosine” O
000000000 O0O0O0OD0D0OD0OO0 "epanechnikov” OO O OOO0OOODOO
0000000000 window="g” D00 OOOODODODOOOODODODODO
OO0O0”cosine”d SOOOO0O0O0OOOOO "optecosine” 00000000 OOO

width SO0000000oo0UooooUoooooD ?bw” UO0O0OwidthOOOOOGOOO
bw DO0O0O00O0O0OO00OO bwO widthOOOOOOOO

give.Rkern 000 TRUEOOOOUOUOOODOOOOUOOOOODOOOOOOOO canonical band-
width 00O OO0

n pddddoooooooobobooboo

from O to 000 from0O0 to0O0OO0OOO0 n—1000000000O0O

cut Jod0o0o0ooooododobOOd o0obOoOooDO0oOOoDOOdOO0oOoOoOooDOobOoooDOooooo
godddooooooooooooo

na.rm U000 TRUEOOODOOOOO xOOUOODOOODOOFALSEOODOOOOOOOOOOO

goooocooo

000000 generator() 0 f(z) 000000 1000 00000000000 (00000 ”SJ” 00000) 000
0000 DOdensity() 00000000000000000000%*0

*2 00000 KernSmooth 00000 dpik() 000000000000 0OODDODODOOODOOOOD bkde() 00ODOODODOODOO

> library(KernSmooth)

> data <- generator(1000); h <- dpik(data)

> est <- bkde(data, bandwidth=h)

> plot(est, type="1", xlim=c(-6,6), ylim=c(0,0.3))
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> curve(truedensity, xlim=c(-6,6), ylim=c(0,0.3), col=2)
> par (new=T)
> plot(density(data,bw="SJ"), xlim=c(-6,6), ylim=c(0,0.3), xlab="", ylab="")

density(x = data, bw = "SJ")

0.30
I

truedensity (x)
0.15 0.25
1 1

0.05
I

0.00
L

-6 -4 -2 0 2 4 6

175 00DOO0ODOO0OOOO

00000000000000000000000000000 hist2d() (000000 gregmise) 0000000
0000000 bkde2D() (0000 00KernSmooth) 000 kde2d() (000O00O0OMASS) 00000000000

> library(gregmisc)
Attaching package ’gregmisc’:
The following object(s) are masked from package:base :
lowess
> x <- rnorm(2000, sd=4) # 00000000 2000000
> y <= rnorm(2000, sd=1) # J000000 (persp) UDOODOOOUDOO
> # hist2d() OO0O00O0OOO
> h2d <- hist2d(x, y, show=FALSE, same.scale=TRUE, nbins=c(20,30))
> persp( h2d$x, h2d$y, h2d$counts,
+ ticktype="detailed", theta=60, phi=30,
+ expand=0.5, shade=0.5, col="cyan", ltheta=-30)
> library(MASS) # 00 width.SJOO 0O0OO0OO0O MASS OOOOO
> library(KernSmooth) # 00 bkde2D() O0O0ODOO KernSmooth 0O O OO
> x <- rnorm(2000, sd=4) # 000000
> y <= rnorm(2000, sd=1) # 000000
> f1 <- bkde2D(cbind(x, y), bandwidth=c(width.SJ(x), width.SJ(y)))
> persp(f1$fhat, phi = 30, theta = 20, d = 5)
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17.6 lowess() DO OODOO

OO0 lowess() DO00OODO0OODOOO0OOODOODOOOOODIowess() 00DO0O0OOOOD0ODOOOO x0OyOOO
00000000000 lines() 00DO0ODODOOOOODOODOOODOOOODOOODODOOOODO

lowess(x, y, £=2/3, iter=3, delta=.01*diff (range(x)))

OoooOooooooo*so

ag od
x Oy ooobooooooooooooobooooooooooboooooooooooooo
f ooobooooooooooooooooooooooooooooooooooooooooon
oooood
iter O000000000000000000D0 iter 000 lowess 0O0O00O0O0ODO
delta 00000 deta OO0O0DO00OO0 xO000 lowess 000000000000 0O0DO0OO

oooooooood

> data(cars)

> plot(cars, main = "lowess(cars)")

> lines(lowess(cars), col = 2)

> lines(lowess(cars, f = 0.2), col = 3)

> legend(5, 120, c(paste("f =", c("2/3", ".2"))), 1ty = 1, col = 2:3)

lowess(cars)

80 100 120
I I I

dist

* ooo Nadaraya-Watson 0000000000000 000000O000 ksmooth() 00300000000000000000O0ODO
O smooth.spline()0 Friedman O SuperSmoother 000000000000 supsmu() 000000000000000 runmed() O
smooth() OsmoothEnds() D0 DOO0ODO
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18 0

oo

gooboboboobodbooboboobooboobn

18.1 ODODOODO

ROODOO0OODOCOOOOOOUO0ODOOOODOOOOOOOOO0ODOOUOOOOUOODODOOUODOOODO

>000 (0000000000000 UULDUULOOOO)

goooooooboooooooooooooo

oooooooo od

000 (x) 10000000000000000DOD 1000000 xO0OOoOooo

000 (x,y) 2000000000D000000000 2000000 x,yOOOooO

ooo (y ™ x) xO0O0oOooobobyDbOobOoboooooooboobobobooooo

ooo (A) 2x2000000000000000000DO0O0OOOOOUOODOOOO0 ADOOOOO

goobgoiooooobOob0O0 20000000DO0ODOD0ODODODODOD 2000000000 0O0OOOOOOOO
O00000O00OO0O0O0OOU0OOoOOUOUOUsleepboooO

groupl | 0.7 | =16 | =02 | -12 | -0.1 | 34| 3.7| 08| 0.0 | 2.0
group2 | 1.9 0.8 1.1 01| —-01| 44| 55| 16| 46| 34

> groupl <- ¢(0.7,-1.6,-0.2,-1.2,-0.1,3.4,3.7,0.8,0.0,2.0) # 0000 1 000DO0ODOo0
> group2 <- c¢(1.9, 0.8, 1.1, 0.1,-0.1,4.4,5.5,1.6,4.6,3.4) # 0000 200000000

O000D00t0000000 ttest() 00DODODODO sleep000D0000O0ODOOOOODOOODO

181.1 000 (1)00O00 t00

00 ttest() 0 100 + 000000000000 0000O0O0OO00O0O0OODOODODOOOODOOOOOOOOO
gbobobooooboobogoboboboboobooogboobobobooooon

> t.test(x, alternative=c("two.sided","less","greater"),

mu=0, paired=FALSE, var.equal=FALSE, conf.level=0.95)

ooo0Ooo0b0 100000000000 t+000oo0o0o0o0o0oo0O0000 mubO OOOOOOOOODbOOOOoO
95% 00000000000
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> t.test(groupl, mu=0)

One Sample t-test

data: groupl
t = 1.3257, df = 9, p-value = 0.2176

alternative hypothesis: true mean is not equal to O
95 percent confidence interval:

-0.5297804 2.0297804

sample estimates:
mean of x

0.75

ooooooOoOooOoCbocoOmuO OO0OO0O0OO0OOOOOOMOOOOOOOOOO

oad oo
data goooooooooooo
t = 1.3257 t000o00o0b0ooobooboobooooog
df =9 to0goog
p-value = 0.2176 pO0O000O0O 0050000000000 DOOO0UOODUOODOODOOO
0
alternative hypothesis 0000Doo0oooooo oooooOono
95 percent confidence interval 95% 0000000000 [-0.5297804 2.0297804] DO DO DODODO
sample estimates 0oo0ooooooooooooono o5 0000ooag

goboobboobboobooboobbooboon

> t.test(groupl, mu=65, alternative="greater")

One Sample t-test

data: groupl

t = -113.5692, df = 9, p-value =1

alternative hypothesis: true mean is greater than 65
95 percent confidence interval:

-0.2870553 Inf

sample estimates:
mean of x

0.75

1812 000 (2)0000 t0O0

goo00o1000000b00ob0ob0ob0obOob 2000000000000 O0DOODOODODODOOObOOn
O00D000D ttest() DOOO0 t000000O0OODODOODOOODOODOO

> t.test(x, y, alternative=c("two.sided","less","greater"),

mu=0, paired=FALSE, var.equal=FALSE, conf.level=0.95)

00 ttest() D0ODODOD0D0ODOODODOODOODO
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od ad
X dooooooooooo
y o000 ooboooooogo
oooooooo
alternative="two.sided” OO0OO0COOO0OO0OOOalternative 00D O0O0OOOOOOOOOOOODOO

alternative="greater” 0o00o0o0oo0ooooD (ooo)o

alternative="less” 0o00o0oO0oo0ooooD (oboo)o

mu gbooooooobobooooooooboobooo

paired go0oOoOoOooooo TRUEODOODOOOOUOOO toooooo

var.equal gooC0oOoOoo Oooo TRUEDODOOOD 200000000000000000O0O
conf.level oooo

goboobobooboobooobooboobboobg t.test()D[ID[IDD[IDD*l[I

> t.test(groupl, group2, var.equal=T)

Two Sample t-test
data: groupl and group2
t = -1.8608, df = 18, p-value = 0.07919
alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:
-3.3638740 0.2038740
sample estimates:
mean of x mean of y

0.75 2.33

pO0p-valueDO 0.07919 000000 005 0000000000000 0O00O0ODOOOOOOOOOOOO
oMmooooooobon

oo oo

statistic t0ogooo

parameters t0oooooogd

p-value 000 p000D0000O0DOO0OO % O00000000000000 006000000
gdddoooooooboobobbboobboodddooooooooobobooboobo
ooo

95 percent confidence | 000 95% 00000

interval

estimate gdodoooOoOoOQOoOoQOOoOoOoOOOO0UOOOOOOUObObOUObOODObOOO

null.value gdodoooOoOoOQOoOoQOOoOoOoOOOO0UOOOOOOUObObOUObOODObOOO

alternative goooooooooo

method t00oooooooooon

data.name gooooooobooooo

1 0000000000 0000000 varequal=T 0000000varequal=F 000000000000000000
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18.2 OOOOO
1821 DODODODOODODODOO

00000 stepfum 00000 ecdf() 00DOO0DD (edf) DOODO0DDODO0OODODOODOODDOOOOOOO
stepfun 0000000000000 00O0O0OOOOOOOOOOOOOO0

> data <- rnorm(30) # 000000

> Fn <- ecdf(data) # ecdfQOO0OO0OOOOCOOODOO

> Fn # 00000

> summary (Fn) # Fn 00O

> summary.stepfun(Fn) # Fn 0OO0O0O0O0O

> plot(Fn) # D00O0OOOoooooo

> plot(Fn, do.point=F, verticals=T) # Ddbdboooooobooboboobo

gbooboobooboobobooobooboobbooba

> x <- seq(-3,3,0.01)

> lines(x, pnorm(x, mean=mean(data), sd=sqrt(var(data))), col=2)

ecdf(data) ecdf(data) ecdf(data)

- e

Q-QUIIINUIDONONODONONOOOOOong

oad oad
qqnorm(x) xO0ODOoooooodoooooooooooooooooooooooooooooon
DDDDDDDDDDDDqunOTm()DDDDDDDDDDDDDDDDDDDDDD
dddooooooooooboobbooboodooooa
qqline(x) ddddoooooooooobobbobooddoooooooo
qqplot(x, y) x000O0O0O0O0O0 yoOoOoOo ( Quantile-Quantile PlotDQ-Q 00 00) 0000

qeplot 00 0000000000000 0O00D00D0 Isfit() 0000000000000 0O0 abline() DO0DOO
oobooooooocooooooooboOooooooooboOooon

> x <- rt(50, df=5)
> xy <- qgplot(qt(ppoints(50), df=5), x)
> abline(lsfit(xy$x, xy$y), lty=2)

goooboooboooboobuooboobooboobooboobobbobobobbobbuobbxboobog
ppoints()l]QQDDDDDDDDDDDDDDDDDDqlnorm()DDDDDDDDDDDDDDDDDDDD*2D

> plot(glnorm(ppoints(x)), sort(x))

*2 glnorm() 0000000 OD0D0O0O0OO0DODOOO0O00DOOO00O00O0O0D0000OOON0D0000000O00000O0
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T T T T T
2 4 6 8 10

&§§§§ of
o - C”g
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8

8

o

°

T

0

qt(ppoints(50), df = 5) qlnorm(ppoints(x))

1822 O0ODOOOO

00 shapiro.test() O Shapiro-Wilk 00 0000000000

> data(faithful)
> long <- faithful$eruptions[faithful$eruptions > 3]
> long # 000000
> shapiro.test(long)
Shapiro-Wilk normality test
data: long
W = 0.9793, p-value = 0.01052

00 ks.test() O Kolmogorov-Smirnov 00 0000000000

> data(faithful)
> ( long <- faithful$eruptions[faithful$eruptions > 3] ) # 000D0O0ODOO
> ks.test(long, "pnorm", mean=mean(long), sd=sqrt(var(long)))
One-sample Kolmogorov-Smirnov test
data: long
D = 0.0661, p-value = 0.4284

alternative hypothesis: two.sided

1823 0UDDOODOODOOODODO

o000 17000000000

1824 O0OD0OUODOODOOODOODOODOO

oboobOob 90bO0DbO0O0obOOobOO0obOU0oOo0oobOo0ob0bO0bD xOOOoOo yOooOoDOOoDODODODODO
gbobooomoboboooooooobobo

> x <- c(1.83, 0.50, 1.62, 2.48, 1.68, 1.88, 1.55, 3.06, 1.30) # first visit
>y <- ¢(0.878, 0.647, 0.598, 2.05, 1.06, 1.29, 1.06, 3.14, 1.29) # second visit

ooooooooboocOoooocoobooOooOoOoOoboOoobOoOoOooOoooo
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gobooboo too
goobooboo tobboobuooboobobooboo

> t.test(x, y, paired = TRUE, alternative = "greater")
> t.test(y - x, alternative = "less") # 0000

Paired t-test
data: x and y
t = 3.0354, df = 8, p-value

0.008088
alternative hypothesis: true difference in means is greater than O
95 percent confidence interval:
0.1673028 Inf
sample estimates:
mean of the differences

0.4318889

oooooooooooooooo
goooooooboooooooooboooooooooooon

> wilcox.test(x, y, paired = TRUE, alternative = "greater")

> wilcox.test(y - x, alternative = "less") # 0000

Wilcoxon signed rank test
data: x and y
V = 40, p-value = 0.01953

alternative hypothesis: true mu is greater than O

183 OOOOO

17000000 sleep 0000000000 100000000000000 20000000000000000
oooooooo

o0 tdbobooooooboo
00 ttest() 000000000000 D0OODOODOOOOODOOO

> t.test(groupl, group2)
Welch Two Sample t-test
data: groupl and group2
t = -1.8608, df = 17.776, p-value = 0.0794
alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:
-3.3654832 0.2054832
sample estimates:
mean of x mean of y

0.75 2.33
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gob tooboobooboooobo
000000000 +0000000000000"00000 1700000000000000000 (y "x) O
obobooooooboobobo

> t.test(extra ~ group, data = sleep, var.equal=T) # extral OO O0O0O0OO00O0Ogroupl 0000

o0o0o0ooOo0o0ooOoOoooooooooooo Uoo
00 wilecox.test() 0000000000000 0O00O0O0DO0O0O0O0ODO0O0OD UODODOODOOOOO - correct=F
000000000000000000000000*0

> wilcox.test(groupl, group2)

Wilcoxon rank sum test with continuity correction
data: groupl and group2
W = 25.5, p-value = 0.06933

alternative hypothesis: true mu is not equal to O

oooooooorFOoO
17000000 sleep 0000000 var.test() D0groupl O group2 0000000000 0ODOO0OOODOOO

> var.test(groupl, group2)

F test to compare two variances
data: groupl and group2
F = 0.7983, num df = 9, denom df = 9, p-value = 0.7427
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:
0.198297 3.214123
sample estimates:
ratio of variances

0.7983426

goobooooboobobobooooooooo
200000000O00DbO0bOOoO0bO00obO00bODObD0bO0ObDODLOOUOUDODODODbDODbDO 3 0D0bO0oDbUoboboo
gboboooooooboboboooon

(00 || oooooooo

A [[so]73]s0]s2]
B || 73]68|81]85
c |85 93] ss

* t+000000000000000000000MM2000000000000000000000000000000O00000000
goooooooooooooo
tddo0oooooooooooooooooOoO0o00O0OO00000b00O00O0O0OOOOOOOOOOOODODODODODOoOoOoOoOoOoOoOoOoOon
oooooooo
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O000AOBOCO 300000000000 O0O0OOOO0OODOOOOOOOOOOUOOOOODDOOOOOO
0000000000000 0000000D00D0 5% 0000000000000000000O00O0 ODOO
bartlett.test() OO0 OO

> length <- c(80, 73, 80, 82, 74, 73, 68, 81, 85, 85, 93, 88) # 000
> group <- c(rep(l, 5), rep(2, 4), rep(3, 3)) # 0
> bartlett.test(length, group)

Bartlett test of homogeneity of variances

data: length and group
Bartlett’s K-squared = 1.5451, df = 2, p-value = 0.4618

184 OOOOOODO

1841 *(00OOO)O0D0

0000000000000 D0O0D0D00D chisgtest() 0 0D0DO0DO0O0O0ODO0D0OOO0DDOODOOODOOOODOO
oobobooooboooobooooooon

00000000000
000 (1), (2) 0000000@3)~ (5)000000000000000000000 correct=F 000000

gooooooboooooooooooa

()l0ooDUoOooOooOUoOooDOO —ce(8,12,10,9,5,6)0 0DO0DO0DODOODODOOODOOOOOOOODOOOOO
0000000000000 D00O0 (I~60000000000000)0000DO0O0O0 100000000
oooboooo

(2)10000000000000000000 — ¢(20,85,2), p=c(4,3,2,1)/100 35000000000000
000000000 ADUBOOODABOOO 40%030%020%010% 0000000000000 0DO0O0OOO
o0l100000oOoO00oboooOooobooOooobobooooo

(3)2000000000000 — matrix(c(20, 15, 16, 4, 15,7, 9, 4), ncol=2, byrow=T) 0 00O 9000000
gooooooooooooOoOoooo0oobOoOooooOoOoOoo 20000DO0O0OOOOOD

()20 2000000000000 — matrix(c(20, 15, 16, 9), ncol=2, byrow=T) 0 00 60000000000
gooboboooboooooboobobouobUoboUobDUo 20200b00bU0obobooobooOon

(5) mODO00D00D000000 — matrix(c(20, 15, ... ), ncol=m, byrow=T) 0 0000000 0000000
000000000000 00000000000D0000D0D00D0OD00000000 mO (m>2)00
gobooooobooog

oooooooooog
goboooooooobooooood

> chisq.test(c(8, 12, 10, 9, 5, 6))
> chisq.test(c(20,8,5,2), p=c(4, 3, 2, 1)/10)
> chisq.test(matrix(c(20, 15, 16, 4, 15, 7, 9, 4), ncol=4, byrow=T))

> chisq.test(matrix(c(20, 15, 16, 9), ncol=2, byrow=T))
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> chisq.test(matrix(c(20, 15, 16, 4, 15, 7, 9, 4, 10), ncol=3, byrow=T))

1842 OOOOOODOODOO

X} 00ODO00000o0Doo0oooooon
goboboooboooocoooooooooomooooooooboboooboooooooOoOoOoDOOoOobOoODOOon
oooboooooooooobooboobooooooono

goooo O

oooo |oooboooo | O

oo oooo 14 8 22
oo0 (ocooooo 4 17 21
od 18 25 43

000000000000 x20000000000

> x <- matrix(c(14, 8, 4, 17), ncol=2, byrow=T)
> chisq.test(x)

Pearson’s Chi-squared test with Yates’ continuity correction
data: x
X-squared = 7.0406, df = 1, p-value = 0.007968

x> 000000000000 0000000000000000000000000000000000
fisher.test() 00000000 2x200000000000

> x <- matrix(c(14, 8, 4, 17), ncol=2, byrow=T)

> fisher.test(x)

Fisher’s Exact Test for Count Data

data: x
p-value = 0.005089
alternative hypothesis: true odds ratio is not equal to 1
95 percent confidence interval:

1.567890 39.549785
sample estimates:
odds ratio

7.051895

0000000000000 (000D 2x200000000)
00000 2x20000000000000000 2x20000000 (D0O0ODOOD0OOODOOODOOOD)OO
gogboobobobbooboobboobooboboobboobooboon

ooooooo

00000000000 (bObO00D)002000000000000000D0O0O (DODOOO)2000000
o0o0o0ooo00oo0o0o0oo00ooo00oooOo0o0oooO00oooO00boO0O00boO0O0ooOoO00n
mcnemar.test() 00000000 2x20000000000000000correct=F 0000000000000
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ooooooooocoooooono

goooo g

gooo |gobogoboo | o

go goao 14 8 22
gob |gboboob 4 17 21
go 18 25 43

> x <- matrix(c(14, 8, 4, 17), ncol=2, byrow=T)

> mcnemar.test(x, correct=F)

McNemar’s Chi-squared test
data: x

McNemar’s chi-squared = 1.3333, df = 1, p-value = 0.2482

0000000 (D000 2x200000000)

00000000000 (0O000)002000000000000000DO00 (DOODDO)2000000
goooboo0ooO0oodOoOo0oOOo0 sgbooO0oodObooUoU0DbDOoU0oOoUbDOoOOoUOUObOOoUOUOoUODOoOUoboOD
gogboodbooooboobdooboobooobooboobboboboobg

gobooboooboo

0000000000000 o0o0 DooooooooooooD 30000 2450000000 25000 157 0O
0000000000000 000000O000DO0000O00DDOO0O0DO0ODn proptest() DODOODOOOO
correct=F 00 0000000000000D0O0O000O0OOOOO00OOO%

> prop.test(c(245, 157), c(300,250), correct=F)

2-sample test for equality of proportions without continuity correction

data: ¢(245, 157) out of c(300, 250)

X-squared = 24.6789, df = 1, p-value = 6.772e-07

alternative hypothesis: two.sided

95 percent confidence interval:

0.1144583 0.2628750

sample estimates:

prop 1 prop 2
0.8166667 0.6280000

ooooooooon

gooooooooooooooOo 1oooooooOooOoooOoooboooOOoooOoOooOoOooooOomboOooo
o000 l1bo0obooboooboooooboooboooooo0ooooDboooOooobosbboOsbUnD ~10000
ooooooobooooooocooobcOoooao

* 00000000000000000000000 ved 00000000 summary(oddsratio(table(A,B),log=F)) 000000000
000000000000 00000D0000 leog=FO0OODOO0OO0DDOOO0OOOODOOOODOOOODOOOUOOODDOOOODOOOD
0000000000 prop.trend.test() 0000000000000 000000000000O0O0O0O0O0ODOOODODO prop.trend.test
(0000 1,0000 20000000
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| ooo ~1woo)[[alB|c|p|E|F|c|[H][1]J]
oDooo af1l1l2)1]2]4 3] 2
0000 21|31 ]s5]1]5 3] 1
O-0o —lo|+]|-|+]|-|+ -

100000000000000000000000000000000000000%*0

>x <-c(4, 1,1, 2,1, 2, 4, 3, 3, 2)
>y <-c(2,1, 3,1, 5,1,5,3, 3,1
> binom.test(c(length(x[x>y]), length(x[x < yI1)))

Exact binomial test

data: c(length(x[x > y]), length(x[x < yIl))

number of successes = 4, number of trials = 7, p-value =1

alternative hypothesis: true probability of success is not equal to 0.5
95 percent confidence interval:

0.1840516 0.9010117

sample estimates:
probability of success

0.5714286

ooooo
O00ODADOD BOOOOOOOOOOOOOOOOOOOAODOD BOOOOOOOOOODOOOOO
(DoD)oOooooOoo

ADOO
oo DooO |00
od 80 15 )
o | oo 10 40 20
o | oo 5 10 25

x(000)000000000000000 ved0OODDOOO0ODO0O Kappa() 000000000

> measure2 <- matrix(c(80, 15, 5,
+ 10, 40, 20,
+ 5, 10, 25), 3, byrow=T)

* 0oo0000000000000000000000000000000000000000000000000 prop.test(00000O
0,000000,p=05)0000000000000000000000000000000DOD0O binom.test() 0D ODOOO

‘binom.test(c(257, 243), p=1/2) # binom.test (0O OOOO, DOOOOO, ODOOOOO)

*T x(000)0000000000000 ICC (Intraclass correlation coefficient) 0000000000000 irr 0000 ice() 000
goooo

> data(anxiety)

> icc(anxiety, model="twoway", type="agreement")
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> Kappa(measure?2)
value ASE lwr upr
Unweighted 0.4915254 0.05492153 0.3838812 0.5991696 # OO OO0O
Weighted 0.4736842 0.08145561 0.3140342 0.6333343 # UU00O0OO0O0OO0OOOCOO0OOOOOODOCOOO

1843 0ODOOOOODOODO

000000 200000 xO0yOOOOOODODOODOODOD0OO0ODOOOOO0ODODO cortest() D000

> x <- c(70, 72, 62, 64, 71, 76, 60, 65, 74, 72)
>y <- c(70, 74, 65, 68, 72, 74, 61, 66, 76, 75)

0000000 method 0000000000000 00O00O0OO0O0ODOO0OOOO

"pearson" I 00000000000 0OOOOOOOOOO
"kendal" 0 O00000000000O000OO0O0OO0OO0OO
"spearman” 0 0O0O0O0O0OOOOOOOOOOCOCOOCOODOOO

gogboobobooboobooboboo

> cor(x, y, method="spearman") # 0000000
[1] 0.929878
> cor.test(x, y, method="pearson") # 0000Ooooooo

Pearson’s product-moment correlation
data: x and y
t = 8.5685, df = 8, p-value = 2.656e-05
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.7957471 0.9883181
sample estimates:

cor 0.9496011

1844 0ODOODODO

O0000AOBOCO 3000000000000 0O0ODOUOODOOUDOOOOUDOOOODDOOOO

(0o || oooooooo

A [[so]73]s0]s2] 4
B || 73]68]81]8s5
c |85 93] ss

> length <- ¢(80,73,80,82,74,73,68,81,85,85,93,88) # OO0
> group <-c(1,1,1,1,1,2,2,2,2, 3,3, 3 # O
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000 +000000000
0000000000 £000000000000000000000 gplots 0000 plotmeans() 000000
0*80

> library(gplots)
> plotmeans(length ~ group)

100

75
1
[E—

65
1

0181 00O 4+£000000000

0000000000000 00000000D00000D gplots 0000 plotCI() DOODOO0DOOO

tmp <- split(length, group)

means <- sapply(tmp, mean)

stdev <- sqrt(sapply(tmp, var))

n <- sapply(tmp, length) # 00 length 0000 length() OODO
ciw <= qt(0.975, n) * stdev / sqrt(n)

VvV V V V V V

plotCI(x=means, uiw=ciw, col="black", barcol="blue", lwd=1)

ooobooooo
0000000000000 0000D000000D0000D oneway.test() 00D D0OO0DOODOOODODOOO
gooo

> oneway.test(length ~ group, var=T) # D00oOooooo

One-way analysis of means

data: length and group
F =4.7828, num df = 2, denom df = 9, p-value = 0.03845

* 000000000 1000000000000000200000000000000 interaction.plot() 0000000000000

> attach(ToothGrowth)
> interaction.plot(dose, supp, len, fixed=TRUE)
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goboobbobboobooboobobooboon
goboobooboobbooboobboobbooboo kruskal.test()l][l[ll][l[ll]*g[l

> kruskal.test(length ~ group) # 000000000000

Kruskal-Wallis rank sum test

data: length by group
Kruskal-Wallis chi-squared = 5.8408, df = 2, p-value = 0.05391

ooono

0000000000000 0000000000000000000D00000o00ooooooon
pairwise.t.test() 000000000000 5% 00000000000000000000000O00000000
000 "holm” O ”bonferroni” 000000000 *0C

> pairwise.t.test(length, group, p.adj = "bonf")

Pairwise comparisons using t tests with pooled SD
data: length and group
1 2
2 1.000 -
3 0.074 0.059

P value adjustment method: bonferroni

oobooooobooooooooooocoooon
O0000AOBOCO 3000000000000 UDOOODOUODOUODOUOOOUDOODOUODOOOOUDOO
ooobooooooooobooooooooboboooo

loo\oooo |10 ] 20 | 30 | 40 |

A 180 | 193 | 200 | 201
B 150 | 189 | 186 | 190
C 144 | 178 | 166 | 173

0000000000000 5% 000000000000000000000000O0

> x <- matrix(c(180,193,200,201,
+ 150,189,186,190,
+ 144,178,166,173), ncol=4, byrow=T)

* 0oooDoOoO0ooOoo

> x <- c(80, 73, 80, 82, 74)

>y <- c(73, 68, 81, 85)

> z <- c(85, 93, 88)

> kruskal.test(x, y, z)

*10 Og pairwise.wilcox.test() gooooboobooooooooooboobobooboooo0UDoDoDooUDUUUgL Do
TukeyHSD()ODDDODODODOODODOO0O0O0O0OO multcomp 0000 simtest(x ~ b, type="Willlams”) DO OOOOO0OOO
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> friedman.test(x)

Friedman rank sum test
data: x

Friedman chi-squared = 7, df = 3, p-value = 0.0719

gboboobooboobpbooboobobooba
O ansari.test()0 Ansari-Bradley O O (1 fligner.test()0 Fligner-Killeen O O (10 mantelhaen.test()d Cochran-Mantel-
Haenszel O O [0 mood.test ()0 Mood O O [ quade.test()0 Quade 0 0O O

185 ODOOOOOOOOOO

ROOOODDOOOOOODOOOOOOOODOOOOO

| 00 | 00
power.t.test() 00000000000

power.anova. test() 0000000000000000000
power.prop.test() 00000000000000000

t0000000powerJ 000000000 DO0OO0ODOO0O0O0O0 ADODODODOOOOODMUOUOODOUOOOUOOUUOoQ
00000000000 0a0siglevel0DOO0O0O0O00O type=c(”two.sample”, "one.sample”, "paired”) 0,000
0000 alternative=c(”two.sided”, "one.sided”) D0O0OO0000O00DOODO

> power.t.test(n=100, delta=1.0, sd=2.5)

Two-sample t test power calculation

n = 100
delta =1
sd = 2.5

sig.level = 0.05
power = 0.8036466
alternative = two.sided

NOTE: n is number in *each* group

O0OOOpowerl 0 ADODODOODODOOODMUOOODOOOO0OOOODOOOOOOODOOOOOOOOOOO
0100000D0000000

> power.t.test(power=0.9, delta=1.0, sd=2.5)

Two-sample t test power calculation

n = 132.3106
delta = 1
sd = 2.5

sig.level = 0.05

power = 0.9

alternative two.sided

NOTE: n is number in *each* group
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190

oy

19.1 O00DOOODOOOOO

00 Im() O predict() 0000000000000 0D0O0O00DODO0O0OO0OO0DOOOOOODOOOO0 trees O
gbobooboooboooooboboboooooooboobobobobooo

GirthD 000000000000000
Height 0OOO0O (0OOOOOOODOOO
Volumell 00 10000000000000000O0O0

> plot(Volume ~ Girth, data = trees) # 000000

> result <- 1m(Volume ~ Girth, data = trees) # 0000000

> abline(result) # 000000000
> summary (result) # 0000000
Call:

Im(formula = Volume ~ Girth, data = trees)

Residuals:

Min 1Q Median 3Q Max
-8.0654 -3.1067 0.1520 3.4948 9.5868
Coefficients:

Estimate Std. Error t value Pr(>|tl)

(Intercept) -36.9435 3.3651 -10.98 7.62e-12 *x*x
Girth 5.0659 0.2474 20.48 < 2e-16 *x*x
Signif. codes: O ’**x’ 0.001 ’*x> 0.01 ’%’ 0.05 ’.” 0.1 7 > 1

Residual standard error: 4.252 on 29 degrees of freedom
Multiple R-Squared: 0.9353, Adjusted R-squared: 0.9331
F-statistic: 419.4 on 1 and 29 DF, p-value: < 2.2e-16

000 —369435000005.0659 000000000000 00O0O00O000O0O0O0O0O0O0O0O0OO0OO0O0ODODOO0OO0

> new <- data.frame(Girth = seq(8, 24, 0.5))

> result.pre <- predict(result, new, interval="prediction") # 0000

> result.con <- predict(result, new, interval="confidence") # 0000

> matplot(new$Girth, cbind(result.pre, result.con), lty=c(1,2,2,3,3), type="1")

gboboobooboooboon
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0191 ODOOOOOOO 0192 0O000O00O0CO0O

192 00 Isfit() 00000000

00 Isfit() DO00D0y=Xb+e0 bOO0ODOO0OyOOOODODODOODOODOODOOXDOOOOODODOOOO
00000 (D000D0000)0 chind OOOODODOOOOODOOODOOOOOOOOOOOODOODOOODODO
O00lsfit() D0DO00O0OO0OoOooo

1sfit(x, y, wt=NULL, intercept=TRUE, tolerance=1e-07, yname=NULL)

cooooooooooo

od od
X oooooooo
y ooooooooood
wt ooooocoooooooooooo
intercept 000000 TRUEODOOOOOOOOOOOOOO0O0O0OO0O00oooooooooo
000000000 00oUoO0oooO FALSEoOooooo

ooooooon tresd000O0O00O0COOOOO

> x <- trees$Height; y <- trees$Volume
> z <- 1lsfit(x, y) # 00000 zOOO

> print(z) # coefficients, residuals, intercept, qr OO0

gobooboooooo

oad od
coef DDDDDDDDDintercept:T([IDD[ID)DDDD 10000000000000
residuals ooooooog
intercept OO0 intercept 00D 000000 0O0O0ODOOODODOOODOOODOOODODOOODOOO
qr xO00OO0O0O0O0OO0U00O0OO00000000 QROUOUODOUODODODOODOOOO0O gt O
Q% *%y OO0 (t(Q)U QDUOLUD)DU0LUOD qtOD0O0DOUODOODO qrO
gddddoooooooooboo

000000000000000000 z0O0O0DOODODOOODOOO0O0OOO00O*0

*1. 00 Isdiag(z) 0000000000 00O0O0 HODODOOOODOOOOOO
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> y - z$residuals
[1] 20.91087 13.19412 10.10742 23.99757 37.88772 40.97442 14.73747 28.62762
[9] 36.34437 28.62762 34.80102 30.17097 30.17097 19.36752 28.62762 27.08427
[17] 44.06112 45.60447 22.45422 11.65077 33.25767 36.34437 27.08427 23.99757
[25] 31.71432 37.88772 39.43107 36.34437 36.34437 36.34437 47.14782

00000000 R=(00O0O0O0D0O)/(0O0D0O0O0O0OD)0D00DO0D0OO0ODOODODOODOOOOODOOO

> sqrt(var(y - z$residuals)/var(y))
[1] 0.5982497

000000 Isfit() D000 abline() 00000000000 DOODOODOOOODOO

> plot(x, y)

> abline(z, col=2)

70
1

60
Il

0193 Isit() 0000000

193 OO0OOOOboooog

00 m() 0000000000000000000000000D0000000000000000000000
0000000 OooOOoo*o

1931 00 Im()000000

0000000000000000000000000D00 formula 0000000000000 dataO0O0O0O

Im(formula, data, subset, weights, na.action,
method = "qr", model = TRUE, x = FALSE, y = FALSE, qr = TRUE,
singular.ok = TRUE, contrasts = NULL, offset = NULL, ...)

*2 0000000000000 00D00O0000000((@Ob0O0O000D000D0 O0000000)00DDO0O0O0OD0O0O0O0O0O0O0O00oO
oooooooooooooood
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00 formula 0000000000 OOOOOOO

formula oooooooooo
vy x 0000y=a+bx+ed e00000000000O0O0O0 yOOOoOO 0O
goooooooogo
vy~ x1 4 x2 D000 y=a+bz1+ba+el e0000O00O0DODOODOOOOO yOOood
00z, z OO0 00O
vy~ xl * x2 00000000000000 x1:x200000y =a+bixy+bsxa+bsxrixo+te

UedboOCocOOO0OOOOOO0OyOOOOD 2,2z 00000000000

vy~ xl 4+ x2 4+ x1 % x2

goboooooooooon

vy (x1 +x2)°2

ooboooooooooon

y x—1

00 (0D0)0Do0O0oo0OO0 400000

y 14+ x+I(x"2)

000000y =by+bz+bz?+e01(x"2) 0 poly(x,2) 0000

y x|z

zO0OOOOOOOOO yOxOdODOOODO

y .,data=0000

obobooooooo ybOODbDOD0O o4, --- 0000D0O0DOOOOOOODOO
y=a+bxi+---+el e 0000000000000 O0O0OO0O0 yOOOO
gboboooooodyoooooooono . o0ooooooooocooood
ooo

1932 0OD0OO0OOOOO0ODOOO

Im() 000000000 ODO0OO0O0ODODO0OO0OO0OLU0OLOO0OODODUODOOODO0ODOODO objOODOOOODOODOO
oobobooooobooooooooooboooooooooooooooobooooboooo

go

gg

AIC(obj)

AlCOoOO0OO0ooooooooooo

anova(objl , obj2)

gobooboobooobooboon

coefficients(obj) 0000 (00)D00O0Ocoef(obj) DOODDOOO
deviance(obj) 000000oooooooo

formula(obj) oooooooo

logLik(obj) 000000000

plot(obj) 00oo00ooooodD 400000000000

predict(obj, newdata=data.frame)

goboobooboobooobooboobbooboobbooboo
0000 dataframe 00 0000000000000 OOOOOOO
ooooooogo

print(obj) obooooooobooboooo

residuals(obj) D0D00D0O00000 (000) 00000 Oresid(obj) 0000
00 Odfresiduals(obj) 00O DOOO0DO

step(obj) gogoboboobooooobobobbooooobobbooooobobooboog

0000000000000 AIC(0DO0ODO0D0OO)DO0OO0ODOoOOO
oooo

summary(obj)

goboobooboobobooobda
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1933 OO0OD0OOO

(0 1) 00000000D000D000000*0

> result <- 1m(Volume ~ Girth, data = trees) # 0000000
> summary (result) # 0000000

(02) 0000000000000 0OO0OODODOOOOOOOOOOO

> resultl <- 1lm(log(Volume) ~ log(Girth), data = trees)

> summary (resultl)

(03) 00 anova() 000D0ODOODOODOOOOOO

> anova(resultl)
Analysis of Variance Table
Response: log(Volume)
Df Sum Sq Mean Sq F value Pr(>F)
log(Girth) 1 7.9254 7.9254 599.72 < 2.2e-16 *x*x
Residuals 29 0.3832 0.0132
Signif. codes: O ’x*x’ 0.001 ’*x’ 0.01 ’*x> 0.05 ’.” 0.1 > ’ 1
> aov(resultl)
Call:
aov(formula = resultl)

Terms:

log(Girth) Residuals
Sum of Squares 7.925446 0.383244
Deg. of Freedom 1 29
Residual standard error: 0.1149578

Estimated effects may be unbalanced

(04) 0000000000000 D0OO00O0O0000000Oesultl 00000000 OOO0DOO log(Height)
oobocoboooooboooooooboooboooboooboOobOoOooOoOobOOobooobOOooboOoooboboooOon
0000000000000 uwpdate() 000000000000

> resultl <- 1m(log(Volume) ~ log(Girth), data = trees)
> result2 <- update(resultl, ~ . + log(Height), data = trees)

> summary (result2)

00 1Im() 0000000000000000 result 0000000 Oresult$fstatistic 0000 FOOOODODOOOOOOO pO00
0oob0o00 FOOOO pO0O0OO0OO0OOOOOOOODOOOODOOOOO

> result <- summary( result <- lm(Volume ~ Girth, data = trees) )
> f.stat <- result$fstatistic
> p.value <- 1-pf(f.stat["value"],f.stat["numdf"],f.stat["dendf"])
> p.value
value

0
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Call:
lm(formula = log(Volume) ~ log(Girth) + log(Height), data

Residuals:

Min 1Q Median 3Q Max
-0.168561 -0.048488 0.002431 0.063637 0.129223
Coefficients:

Estimate Std. Error t value Pr(>|tl)
(Intercept) -6.63162 0.79979 -8.292 5.06e-09 *xx*
log(Girth) 1.98265 0.07501 26.432 < 2e-16 ***
log(Height) 1.11712 0.20444 5.464 7.81e-06 **x*

trees)

(05) 00 step() DOOOOresult2 0000000000 0DOODOOOD 1000000D0ODODOODOOODO

O000000O0o0o0oOoOoD AICODOODODOODODOO

> result3 <- step(result2)
Start: AIC= -152.69
log(Volume) ~ log(Girth) + log(Height)

Df Sum of Sq RSS AIC
<none> 0.185 -152.685
- log(Height) 1 0.198 0.383 -132.185
- log(Girth) 1 4.628 4.813 -53.743

> summary (result3)
Call:
Im(formula = log(Volume) ~ log(Girth) + log(Height), data
Residuals:

Min 1Q Median 3Q Max
-0.168561 -0.048488 0.002431 0.063637 0.129223

Coefficients:

Estimate Std. Error t value Pr(>|tl)
(Intercept) -6.63162 0.79979 -8.292 5.06e-09 ***
log(Girth) 1.98265 0.07501 26.432 < 2e-16 **x*
log(Height) 1.11712 0.20444 5.464 7.81e-06 ***

trees)

(06) D0DO0DODO0ODODODODODOODODODOD .000000000000D000000000 —-100

oooo

> result <- 1lm(log(Volume) ~ .-1, data = trees)

> summary (result)
Call:
Im(formula = log(Volume) ~ . - 1, data = trees)
Residuals:

Min 1Q Median 3Q Max
-0.188133 -0.072707 -0.001769 0.062948 0.174312
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Coefficients:

Estimate Std. Error t value Pr(>|tl)
Girth 0.144695 0.006381 22.68 < 2e-16 *x*x
Height 0.017830 0.001138 15.66 1.09e-15 s*x*

(D7) 00000 wleDOODOOODODOOO mlecp()0mleaic()0Omlecv() DO0DO0DO0DO0DO0DO0ODO CpODO
O0AICO0O000000000000000000O00000O0O0O00OOn

result <- mle.cp(log(Volume) ~ log(Girth) + log(Height), data = trees) # cp OOO

>
> result <- mle.cv(log(Volume) ~ log(Girth) + log(Height), data = trees) # CV
> result <- mle.aic(log(Volume) ~ log(Girth) + log(Height), data = trees) # AIC
> summary (result)

Call:

mle.aic(formula = log(Volume) ~ log(Girth) + log(Height), data = trees)

Akaike Information Criterion (AIC):

(Intercept) log(Girth) log(Height) aic
[1,] 1 1 1 -64.560
[2,] 1 1 0 -36.700
[3,] 0 1 1 2.196
(4,] 0 1 0 169.000
[5,] 1 0 1 632.100
(6,] 0 0 1 976.300
[7,] 1 0 0 1158.000

Printed the first 7 best models

00000 wleOODODDOOODODOO wleep()Owleaic()Owle.cv() 00D ODOO0O0OODOO0ODO DOOODO
00 CpUOOUAlCOOO0OOOOOOOOOOOOOOUOOOUOOOUOUOOUOOUOOUOUOOUOOO

194 ODOOOOOOO

00 ¢gm() 00000000000 D0DO0O0000O0OO0O0000D*™000000000000000000000
0000000gaussian[J 0000 O binomialld 00 00 00O poisson 00 0 OO O inverse.gaussian( 0 0 O
O00Gamma 0000000000000 0D000000000000000quasiD0OD0O0O0OO00O family
O000ooO0o00ooO0o0oooO00oooo0ooooooooOoo

00 family ooooo
binomial logit, probit, log, cloglog
gaussian identity, log, inverse
Gamma identity, inverse, log
inverse.gaussian 1/mu"2, identity, inverse, log
poisson identity, log, sqrt
quasi logit, probit, cloglog, identity, inverse, log, 1/mu"2, sqrt
1

O00D00oO0ooOooo p(x) ooooogo

"1+ exp{—(Bo + )}

*4 00 termplot() 0000000000000 0000000000000 nlme0000 lme() 0000000
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> b0 <- -3; bl <- 0.5; x <- seq(0, 10, 0.1)
>p <= 1/(1+exp(-bO+bl*x))

> mydata <- rbinom(length(x), 1, prob=p)

> result <- glm(mydata ~ 1+x, binomial(logit))

> summary (result)

Call:

glm(formula = mydata ~ 1 + x, family = binomial(logit))
Deviance Residuals:

Min 1Q Median 3Q Max
-0.28951 -0.16852 -0.09972 -0.05892 2.86202
Coefficients:

Estimate Std. Error z value Pr(>|zl)
(Intercept) -3.1513 1.4901 -2.115 0.0344 =
X -0.4216 0.4925 -0.856 0.3919

195 O0OOOOoog

00 nls() 00000000000000000000000000*mM

> f <- function(x) 1/(1+exp(-3-0.5%x))
> x <- seq(0,10,0.1); y <= f(jitter(x, amount=0.2))
> ( result <- nls(y ~ a/(1+exp(-b-c*x)), start=c(a=2,b=1,c=0.1)) )
Nonlinear regression model

model: y ~ a/(1 + exp(-b - ¢ * x))

data: parent.frame()
a b C

1.0000121 3.0203203 0.4931959

gooboooooooooobooooooooon

> predict.c <- predict(result)
> plot(x, y, ann=F, x1im=c(0,10), ylim=c(0.95,1)); par (new=T)
> plot(x, predict.c, type="1", x1lim=c(0,10), ylim=c(0.95,1))

predict.c
097 089 100
L L L

0.96
I

0.95
I

*» 00000000000000 nlme 0000 nlme() OODOOODODO
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0200

Juoogduoogd

0000 (00000000000 library() 0ODO0O0O0O0O0)000000000O0OOOOOOOOO

201 O00OOO

000 v20000 viOOOO0OOOODOOOOv40O

v3Ov6 O vo OOOOOOOOoOoooono

> vl <-c(1,1,1,1,1,1,1,1,1,1,3,3,3,3,3,4,5,6); v2 <- c(1,2,1,1,1,1,2,1,2,1,3,4,3,3,3,4,6,5)
> v3 <- ¢(3,3,3,3,3,1,1,1,1,1,1,1,1,1,1,5,4,6); v4 <- c(3,3,4,3,3,1,1,2,1,1,1,1,2,1,1,5,6,4)
> vb <- ¢(1,1,1,1,1,3,3,3,3,3,1,1,1,1,1,6,4,5); v6 <- c(1,1,1,2,1,3,3,3,4,3,1,1,1,2,1,6,5,4)
> ml <- cbind(v1l,v2,v3,v4,v5,v6)
> cor(ml)
vl v2 v3 vé v5 v6
vl 1.0000000 0.9393083 0.5128866 0.4320310 0.4664948 0.4086076
v2 0.9393083 1.0000000 0.4124441 0.4084281 0.4363925 0.4326113
v3 0.5128866 0.4124441 1.0000000 0.8770750 0.5128866 0.4320310
v4 0.4320310 0.4084281 0.8770750 1.0000000 0.4320310 0.4323259
vb 0.4664948 0.4363925 0.5128866 0.4320310 1.0000000 0.9473451
v6 0.4086076 0.4326113 0.4320310 0.4323259 0.9473451 1.0000000
> factanal(ml, factors=3) # varimax is the default
Call:
factanal(x = ml, factors = 3)
Uniquenesses:
vl v2 v3 vd v5 v6

0.005 0.101 0.005 0.224 0.084 0.005
Loadings:

Factorl Factor2 Factor3

vl 0.944 0.182 0.267
v2 0.905 0.235 0.159
v3 0.236 0.210 0.946
v4d 0.180 0.242 0.828
vb 0.242 0.881 0.286
v6é 0.193 0.959 0.196

# J00Oooooooon
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Factorl Factor2 Factor3
SS loadings 1.893 1.886 1.797
Proportion Var 0.316 0.314 0.300
Cumulative Var 0.316 0.630 0.929

The degrees of freedom for the model is O and the fit was 0.4755

Oo0o0oO0Ov20 vliOv4O v30v6 0O vbOOOOODOODODOOOOOODODOOO

202 ODOOOOO

000000000000000 cancor() DOOODO

> library(mva)
> data(LifeCycleSavings)
> pop <- LifeCycleSavings[, 2:3]
> oec <- LifeCycleSavings[, -(2:3)]
> cancor(pop, oec)
$cor
[1] 0.8247966 0.3652762
$xcoef
[,1] [,2]
popl5 -0.009110856 -0.03622206
pop75 0.048647514 -0.26031158
$ycoef
[,1] [,2] [,3]
ST 0.0084710221 3.337936e-02 -5.157130e-03
dpi 0.0001307398 -7.588232e-05 4.543705e-06
ddpi 0.0041706000 -1.226790e-02 5.188324e-02
$xcenter
popl5  pop75
35.0896 2.2930
$ycenter
sT dpi ddpi
9.6710 1106.7584 3.7576

# J000000000bOoO0O0O0oO00oonon
# 0000000 (CoOoooo)

# 00 xOdoooo

# 00 yOoooo

# 00 xOOoOooooooooo

# 00 yooooooooooo

203 OOOO

0000000000000 0000000000 MASSOODOD da() DODO0ODOOOOOODDOO

predict.lda() DOOODO0OOO0OO

library(MASS)
data(iris3)

train <- sample(1:150, 75)

>

>

> Iris <- data.frame(rbind(iris3[,,1], iris3[,,2], iris3I[,,3]),
+ Sp = rep(c("s","c","v"), rep(50,3)))

>




0200 ODO00O0O0OD0O0OO0O0O 195

> table(Iris$Sp[train]) # your answer may differ
c s Vv # c s Vv
25 25 25 # 22 23 30
> z <- 1da(Sp ~ ., Iris, prior = c(1,1,1)/3, subset = train)

> predict(z, Iris[-train, ])$class
[1] s s ssssssssssssssssssssssscccccccccccecec
[39] ccVccCccCcCCCCCCVVYVVVVVVVVVVVVVVVCVYVVYVVVVVYV

Levels: ¢ s v

0000000000000000000 MASSOUOOODOO qda() 00000000000 DOO0ODO predict.gda()
ggbooooogn

> data(iris3)
> tr <- sample(1:50, 25)
> train <- rbind(iris3[tr,,1], iris3[tr,,2], iris3[tr,,3])
> test <- rbind(iris3[-tr,,1], iris3[-tr,,2], iris3[-tr,,3])
> cl <- factor(c(rep("s",25), rep("c",25), rep("v",25)))
> z <- qgda(train, cl)
> predict(z,test)$class
[l] sssssssssssssssssssssssssccceccccccccececec
[39] cccccvececccccCcVVVVVVVYVVVVVVVVVVVCVVVVVYV

Levels: ¢ s v

204 0DDOOOO

00000000000000 precomp() 00000

> data(USArrests)
> prcomp(USArrests)
Standard deviations:
[1] 83.732400 14.212402 6.489426 2.482790
Rotation:

PC1 PC2 PC3 PC4
Murder -0.04170432 -0.04482166 0.07989066 0.99492173
Assault -0.99522128 -0.05876003 -0.06756974 -0.03893830
UrbanPop -0.04633575 0.97685748 -0.20054629 0.05816914
Rape -0.07515550 0.20071807 0.97408059 -0.07232502
> prcomp (USArrests, scale = TRUE)
Standard deviations:
[1] 1.5748783 0.9948694 0.5971291 0.4164494
Rotation:

PC1 PC2 PC3 PC4
Murder -0.5358995 -0.4181809 0.3412327 -0.64922780
Assault -0.5831836 -0.1879856 0.2681484 0.74340748
UrbanPop -0.2781909 0.8728062 0.3780158 -0.13387773
Rape -0.5434321 0.1673186 -0.8177779 -0.08902432




0200 ODO00O0O0OD0O0OO0O0O 196

> plot(prcomp(USArrests))
TRUE))

> summary (prcomp (USArrests, scale
Importance of components:

PC1  PC2 PC3 PC4
Standard deviation 1.57 0.995 0.5971 0.4164
Proportion of Variance 0.62 0.247 0.0891 0.0434
Cumulative Proportion 0.62 0.868 0.9566 1.0000

205 OOOOOOO

0000000000000000 helust() DOOOO

> data(USArrests)

> hc <- hclust(dist (USArrests), "ave")

> plot(hc)

> plot(hc, hang = -1)

> hc <- hclust(dist(USArrests)~2, "cen")

> memb <- cutree(hc, k = 10); cent <- NULL

> for(k in 1:10) cent <- rbind(cent, colMeans(USArrests[memb == k, , drop = FALSE]))
> hcl <- hclust(dist(cent) "2, method = "cen" , members = table(memb))

> opar <- par(mfrow = c(1, 2))

> plot(hc, labels = FALSE, hang = -1, main = "Original Tree")

> plot(hcl, labels = FALSE, hang = -1, main = "Re-start from 10 clusters")
> par(opar)

prcomp(USArrests) Cluster Dendrogram Original Tree Re-start from 10 clusters

150
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hel id')

0201 00000000 0202 000000000 (1) 0203 000000000 (2)

k-means 0000000000000 0000000O00O000O0O00OOO0OOOO

> library(mva)
> x <- rbind(matrix(rnorm(100, sd = 0.3), ncol = 2),
+

1, sd = 0.3), ncol = 2)) # 2D example

matrix(rnorm(100, mean

Vv

cl <- kmeans(x, 2, 20)
plot(x, col = cl$cluster) # 00000OoOooo
8)

v

\'4

points(cl$centers, col = 1:2, pch
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206 JOOOO

ROODODODODODOOOOOODOOOOODOOOOODODOOODODOOROOODOOODDOOD (D0 0D ODOOOO
O0000000000) MTHERBOOKD OO0 OO0 O 0O (000)00D0O0ODOOO

| 00 [EE

ts() 0000000000000 0Dasts()0ists() 000000000

ts.union() obooooooboobobooo

ts.intersection() | 000000000 OODOOOOODOOO

window() gboboooooboobobooooooo

diff() gobgoobogo

diffinv () gobooboobbooboon

filter() gobooboobbooboon

lag() goboobogoobod

acf() gboooooobobooooobooobobobooooon

aggregate() 0000000000000 00 nfrequency 000 M O000C00O0OO0OO0OOCOOOOO
oo

ar() 00000000000 ARODOUDOODODO0O0OOOO0OUOODOODOOO arburg()O
ar.yw()O ar.mle()0 ar.ols() 00 OO

arimal() 00000000000 ARIMA OODOOOODOOOOOOOOOOOOOOO
arima.sim() 0000

ARMAact() ARMAOODOOOOODOODOOODODOUOODOODOOOOOODDO ARMAtoMA() OOOO

Box.test() gboooooobooboboooboooobobo

ccf() gboooooobooboboooboooobobo

decompose() 0000000000000 00000000000000O0000O0OUOODO stl)
gooo

pact() 00000000 (partial autocorrelations) 00000 O

PP.test() gobooboobbooobooboobboboboobo

spectrum() 0000000000000 0D00OD0DO0O0OD0DOO0OO specar() O spec.pgram()d
spec.taper() 0000

cpgram() gbooooooboobobooog

lag.plot() oboooooooboobooo

monthplot() obooooooooobobooon

ts.plot() obooooooobooboboooooogo

go ts.plot()DDD[II]I]D[II:II]DDI:II]DD[II:IDDDDDDDDDDDDDDDDDD“DDDDDDDDD
gboboooobooboboboooooboobobooooon

> library(ts)

> data(UKLungDeaths)

> ts.plot(ldeaths, mdeaths, fdeaths,

+ gpars=list(xlab="year", ylab="deaths", lwd=c(1:3), col=c(2:4)))

*1 plot() 000000000000 OOODOOODODOOOODOOODODODOODOODOOOOOOOO
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207 OOOOOO
0000000000 aml 0000

timell DO00OO0OO0OO0OODOOOOOOOOOOODO
status OO000OOOCOOOOOCOOOOO0O
x0 00 MaintainedO OO OO0 0000 Nonmaintainedd OO O OO

000000*00000000000000000000000000 survfit() 000000000 O0OO0O000O0
goboobobooboobooobooboobboobg

> library(survival)
0000000000 splines JOOOOOO
> MYDATA <- aml
> MYDATA$time2 <- Surv(MYDATA$time, MYDATA$status) # time2 DO 0OODODOO + 000
> ( result <- survfit(time2 ~ x, data=MYDATA) ) # 000000000
Call: survfit(formula = time2 ~ x, data = MYDATA)
n events median 0.95LCL 0.95UCL

x=Maintained 11 7 31 18 Inf

x=Nonmaintained 12 11 23 8 Inf

> summary (result) # J00oOoOoOoOooooooooo
> plot(result, col=c(1,2)) # 0000000000000

> legend(100, 0.8, c("Maintained","Nonmaintained"), col=c(1:5), lwd=1, bg="gray")
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0.8
L

— Maintained
— Nonmaintaineg

deaths
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0.2

1000 1500 2000 2500 3000 3500 4000

500
I

0.0

1974 1975 1976 1977 1978 1979 1980 0 50 100 150

year

0204 ODOOO0OOO 0205 O00O00O0O0OOOOOO0

00000D0D000000000 survdiff) 00000000000 coxph() 000000*O00OO0O0O0O0OROOO
00000000 (00 0000000000000 00OD)MTHERBOOKD OO0 U0 0O O (DOO0)D0OO

*2 00 Swv(D00OOOO0,000000,0000000)000000000001000000200000000300000000000
Joooooooooooooooooo
* 0ooDo00000 0000000000 000N0O0 strata() DOD0O0OODO0O0O0ODDODODO0O000000000O0O0OOOOOOODOOO

> coxph(time2 ~ x + strata(DEMOG) , data=MYDATA) # 0000000000000 O0OOOOOOO
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208 DO00OOOODODOOOO

0000000000000 0O000000000 (0DO0D)0 (D0 D0 D0000O0)O0ODO00O0O0OO0OOoDOo
oobooooooocooooooooboooooooooooooon

> library(modreg)
> data(cars)

> with(cars, {

+ plot(speed, dist)

+ lines(ksmooth(speed, dist, "normal", bandwidth=2), col=2)
+ lines(ksmooth(speed, dist, "normal", bandwidth=5), col=3)
+ B

gooboobooboooobooboobboobooboon

> data(cars)

> attach(cars)

> plot(speed, dist, main = "data(cars) & smoothing splines")
> ( cars.spl <- smooth.spline(speed, dist) )

Call:

smooth.spline(x = speed, y = dist)

Smoothing Parameter spar= 0.7801305 lambda= 0.1112206 (11 iterations)
Equivalent Degrees of Freedom (Df): 2.635278

Penalized Criterion: 4337.638

GCV: 244.1044

> lines(cars.spl, col = "blue")

> lines(smooth.spline(speed, dist, df=10), lty=2, col = "red")

> legend(5,120,c(paste("default [C.V.] => df =",round(cars.spl$df,1)),

+ "s( * , df = 10)"), col = c("blue","red"), 1ty = 1:2, bg=’bisque’)

data(cars) & smoothing splines

o o
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